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�D4>F<K9E>4S D45BF4 № 1. !B;84A<9 GK95AB7B CDB9>F4 CB 
<A8<6<8G4?PAO@ ;484A<S@. 

�484K4 1 

�=8 =545;8. 

#5@540BL =0 2E>4 ?@>3@0<<K G8A;> >B 1 4> 7 2 :0G5AB25 0@3C<5=B0. 

�A;8 G8A;> @02=> 1, 2K2>48< =0 :>=A>;L 5#>=545;L=8:6, 2 36�B>@=8:6 8 B0: 
40;55. �A;8 6 8;8 7 3 5�KE>4=>96. 

�A?>;L7C5< :>=AB@C:F8N if-else-if. 

 

�484K4 2 

�0;L:C;OB>@ 

%>740BL <5B>4 ?@8=8<0NI89 =0 2E>4 425 ?5@5<5==K5 B8?0 int. 

 5B>4 2KG8A;O5B 8E AC<<C 8 2>72@0I05B 7=0G5=85. 

�K720BL MB>B <5B>4 87 <5B>40 main.  

%45;0BL <5B>4K 4;O 2KG8A;5=8O @07=8FK, ?@>872545=8O 8 45;5=8O. 



 

�484K4 3 

%>740BL ?@>3@0<<C 345 ?>;L7>20B5;N ?@54;0305BAO 225AB8 :>;8G5AB2> 
?@>F5=B>2 70@O40 10B0@58 =0 53> A<0@BD>=5. � A;CG05, 5A;8 >AB0;>AL <5=55 10 
?@>F5=B>2 70@O40, ?@>3@0<<0 ?@54C?@548B ?>;L7>20B5;O > =5>1E>48<>AB8 
70@O48BL A<0@BD>=. 

public static void main(String[] args) { 

    Scanner scanner = new Scanner(System.in); 

 

    System.out.print("%:>;L:> ?@>F5=B>2 70@O40 10B0@58 >AB0;>AL =0 20H5< 
A<0@BD>=5?"); 

    int a = scanner.nextInt(); 

 

    if (a < 10) { 



        System.out.println(""AB0;>AL <5=55 10 ?@>F5=B>2, ?>4:;NG8B5 20H 
A<0@BD>= : 70@O4=><C CAB@>9AB2C"); 

    } 

} 

�484K4 4 

#@>25@:0 G5B=>AB8 G8A;0 

%>740BL ?@>3@0<<C, :>B>@0O 1C45B A>>1I0BL, O2;O5BAO ;8 F5;>5 G8A;>, 
2254P==>5 ?>;L7>20B5;5<, GPB=K< 8;8 =5B. 

public class isEven { 

    public static void main(String args[]) { 

        int n = 9; 

        System.out.print("+8A;> " + n + " "); 

        if( n % 2 == 0) { 

            System.out.println("G5B=>5"); 

        } else { 

            System.out.println("=5G5B=>5"); 

        } 

    } 

} 

�484K4 5 

 5=LH55 ?> <>4C;N G8A;> 

%>740BL ?@>3@0<<C, :>B>@0O 1C45B 2K2>48BL =0 M:@0= <5=LH55 ?> <>4C;N 87 
B@PE 2254P==KE ?>;L7>20B5;5< 25I5AB25==KE G8A5;. 

�;O 2KG8A;5=8O <>4C;O 8A?>;L7C9B5 B5@=0@=CN CA;>2=CN >?5@0F8N. 

�;O 22>40 G8A5; 8A?>;L7C5< :;0AA Scanner. 

public class Swi { 

  

    public static void main(String...args) throws InterruptedException{ 

        Swi obj = new Swi(); 

        obj.start(); 



    } 

     

    public void start(){ 

     

        Scanner scan = new Scanner(System.in); 

        System.out.println("�2548B5 3 25I5AB25==KE G8A;0:"); 

        float a = scan.nextFloat(); 

        float b = scan.nextFloat(); 

        float c = scan.nextFloat(); 

         

        a = Math.abs(a); 

        b = Math.abs(b); 

        c = Math.abs(c); 

        System.out.println(a + " "+ b+ " "+c); 

  

        float tmp = Math.min(a,b); 

        float min = Math.min(tmp, c); 

        System.out.println("!08<5=LH55 25I5AB25==>5 G8A;> ?> <>4C;N:\n" + 

min);       

    }    

} 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 2. �9FB8O 59; C4D4@9FDB6 < E C4D4@9FD4@< 6 
GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO A>74020BL <5B>4K, :>B>@K5 ?@8=8<0NB =0 2E>4 ?0@0<5B@K. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�0: 8725AB=>, :;0AAK <>3CB A>45@60BL 40==K5 8 <5B>4K. � Java 40==K5 5I5 
=07K20NB ?5@5<5==K5 M:75<?;O@0 8;8 >1J5:BK.  5B>4K 5I5 =07K20NBAO 
?>4?@>3@0<<K 8;8 DC=:F88.  5B>4 3 MB> ?>4?@>3@0<<0 >1>7=0G5==0O 
8<5=5<. ?> MBC 8<5=8 <>6=> 2K7K20BL :>4 ?>4?@>3@0<<K (:>4 <5B>40). 
�K7>2 <5B>40 ?> 8<5=8 <>65B >ACI5AB2;OBLAO 87 4@C3>3> <5B>40 
<=>3>:@0B=> 2 7028A8<>AB8 >B 2K?>;=O5<>9 7040G8. #@8 :064>< 2K7>25 
8<5=8 <5B>40 2<5AB> MB>3> 8<5=8 2K?>;=O5BAO :>4 <5B>40. 

 

 5B>4K 2 :;0AA5 3 MB> 8<5=>20==K9 ?@>3@0<<=K9 :>4, :>B>@K9 >?@545;O5B 
=5:>B>@CN @01>BC =04 40==K<8 :;0AA0. �;0AA <>65B A>45@60BL ;N1>5 
:>;8G5AB2> <5B>4>2. �@><5 B>3>, :;0AA <>65B 1KBL @50;87>20= 157 <5B>4>2. 
+0I5 2A53> <5B>4K :;0AA0 >1@010BK20NB 40==K5 (?5@5<5==K5 M:75<?;O@>2) 
:;0AA0. 

#0@0<5B@K <5B>4>2. �>72@0B 7=0G5=89 87 <5B>4>2 

 5B>4K <>3CB ?>;CG0BL ?0@0<5B@K. #> :>;8G5AB2C ?>;CG05<KE ?0@0<5B@>2 
<5B>4K 45;OBAO =0: 

 

<5B>4K, ?>;CG0NI85 ?0@0<5B@K (<5B>4K A ?0@0<5B@0<8 8;8 
?0@0<5B@878@>20==K5 <5B>4K). � MB>< A;CG05, ?5@5G5=L ?0@0<5B@>2 
C:07K205BAO 2 A:>1:0E ?>A;5 8<5=8 <5B>40; 

<5B>4K 157 ?0@0<5B@>2. � MB>< A;CG05 ?>A;5 8<5=8 <5B>40 C:07K20NBAO 
?CABK5 :@C3;K5 A:>1:8 ( ). 

�>;55 ?>4@>1=> > ?0@0<5B@0E <5B>4>2 >?8AK205BAO 2 A;54CNI59 B5<5: 

 

#5@540G0 ?0@0<5B@>2 2 <5B>40E :;0AA0. #5@540G0 ?5@5<5==KE ?@8<8B82=KE 
B8?>2 8 >1J5:B>2 2 <5B>4 2 :0G5AB25 ?0@0<5B@0 



 5B>4 <>65B 2>72@0I0BL 7=0G5=85. #5@54 8<5=5< <5B>40 C:07K205BAO B8? 
7=0G5=8O, :>B>@>5 <5B>4 2>72@0I05B. % B>G:8 7@5=8O 2>72@0I5=8O 7=0G5=8O 
87 <5B>40, <5B>4K <>3CB 1KBL 42CE 284>2: 

 

<5B>4K, 2>72@0I0NI85 7=0G5=85. � MB>< A;CG05 <5B>4 4>;65= A>45@60BL 
>?5@0B>@ return A :>4>< 2>72@0B0; 

<5B>4K, :>B>@K5 =5 2>72@0I0NB 7=0G5=8O. #5@54 8<5=5< <5B>40, :>B>@K9 =5 
2>72@0I05B 7=0G5=85, C:07K205BAO :;NG52>5 A;>2> void. � MB>< A;CG05 <5B>4 
=5 >1O70B5;L=> 4>;65= A>45@60BL >?5@0B>@ return. �A;8 B0:>9 <5B>4 
A>45@68B >?5@0B>@ return, B> ?>A;5 MB>3> >?5@0B>@0 =8G53> C65 =5 
C:07K205BAO. 

"1I0O D>@<0 >1JO2;5=8O <5B>40 2>72@0I0NI53> 7=0G5=85 

 5B>4 <>65B 2>72@0I0BL 7=0G5=85. &0:>9 <5B>4 <>65B 8A?>;L7>20BLAO 2 
2K@065=8OE. &0:, 2 O7K:5 ?@>3@0<<8@>20=8O #0A:0;L, <5B>4K, :>B>@K5 
2>72@0I0NB 7=0G5=85 8<5NB =0720=85 DC=:F8O. 

 

"1I0O D>@<0 >1JO2;5=8O <5B>40, :>B>@K9 2>72@0I05B 7=0G5=85 8 ?>;CG05B 
?0@0<5B@K, 8<55B A;54CNI89 284: 

 

return_type MethodName(type1 param1, type2 param2, ..., typeN paramN) { 

    // B5;> <5B>40 - ?@>3@0<<=K9 :>4 <5B>40 

    // ... 

} 

345 

 

MethodName 3 8<O <5B>40; 

return_type 3 B8?, 2>72@0I05<K9 <5B>4><. -B> <>65B 1KBL ?@8<8B82=K9 
(?@>AB>9) B8?, 8;8 B8? (:;0AA) >1JO2;5==K9 4>?>;=8B5;L=> 2 ?@>3@0<<5; 

param1, param2, paramN 3 8<5=0 ?0@0<5B@>2, :>B>@K5 8<5NB A>>B25BAB25==> 
B8?K type1, type2, typeN. �>;8G5AB2> ?0@0<5B@>2 C <5B>4>2 <>65B 1KBL 
?@>872>;L=K<. �@><5 B>3>, ?0@0<5B@K <>3CB >BACBAB2>20BL. �A;8 <5B>4 =5 
A>45@68B ?0@0<5B@>2, B> 2<5AB> A?8A:0 ?0@0<5B@>2 C:07K20NBAO ?CABK5 
A:>1:8 ( ). 



�A;8 <5B>4 2>72@0I05B 7=0G5=85 8 =5 ?>;CG05B ?0@0<5B@>2, B> >1I0O D>@<0 
B0:>3> <5B>40 A;54CNI0O: 

 

return_type MethodName() { 

    // B5;> <5B>40 

    // ... 

} 

 5B>4K, :>B>@K5 =5 2>72@0I0NB 7=0G5=85. "1I0O D>@<0. �;NG52>5 A;>2> 
void 

�A;8 <5B>4 =5 2>72@0I05B 7=0G5=8O, B> ?5@54 53> >1JO2;5=85< C:07K205BAO 
:;NG52>5 A;>2> void. &0:>9 <5B>4 =5 <>65B 8A?>;L7>20BLAO 2 2K@065=8OE. 
&0:, 2 O7K:5 ?@>3@0<<8@>20=8O #0A:0;L, <5B>4K, :>B>@K5 =5 2>72@0I0NB 
7=0G5=85 8<5NB =0720=85 ?@>F54C@K. 

 

"1I0O D>@<0 >1JO2;5=8O <5B>40, :>B>@K9 =5 2>72@0I05B 7=0G5=8O => 
?>;CG05B ?0@0<5B@K 8<55B 284: 

 

void MethodName(type1 param1, type2 param2, ..., type param) { 

    // B5;> <5B>40 - ?@>3@0<<=K9 :>4 <5B>40 

    // ... 

} 

345 

 

void 3 70@575@28@>20==>5 :;NG52>5 A;>2> (A?5F8D8:0B>@), C:07K20NI89 =0 
B>, GB> <5B>4 =5 2>72@0I05B =8:0:>3> 7=0G5=8O; 

MethodName 3 8<O <5B>40; 

param1, param2, paramN 3 8<5=0 ?0@0<5B@>2, :>B>@K5 8<5NB A>>B25BAB25==> 
B8?K type1, type2, typeN. 

�A;8 <5B>4 =5 2>72@0I05B 7=0G5=8O 8 =5 ?>;CG05B ?0@0<5B@>2, B> >1I0O 
D>@<0 B0:>3> <5B>40 A;54CNI0O: 

 



void MethodName() { 

    // B5;> <5B>40 

    // ... 

} 

#@8<5@K <5B>4>2, :>B>@K5 =5 ?>;CG0NB ?0@0<5B@K 8 =5 2>72@0I0NB 
7=0G5=8O 

#@8<5@ 1. �5<>=AB@8@C5BAO @50;870F8O <5B>40 ShowInfo() 2 :;0AA5 
DemoMethods, :>B>@K9 2K2>48B 8=D>@<0F8N > Web-@5AC@A5.  

 

class DemoMethods { 

    // <5B>4, :>B>@K9 2K2>48B >1ICN 8=D>@<0F8N > 40==>< Web-@5AC@A5 

    void ShowInfo() { 

        System.out.println("Website Information:"); 

        System.out.println("Main page: https://www.bestprog.net"); 

        System.out.println("Programming: theory and practice"); 

        System.out.println("The website was created on December 08, 2015"); 

    } 

} 

�A?>;L7>20=85 <5B>40 ShowInfo() :;0AA0 DemoMethods 2 4@C3>< :>45 <>65B 
1KBL A;54CNI8<: 

 

// 8A?>;L7>20=85 <5B>40 ShowInfo() :;0AA0 DemoMethods 

DemoMethods dm = new DemoMethods();    // A>740BL M:75<?;O@ :;0AA0 

dm.ShowInfo(); // 2K720BL <5B>4 

� @57C;LB0B5 2K7>20 <5B>40 2 :>=A>;8 1C45B 2K2545= A;54CNI89 @57C;LB0B: 

 

Website Information: 

Main page: https://www.bestprog.net 

Programming: theory and practice 

The website was created on December 08, 2015 



#@8<5@K <5B>4>2, :>B>@K5 =5 ?>;CG0NB ?0@0<5B@>2 8 2>72@0I0NB 7=0G5=85 

�D<@9D 1. � :;0AA5 MathConstants >1JO2;O5BAO <5B>4 Pi(), 2>72@0I0NI89 
7=0G5=85 G8A;0 Ã.  5B>4 Pi() 2>72@0I05B 7=0G5=85 B8?0 double A ?><>ILN 
>?5@0B>@0 return. 

 

// :;0AA, :>B>@K9 A>45@68B <5B>4 157 ?0@0<5B@>2, :>B>@K9 2>72@0I05B 
7=0G5=85 

class MathConstants { 

    // <5B>4, :>B>@K9 2>72@0I05B G8A;> #8 

    double Pi() { 

        return 3.1415926535; 

    } 

} 

!865 45<>=AB@8@C5BAO 8A?>;L7>20=85 <5B>40 Pi() 4;O 2KG8A;5=8O ?;>I048 
:@C30: 

 

// 8A?>;L7>20=85 <5B>40 Pi() :;0AA0 MathConstants 

MathConstants mc = new MathConstants(); 

double area, radius; 

radius = 2; // 2KG8A;8BL ?;>I04L :@C30 @048CA0 2 

area = mc.Pi() * radius * radius; // area = 12.566370614 

#@8<5@ 2. "1JO2;O5BAO :;0AA Circle, A>45@60I89 2=CB@5==85 40==K5 (x, y, 

radius) 8 <5B>4K Area(), LenOrigin() :>B>@K5 2K?>;=ONB =04 MB8<8 40==K<8 
2KG8A;5=8O 

 

// :;0AA, @50;87CNI89 >:@C6=>ABL 

class Circle { 

    double x, y; // :>>@48=0BK F5=B@0 >:@C6=>AB8 

    double radius; // @048CA >:@C6=>AB8 

 



    // <5B>4, 2>72@0I0NI89 ?;>I04L :@C30 @048CA0 radius 

    double Area() { 

    final double pi = 3.141592f; // :>=AB0=B0 #8 

    return pi * radius * radius; 

    } 

 

    // <5B>4, 2>72@0I0NI89 @0AAB>O=85 >B F5=B@0 >:@C6=>AB8 (x,y) 4> =0G0;0 
:>>@48=0B (0; 0) 

    double LenOrigin() { 

        double len = Math.sqrt(x*x + y*y); 

        return len; 

    } 

} 

�A?>;L7>20=85 :;0AA0 Circle <>65B 1KBL A;54CNI8< 

 

// 8A?>;L7>20=85 <5B>4>2 :;0AA0 Circle 

Circle cr = new Circle(); 

double area, length; 

 

// 70?>;=8BL M:75<?;O@ :;0AA0 7=0G5=8O<8 

cr.x = 2.5; 

cr.y = 4.2; 

cr.radius = 3; 

 

// 2K7>2 <5B>4>2 

area = cr.Area(); // ?;>I04L >:@C6=>AB8, area = 28.274328231811523 

length = cr.LenOrigin(); // length = 4.887739763939975 

#@8<5@K <5B>4>2, :>B>@K5 ?>;CG0NB ?0@0<5B@K 8 =5 2>72@0I0NB 7=0G5=8O 



�D<@9D 1. � ?@8<5@5 >1JO2;O5BAO :;0AA Month, @50;87CNI89 <5AOF 3>40. � 
:;0AA5 @50;87>20= <5B>4 SetMonth(), ?>;CG0NI89 2E>4=K< ?0@0<5B@>< 
=><5@ <5AOF0.  5B>4 SetMonth() =5 2>72@0I05B 7=0G5=8O. � 7028A8<>AB8 >B 
=><5@0 <5AOF0 <5B>4 CAB0=02;8205B A;54CNI85 2=CB@5==85 ?5@5<5==K5: 

 

=><5@ <5AOF0 month; 

:>;8G5AB2> 4=59 2 <5AOF5 days; 

=0720=85 <5AOF0 name. 

"1JO2;5=85 :;0AA0 Month A;54CNI55: 

 

// :;0AA, @50;87CNI89 <5AOF 3>40 

class Month { 

    int month; // =><5@ <5AOF0 2 3>4C 1..12 

    int days; // <0:A8<0;L=>5 :>;8G5AB2> 4=59 2 <5AOF5 

    String name; // =0720=85 <5AOF0 

 

    // <5B>4, :>B>@K9 CAB0=02;8205B =>2K9 <5AOF ?> 53> =><5@C 

    void SetMonth(int _month) { 

        // ?@>25@:0, :>@@5:B=K ;8 40==K5 

        if ((_month<1)||(_month>12)) 

            return; 

 

        // =><5@ <5AOF0 

        month = _month; 

 

        // :>;8G5AB2> 4=59 2 <5AOF5 

        switch (_month) { 

            case 2: 

                days = 29; 

            break; 



            case 4: case 6: case 9: case 11: 

                days = 30; 

            break; 

        default: 

            days = 31; 

        } 

 

        // =0720=85 <5AOF0 

        switch (_month) { 

            case 1: name = "Jan"; break; 

            case 2: name = "Feb"; break; 

            case 3: name = "Mar"; break; 

            case 4: name = "Apr"; break; 

            case 5: name = "May"; break; 

            case 6: name = "Jun"; break; 

            case 7: name = "Jul"; break; 

            case 8: name = "Aug"; break; 

            case 9: name = "Sep"; break; 

            case 10: name = "Oct"; break; 

            case 11: name = "Nov"; break; 

            case 12: name = "Dec"; break; 

            default: name = ""; 

        } 

    } 

} 

�5<>=AB@0F8O 8A?>;L7>20=8O <5B>40 A;54CNI0O: 

 

// 45<>=AB@0F8O <5B>40, :>B>@K9 ?>;CG05B ?0@0<5B@K 8 =5 2>72@0I05B 
7=0G5=8O 



Month mn = new Month(); // A>740BL M:75<?;O@ :;0AA0 

mn.SetMonth(5); // CAB0=>28BL 40==K5 4;O <5AOF0 " 09" 

 

// ?@>25@:0 

int days; 

String name; 

days = mn.days; // days = 31 

name = mn.name; // name = "May" 

�D<@9D 2. � :;0AA5 Circle >1JO2;O5BAO ?5@53@C65==K9 <5B>4 SetData(), 

:>B>@K9 CAB0=02;8205B 7=0G5=85 2=CB@5==8E ?5@5<5==KE M:75<?;O@0.  5B>4 
=5 2>72@0I05B 7=0G5=8O 3 ?5@54 8<5=5< <5B>40 C:07K205BAO :;NG52>5 A;>2> 
void.  5B>4 SetData() 8<55B 425 @50;870F88: 

 

@50;870F8O SetData(double, double, double).  5B>4 ?>;CG05B 3 ?0@0<5B@0 B8?0 
double :>B>@K5 CAB0=02;820NB 7=0G5=8O A>>B25BAB2CNI8E 2=CB@5==8E 
?5@5<5==KE :;0AA0; 

@50;870F8O SetData(Circle). � MB>< A;CG05 <5B>4 ?>;CG05B M:75<?;O@ B0:>3> 
65 :;0AA0 2 :0G5AB25 8AB>G=8:0 40==KE. 

// :;0AA, @50;87CNI89 >:@C6=>ABL 

class Circle { 

    double x, y; // :>>@48=0BK F5=B@0 >:@C6=>AB8 

    double radius; // @048CA >:@C6=>AB8 

 

    // <5B>4, :>B>@K9 ?>;CG05B 3 ?0@0<5B@0 B8?0 double 

    // <5B>4 =5 2>72@0I05B 7=0G5=8O (void) 

    void SetData(double x, double y, double radius) { 

        this.x = x; 

        this.y = y; 

        this.radius = radius; 

    } 



 

    // <5B>4, :>B>@K9 ?>;CG05B M:75<?;O@ B8?0 Circle 

    // <5B>4 =5 2>72@0I05B 7=0G5=8O 

    void SetData(Circle cr) { 

        x = cr.x; 

        y = cr.y; 

        radius = cr.radius; 

    } 

} 

�484K4 1 

%>740BL ?>;L7>20B5;LA:CN DC=:F8N, :>B>@0O 25@=PB =0< 7=0G5=85 
?5@5<5==>9, 0 B0:65 ?@8A2>8B MB> 7=0G5=85 ?5@5<5==>9 2 >A=>2=>< :>45. 

public class Main { 

 

    public static int function1(){   

        int a = 5;   

        return a;   

    } 

 

    public static void function2(){          System.out.println("�0?8AK209B5AL =0 
:C@AK Java!");   

    } 

 

    public static void main(String[] args) {  //>A=>2=>9 1;>: ?@>3@0<<K 

 

        int b = function1();  //?@8A208205< ?5@5<5==>9 7=0G5=85, :>B>@>5 
2>72@0B8B ?5@20O DC=:F8O 

        System.out.println(b);  //2K2>48< =0 M:@0= 7=0G5=85 =0H59 ?5@5<5==>9 

 

        function2();  //2K7K205< ?> 8<5=8 2B>@CN DC=:F8N 



    } 

} 

�484K4 2 

%>740BL DC=:F8N A ?0@0<5B@0<8, 0 ?>B>< 2K720BL 5P 2 >A=>2=>< :>45 A 
?><>ILN 0@3C<5=B>2. �>725AB8 ?5@5<5==CN 2 >?@545;P==CN AB5?5=L, 0 
?>B>< 25@=CBL 7=0G5=85 2 ?5@5<5==CN. 

public class Main { 

 

    public static int function3(int var_1, int var_2){  //DC=:F8O A ?0@0<5B@0<8 

        int a = 1;  //A>740P< ?5@5<5==CN, 2 :>B>@>9 1C45B =0E>48BLAO @0AGPB=>5 
7=0G5=85 

        for(int i = 0; i < var_2; i++){  //8A?>;L7C5< F8:; 4;O 2>72545=8O 2 AB5?5=L 

            a = a * var_1;  //?5@5<=>605< =>2>5 7=0G5=85 A> AB0@K<, 2>72>4O B5< 
A0<K< 2 AB5?5=L 

        } 

        return a;  //2>72@0I05< ?>AG8B0==>5 7=0G5=85 

    } 

 

    public static void main(String[] args) {  //>A=>2=>9 1;>: ?@>3@0<<K 

        int result = function3(5,3);  //2K7K205< DC=:F8N, ?5@5402 2 0@3C<5=B0 
(2>72>48< 5 2 B@5BLN AB5?5=L) 

        System.out.println(result);  //2K2>48< 7=0G5=85 ?5@5<5==>9 

    } 

} 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 3. �C9D4FBD SWITCH, J<>? FOR, J<>? WHILE 
6 GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO A>74020BL ?@>3@0<<K A 8A?>;L7>20=85< >?5@0B>@0 SWITCH, 
F8:;0 FOR, F8:;0 WHILE. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�C9D4FBD SWITCH 

"?5@0B>@ switch 2 Java- MB> CA;>2=K9 >?5@0B>@, :>B>@K9 405B 2>7<>6=>ABL 
A@02=820BL ?5@5<5==CN A> A?8A:>< 7=0G5=89.  

 

$0AA<>B@8< >1ICN D>@<C =0?8A0=8O >?5@0B>@0 switch: 

 

switch(2K@065=85) { 

    case 7=0G5=851: 

        // �;>: :>40 1 

        break; 

    case 7=0G5=852: 

        // �;>: :>40 2 

        break; 

    ... 

    case 7=0G5=85N: 

        // �;>: :>40 N 

        break; 

    default : 

        // �;>: :>40 4;O default 

} 

� :@C3;KE A:>1:0E <K C:07K205< 2K@065=85, 7=0G5=85 :>B>@>3> 1C45B 
A@02=820BLAO A> A?8A:>< 7=0G5=89, ?5@5G8A;5==KE ?>A;5 :;NG52>3> A;>20 



case. �A;8 2K@065=85 A>2?0405B A> 7=0G5=85<1, B> 2K?>;=O5BAO 1;>: :>40, 
C:070==K9 ?>A;5 7=0G5=851. �A;8 2K@065=85 =5 A>2?0405B =8 A >4=8< 87 
7=0G5=89, B> 2K?>;=O5BAO 1;>: :>40 4;O default. -B>B 1;>: :>40 O2;O5BAO 
=5>1O70B5;L=K< - <>6=> =0?8A0BL >?5@0B>@ switch 8 157 =53>. 

 

�K@065=85 2 switch 4>;6=> 8<5BL B8? char, byte, short, int, enum (=0G8=0O A 
Java 6) 8;8 String(=0G8=0O A Java 7). �A?>;L7>20=85 ;N1>3> 4@C3>3> B8?0, 
=0?@8<5@ float, ?@82545B : >H81:5 :><?8;OF88. 

 

"?5@0B>@ switch <>65B B>;L:> ?@>25@OBL =0 @025=AB2>. &0:85 >?5@0B>@K :0: 
>=, <= =54>?CAB8<K. 

 

$0AA<>B@8< ?5@2K9 ?@8<5@ - 70405BAO G8A;> >B 1 4> 3. �A;8 1 - 2:;NG05BAO 
75;5=K9 F25B A25B>D>@0, 2 - 65;BK9 8 3 - :@0A=K9. �A;8 ;N1>5 4@C3>5 G8A;>, 
B> 2K?>;=8BAO 1;>: :>40 default: 

 

public class TrafficLight { 

    public static void main(String[] args) { 

        int x = 3; 

        switch (x) { 

            case 1: 

                System.out.println("�5;5=K9"); 

                break; 

            case 2: 

                System.out.println("�5;BK9"); 

                break; 

            case 3: 

                System.out.println("�@0A=K9"); 

                break; 

            default: 

                System.out.println("!5?@028;L=> 22545=> G8A;>"); 



                break; 

        } 

    } 

} 

�;O =5A:>;L:8E 7=0G5=89 case <>6=> C:07K20BL >48= 1;>:, :0: ?>:070=> 2 
A;54CNI5< ?@8<5@5: 

 

public class SwitchDemo1 { 

    public static void main(String[] args) { 

        int month = 4; 

        String season; 

        switch (month) { 

            case 12: 

            case 1: 

            case 2: 

                season = "Winter"; 

                break; 

            case 3: 

            case 4: 

            case 5: 

                season = "Spring"; 

                break; 

            case 6: 

            case 7: 

            case 8: 

                season = "Summer"; 

                break; 

            case 9: 

            case 10: 



            case 11: 

                season = "Autumn"; 

                break; 

            default: 

                season = "Not a Month"; 

        } 

        System.out.println("April is in the " + season + "."); 

    } 

} 

�A;8 2K@065=85 2 switch 8<55B B8? <5=LH89 G5< int (byte, short 8;8 char), 
case :>=AB0=B0 4>;6=0 A>>B25BAB2>20BL MB><C B8?C. !0?@8<5@ A;54CNI89 
?@8<5@ =5 >B:><?8;8@C5BAO: 

 

byte number = 2; 

switch (number) { 

    case 13: 

    case 129://compiler error 

} 

&0:65 =5;L7O 8A?>;L7>20BL =5A:>;L:> case :>=AB0=B A >4=8< 8 B5< 65 
7=0G5=85<. %;54CNI89 1;>: :>40 =5 >B:><?8;8@C5BAO: 

 

int number = 90; 

switch (number) { 

    case 50: 

        System.out.println("50"); 

    case 50: 

        System.out.println("50"); //compile error 

    case 140: 

        System.out.println("140"); 

    default: 



        System.out.println("default"); 

} 

�K@065=85 2 switch <>65B A>45@60BL Character, Byte, Short 8 Integer 

7=0G5=8O: 

 

switch (new Integer(9)) { 

    case 9: 

        System.out.println("9"); 

} 

Case :>=AB0=BK ?@>A<0B@820NBAO A25@EC 2=87, 8 ?5@20O A>2?02H0O case 
:>=AB0=B0 2 switch O2;O5BAO B>G:>9 2E>40. %>>B25BAB2CNI89 59 1;>: 8 2A5 
?>A;54CNI85 1;>:8 1C4CB 2K?>;=OBLAO. !0?@8<5@: 

 

public class SwitchDemo2 { 

    public static void main(String[] args) { 

        String str = "potato"; 

        switch (str) { 

            case "tomato": 

                System.out.print("tomato "); 

            case "potato": 

                System.out.print("potato "); 

            case "cucumber": 

                System.out.print("cucumber "); 

            default: 

                System.out.println("any"); 

        } 

    } 

} 

 $57C;LB0B 2K?>;=5=8O ?@>3@0<<K: 

 



potato cucumber any 

�;O B>3> GB>1K 2K9B8 87 switch 2K@065=8O, 8A?>;L7C9B5 :;NG52>5 A;>2> 
break. !0?@8<5@, 87<5=8< ?@54K4CI89 ?@8<5@, GB>1K 2K2>48;>AL B>;L:> 
>4=> A;>2>: 

 

Vegetable p = Vegetable.potato; 

switch (p) { 

    case tomato: 

        System.out.print("tomato "); 

        break; 

    case potato: 

        System.out.print("potato "); 

        break; 

    case cucumber: 

        System.out.print("cucumber "); 

        break; 

    default: 

        System.out.println("any"); 

} 

$57C;LB0B 1C45B: 

 

potato 

%5:F8O default 2 switch >1@010BK205B 2A5 7=0G5=8O, :>B>@K5 =5 C:070=K O2=> 
2 >4=>9 87 case A5:F89. %5:F8O default <>65B @07<5I0BLAO 2 ;N1>< <5AB5, 
=5>1O70B5;L=> 2 :>=F5: 

 

public class SwitchDemo3 { 

    public static void main(String[] args) { 

        int z = 8; 

        switch (z) { 



            case 1: 

                System.out.println("Fall to one"); 

            default: 

                System.out.println("default"); 

            case 3: 

                System.out.println("Fall to three"); 

            case 4: 

                System.out.println("Fall to four"); 

        } 

    } 

} 

!0G8=0O A Java 7 <>6=> 8A?>;L7>20BL >1J5:BK B8?0 String 2 switch. 
!0?@8<5@: 

 

String exam = null; 

switch (exam) { 

    case "OCPJP 7": 

        System.out.print(exam + ": 1Z0-804"); 

        break; 

    case "OCPJP 8": 

        System.out.print(exam + ": 1Z0-809"); 

        break; 

    default: 

        System.out.print(exam + ": ----"); 

        break; 

} 

&<>? for 

*8:; for 8A?>;L7C5BAO 2 A;CG0OE, :>340 =5>1E>48<> =5A:>;L:> @07 2K?>;=8BL 
1;>: :>40 8 B>G=> 8725AB=> :>;8G5AB2> MB8E ?>2B>@5=89. 



 

"1I0O D>@<0 F8:;0 for: 

 

for(8=8F80;870F8O; CA;>285; 8B5@0F8O){/*>?5@0B>@K*/ } 

#@8<5@ F8:;0 for: 

 

public class ForTick { 

    public static void main(String[] args) { 

        for (int i = 0; i < 10; i++) { 

            System.out.println("&8: " + i); 

        } 

    } 

} 

� ?5@2>< ?0@0<5B@5 >1KG=> 2K18@0NB :0:CN-B> ?5@5<5==CN, A ?><>ILN 
:>B>@>9 1C45B ?>4AG8BK20BLAO :>;8G5AB2> ?>2B>@5=89 F8:;0. �P =07K20NB 
AG5BG8:><. -BC ?5@5<5==CN >1KG=> =07K20NB i. %GPBG8:C 7040NB =5:>B>@>5 
=0G0;L=>5 7=0G5=85. �;O F8:;0 for =5 @5:><5=4C5BAO 2 F8:;5 87<5=OBL 8=45:A 
F8:;0. 

 

�> 2B>@>< ?0@0<5B@5 C:07K20NB =5:>B>@>5 >3@0=8G5=85 =0 AGPBG8: 
(C:07K20NB, 4> :0:>3> 7=0G5=8O >= 1C45B 87<5=OBLAO). 

 

� B@5BL5< ?0@0<5B@5 C:07K20NB 2K@065=85, 87<5=ONI55 AGPBG8: ?>A;5 
:064>3> H030 F8:;0. "1KG=> MB> 8=:@5<5=B 8;8 45:@5<5=B, => <>6=> 
8A?>;L7>20BL ;N1>5 2K@065=85, 345 AGPBG8:C 1C45B ?@8A20820BLAO =5:>B>@>5 
=>2>5 7=0G5=85. 

 

#5@54 :064K< H03>< F8:;0 (=> ?>A;5 8=8F80;870F88) ?@>25@O5BAO CA;>285 
?>2B>@5=8O, 5A;8 >=> 8AB8==>, B> 2 >G5@54=>9 @07 2K?>;=O5BAO B5;> F8:;0. 
#@8 MB><, B5;> F8:;0 <>65B =5 2K?>;=8BLAO =8 @07C, 5A;8 CA;>285 1C45B 
;>6=K< 2 <><5=B ?5@2>9 65 ?@>25@:8. 

 



� ?5@2>< ?0@0<5B@5 <>6=> G5@57 70?OBCN 8=8F80;878@>20BL =5A:>;L:> 
?5@5<5==KE, :0: MB> ?>:070=> 2 A;54CNI5< ?@8<5@5: 

 

public class Comma { 

    public static void main(String[] args) { 

        for (int i = 1, j = 4; i < j; i++, j--) { 

            System.out.println("i = " + i); 

            System.out.println("j = " + j); 

        } 

    } 

} 

&<>? while 

*8:; while - MB> F8:; B8?0 "?>:0". 

 

"= 8A?>;L7C5BAO 2 A;CG05, :>340 >48= D@03<5=B :>40 4>;65= 2K?>;=OBLAO, 
?>:0 2K?>;=O5BAO :0:>5-B> CA;>285. 

 

$0AA<>B@8< A8=B0:A8A =0 A;54CNI5< ?@8<5@5. 

 

#>A;5 :;NG52>3> A;>20 while 2 :@C3;KE A:>1>G:0E C:07K205BAO 2K@065=85, 
:>B>@>5 4>;6=> 2>72@0I0BL 7=0G5=85 B8?0 boolean - MB> CA;>285 F8:;0. �0;55 
2 D83C@=KE A:>1>G:0E C:07K205< B5;> F8:;0 - :>4, :>B>@K9 1C45B 
?>2B>@OBLAO, ?>:0 CA;>285 F8:;0 2>72@0I05B 7=0G5=85 true. #>:0 
2K?>;=O5BAO CA;>285 n>0, 1C45B 2K?>;=OBLAO System.out.println.  K 2848<, 
GB> ?5@5<5==0O n <5=O5BAO 2=CB@8 B5;0 F8:;0, GB> ?>72>;O5B 2 :>=F5 :>=F>2 
2K9B8 87 =53>.  

 

public class While1 { 

    public static void main(String[] args) { 

        int n = 10; 

        while (n > 0) { 



            System.out.println("&8: " + n--); 

        } 

    } 

} 

'A;>285 F8:;0 while ?@>25@O5BAO ?5@54 2K?>;=5=85< B5;0 F8:;0. � MB>< 
3;02=>5 >B;8G85 F8:;0 while >B do-while. 

 

%;54CNI89 ?@8<5@ ?>:07K205B 20@80=B 8A?>;L7>20=8O F8:;0 while 157 B5;0. 
�0=K 420 G8A;0 100 8 200 8 =5>1E>48<> =09B8 A5@548=C <564C =8<8. 
�=0G5=85 i C25;8G8205BAO =0 1 :064CN 8B5@0F8N F8:;0, 0 j C<5=LH05BAO 4> 
B5E ?>@, ?>:0 >=8 =5 AB0=CB @02=K. �7<5=5=85 i 8 j ?@>8AE>48B 2 CA;>288 
F8:;0, ?>MB><C B5;> F8:;0 =5 =C6=>. �<5AB> B5;0 ?@>AB> AB028BAO B>G:0 A 
70?OB>9. 

 

public class NoBody { 

    public static void main(String[] args) { 

        int i = 100; 

        int j = 200;        // =09B8 A5@548=C <564C i 8 j 

        while (++i < --j) ; // F8:; 157 B5;0 

        System.out.println("%5@548=0: " + i); 

    } 

} 

*8:; while <>65B ?@8<5=OBLAO 4;O >@30=870F88 15A:>=5G=KE F8:;>2 2 2845 
while(true): 

public class EndlessLoop { 

    public static void main(String[] args) { 

        int i = 0; 

        while (true) { 

            System.out.println(i++); 

        } 

    } 



} 

 

�484K4 1 

!0?8H8B5 ?@>3@0<<C, :>B>@0O 2K2>48B =0 M:@0= G8A;0 >B 1 4> 10. 

 

�484K4 2 

!0?8H8B5 ?@>3@0<<C, :>B>@0O =0E>48B AC<<C 2A5E G8A5; >B 1 4> 100. 

 

�484K4 3 

!0948B5 D0:B>@80; 7040==>3> G8A;0. 

 

�484K4 4 



!0?8H8B5 ?@>25@:C, O2;O5BAO ;8 7040==>5 G8A;> ?@>ABK<. 

 

�484K4 5 

!0?8H8B5 ?@>3@0<<C, :>B>@0O 2K2>48B =0 :>=A>;L ?@>ABK5 G8A;0 2 
?@><56CB:5 >B [2, 100]. 

�A?>;L7C9B5 4;O @5H5=8O MB>9 7040G8 >?5@0B>@ "%" (>AB0B>: >B 45;5=8O) 8 
F8:;K. 

 

 

�484K4 6 

$0A?5G0B0BL 5 A8<2>;>2 2 >4=C AB@>:C =0G8=0O A 5h6. 

�A?>;L7CO F8:; for. 



 

�484K4 7 

$0A?5G0B0BL 10 AB@>:: 

5Task16. 

5Task26. 

& 

5Task106. 

�A?>;L7CO F8:; while. 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 4. �5NS6?9A<9 < B5D45BF>4 B8AB@9DAB7B 
@4EE<64. 

 

1 &9?P ;4ASF<S 

#>4@>1=> 87CG8BL <0AA82K >4=><5@=K5.  

 

2 "9BD9F<K9E><= @4F9D<4? 

"4=><5@=K5 <0AA82K 2 Java ?@54AB02;ONB A>1>9 A?8A>: >4=>B8?=KE 
?5@5<5==KE. +B>1K A>740BL <0AA82, =C6=> A=0G0;0 >1JO28BL ?5@5<5==CN 
<0AA820 B@51C5<>3> B8?0. 

 

"1I0O D>@<0 >1JO2;5=8O >4=><5@=>3> <0AA820 2K3;O48B A;54CNI8< 
>1@07><: 

 

B8?[] 8<O#5@5<5==>9; 

345 ?0@0<5B@ B8? >1>7=0G05B B8? M;5<5=B0 <0AA820, =07K205<K9 B0:65 
107>2K< B8?><. 

 

�204@0B=K5 A:>1:8 <>6=> AB028BL ?5@54 ?5@5<5==>9 8;8 ?>A;5 =55. !> 
1>;55 ?@028;L=K< 20@80=B>< AG8B05BAO C:070=85 A:>1>: ?5@54 ?5@5<5==>9 - 
B0:8< >1@07>< B8? 8 A:>1:8 =0E>4OBAO 2 >4=>< <5AB5, GB> ?>72>;O5B A 
?5@2>3> 273;O40 ?>=OBL, GB> ?5@54 20<8 <0AA82 B0:>3>-B> B8?0: 

 

int monthDays[]; 

double[] monthSalaries; 

2. �=8F80;870F8O <0AA820 A ?><>ILN :;NG52>3> A;>20 new 

�>340 <0AA82 >1JO2;5=, ?0<OBL ?>4 =53> 5I5 =5 2K45;5=0. �;O 2K45;5=8O 
?0<OB8 ?>4 <0AA82, 8A?>;L7C5BAO :;NG52>5 A;>2> new, ?>A;5 :>B>@>3> >?OBL 
C:07K205BAO B8? <0AA820 8 2 :204@0B=KE A:>1:0E 53> @07<5@: 

 

8<O#5@5<5==>9 = new B8?[@07<5@]; 

 0AA82 <>65B 1KBL >1JO2;5= 8 8=8F80;878@>20= >4=>9 AB@>:>9: 



 

int[] values = new int[45]; 

$0AA<>B@8< ?@8<5@ >1JO2;5=8O <0AA820 B8?0 int @07<5@>< 12 =0 40==>< 
?@8<5@5. #>A;5 2K?>;=5=8O AB@>:8 int[] monthDays = new int[12] <0AA82 87 
12 M;5<5=B>2 A>740=. �064><C M;5<5=BC ?@8A208205BAO 7=0G5=85 ?> 
C<>;G0=8N 4;O 7040==>3> B8?0. �;O B8?0 int MB> =>;L. �;O >1@0I5=8O : 
>B45;L=><C M;5<5=BC <0AA820 ?>A;5 8<5=8 <0AA820 2 :204@0B=KE A:>1>G:0E 
70405< 8=45:A M;5<5=B0. &0:8< >1@07>< <K <>65< >1@0B8BLAO : M;5<5=BC 
<0AA820 4;O 87<5=5=8O 8;8 ?>;CG5=8O 53> 7=0G5=8O: 

 

public class Array1 { 

    public static void main(String[] args) { 

        int[] monthDays = new int[12]; 

        monthDays[0] = 31; 

        monthDays[1] = 28; 

        monthDays[2] = 31; 

        monthDays[3] = 30; 

        monthDays[4] = 31; 

        monthDays[5] = 30; 

        monthDays[6] = 31; 

        monthDays[7] = 31; 

        monthDays[8] = 30; 

        monthDays[9] = 31; 

        monthDays[10] = 30; 

        monthDays[11] = 31; 

        System.out.println("B 0?@5;5 " + monthDays[3] + " 4=59."); 

    } 

} 

3. �=8F80;870F8O <0AA820 A ?><>ILN 1;>:0 4;O 8=8F80;870F88 

�A;8 70@0=55 8725AB=K 7=0G5=8O 4;O :064>3> M;5<5=B0 <0AA820, <>6=> 
8A?>;L7>20BL 1;>: 4;O 8=8F80;870F88 <0AA820. �<5AB> new int[12], 2 



D83C@=KE A:>1:0E G5@57 70?OBCN ?5@5G8A;ONBAO 7=0G5=8O M;5<5=B>2 
<0AA820. $07<5@ <0AA820 2K2>48BAO :><?8;OB>@>< 87 :>;8G5AB20 C:070==KE 
M;5<5=B>2: 

 

public class Array2 { 

    public static void main(String[] args) { 

        int[] monthDays = {31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31}; 

        System.out.println("B 0?@5;5 " + monthDays[3] + " 4=59."); 

    } 

} 

4. �57K<O==K9 <0AA82 

%CI5AB2C5B 5I5 8 B@5BLO D>@<0 >1JO2;5=8O <0AA820 - 157K<O==K9 <0AA82. 
"= <>65B 8A?>;L7>20BLAO 2 42CE A;CG0OE. 

 

#5@2K9 - 2K >1JO28;8 8 8=8F80;878@>20;8 <0AA82 testScores @07<5@0 G5BK@5, 
=> ?>B>< ?> :0:>9-B> ?@8G8=5 >= 4>;65= 1KBL 87<5=5= - >= 4>;65= 

A>45@60BL B@8 M;5<5=B0. �A?>;L7>20BL ?>2B>@=> D>@<C 4;O 8=8F80;870F88 
<0AA820 =5;L7O - 1C45B >H81:0 :><?8;OF88: 

 

int[] testScores = {1, 2, 3, 4}; 

... 

testScores = {4, 7, 2}; //>H81:0 :><?8;OF88 

!> <>6=> 8A?>;L7>20BL 157K<O==K9 <0AA82, :>B>@K9 A>740AB =>2K9 <0AA82 
2 ?0<OB8. (>@<0 =0?8A0=8O 157K<O==>3> <0AA820 - MB> <8:A ?5@2KE 42CE: 

 

testScores = new int[]{4, 7, 2}; 

�B>@>9 A;CG09 8A?>;L7>20=8O 157K<O==>3> <0AA820 - MB> ?5@540G0 <0AA820 2 
<5B>4. � A;54CNI5< ?@8<5@5 <5B>4 print ?@8=8<05B =0 2E>4 <0AA82 B8?0 int. 
#@8 2K7>25 <5B>40 2 :0G5AB25 0@3C<5=B0 <>6=> ?5@540BL 157K<O==K9 
<0AA82. 

 

public class Array3 { 



    public static void main(String[] args) { 

        int[] testScores = {1, 2, 3, 4}; 

        for (int element : testScores) { 

            System.out.print(element + " "); 

        } 

        System.out.println(); 

        testScores = new int[]{4, 7, 2}; 

        for (int element : testScores) { 

            System.out.print(element + " "); 

        } 

        System.out.println(); 

 

        print(new int[]{4, 6, 2, 3}); 

    } 

 

    public static void print(int[] array) { 

        for (int element : array) { 

            System.out.print(element + " "); 

        } 

    } 

} 

�484K4 1 

%>740BL <0AA82 B8?0 String A @07<5@>< 7. 

�0?8A0BL 2 =53> 7=0G5=8O 4=59 =545;8. 

�K25AB8 =0 :>=A>;L 7=0G5=85 ?>A;54=53> M;5<5=B0. 



 

�484K4 2 

%>740BL <0AA82 B8?0 double A @07<5@>< 4. 

�0?8A0BL 2 =53> ;N1K5 7=0G5=8O A ?><>ILN 1;>:0 4;O 8=8F80;870F88. 

�K25AB8 =0 :>=A>;L 7=0G5=85 ?5@2>3> M;5<5=B0. 

 

�484K4 3 

"BA>@B8@C9B5 <0AA82 ?> 7=0G5=8N 2 ?>@O4:5 2>7@0AB0=8O 8 C1K20=8O. 



 

�484K4 4 

!0?8H8B5 ?@>3@0<<C, :>B>@0O 8=25@B8@C5B <0AA82 (<5=O5B ?>@O4>: 
M;5<5=B>2 =0 ?@>B82>?>;>6=K9). 

 

�484K4 5 



�0?>;=8B5 <0AA82 A;CG09=K< G8A;0<8 8 2K2548B5 <0:A8<0;L=>5, 
<8=8<0;L=>5 8 A@54=55 7=0G5=85. 

�;O 35=5@0F88 A;CG09=>3> G8A;0 8A?>;L7C9B5 <5B>4 Math.random(), :>B>@K9 
2>72@0I05B 7=0G5=85 2 ?@><56CB:5 [0, 1]. 

 

$50;87C9B5 0;3>@8B< A>@B8@>2:8 ?C7K@L:>< 4;O A>@B8@>2:8 <0AA820 



 

�484K4 6 

�0= <0AA82 F5;KE G8A5; 8 5IP >4=> F5;>5 G8A;>. '40;8B5 2A5 2E>645=8O 
MB>3> G8A;0 87 <0AA820 (?@>?CA:>2 1KBL =5 4>;6=>). 

 



�D4>F<K9E>4S D45BF4 № 5. �5NS6?9A<9 < B5D45BF>4 86G@9DAB7B @4EE<64. 

 

1 &9?P ;4ASF<S 

#>4@>1=> 87CG8BL <0AA82K 42C<5@=K5. 

 

2 "9BD9F<K9E><= @4F9D<4? 

 =>3><5@=K5 <0AA82K ?@54AB02;ONB A>1>9 <0AA82K <0AA82>2. 

 

#@8 >1JO2;5=88 ?5@5<5==>9 <=>3><5@=>3> <0AA820 4;O C:070=8O :064>3> 
4>?>;=8B5;L=>3> 8=45:A0 8A?>;L7C5BAO >B45;L=K9 @O4 :204@0B=KE A:>1>:. 
!0?@8<5@: 

 

int[][] twoD = new int[5][4]; 

%;54CNI89 @8AC=>: ?>:07K205B :0: <>6=> 287C0;L=> ?@54AB028BL 
42C<5@=K9 <0AA82 5 =0 4. �52K9 8=45:A >?@545;O5B AB@>:C, 0 ?@02K9 
AB>;15F: 

 

�>=F5?BC0;L=>5 ?@54AB02;5=85 <0AA820 @07<5@=>ABLN 5 =0 4 D>B> 

 

%;54CNI89 ?@8<5@ 45<>=AB@8@C5B :0:8< >1@07>< <>6=> CAB0=>28BL 
7=0G5=8O 2 42CE<5@=K9 <0AA82 5x4. �;O ?5@51>@0 AB@>: 8A?>;L7C5BAO 
2=5H=89 F8:; for, 4;O ?5@51>@0 AB>;1F>2 - 2=CB@5==89. �064><C 
A;54CNI5<C M;5<5=BC ?@8A208205BAO 7=0G5=85 =0 548=8FC 1>;LH55 G5< 
?@54K4CI55. 

 

public class TwoDArray1 { 

    public static void main(String[] args) { 

        int[][] twoD = new int[5][4]; 

        int i, j, k = 0; 

        for (i = 0; i < 5; i++) { 

            for (j = 0; j < 4; j++) { 



                twoD[i][j] = k++; 

                System.out.print(twoD[i][j] + " "); 

            } 

            System.out.println(); 

        } 

    } 

} 

#>4>1=K< >1@07>< <>65B E@0=8BLAO <0AA82 ;N1>9 @07<5@=>AB8 2 ?0<OB8. 

 

� 42C<5@=KE <0AA820E, :>B>@K5 <K @0AA<0B@820;8 4> A8E ?>@, :>;8G5AB2> 
M;5<5=B>2 2 :064>9 AB@>:5 >48=0:>2> - G0I5 2A53> B0: 8 1K205B. !> MB> =5 
>1O70B5;L=>, :0640O AB@>:0 <>65B A>45@60BL @07=>5 :>;8G5AB2> M;5<5=B>2. 

#>A<>B@8< :>4, @50;87CNI89 B0:>9 <0AA82. #@8 >1JO2;5=88 42C<5@=>3> 
<0AA820 =5>1E>48<> 7040BL :>;8G5AB2> M;5<5=B>2 B>;L:> 4;O ?5@2>9 
@07<5@=>AB8 - int[][] array = new int[4][]. &0:8< >1@07><, <K C:07K205< 
:>;8G5AB2> AB@>: 2 <0AA825, => ?>4 :064CN AB@>:C ?0<OBL =5 2K45;O5<. 
�0;55 2K45;O5< >B45;L=> ?0<OBL ?>4 :064CN AB@>:C <0AA820. !0?@8<5@, 
AB@>:0 A 8=45:A>< =>;L 1C45B @07<5@0 1 - array[0] = new int[1].  

 

public class TwoDArray2 { 

    public static void main(String[] args) { 

        int[][] array = new int[4][]; 

        array[0] = new int[1]; 

        array[1] = new int[2]; 

        array[2] = new int[3]; 

        array[3] = new int[4]; 

        int i, j, k = 0; 

        for (i = 0; i < 4; i++) { 

            for (j = 0; j < i + 1; j++) { 

                array[i][j] = k++; 

                System.out.print(array[i][j] + " "); 



            } 

            System.out.println(); 

        } 

    } 

} 

�;O <=>3><5@=KE <0AA82>2 <>6=> B0:65 8A?>;L7>20BL 1;>: 4;O 
8=8F80;870F88, 5A;8 7=0G5=8O 2A5E M;5<5=B>2 70@0=55 8725AB=K. �0640O 
>B45;L=0O AB@>:0 70:;NG05BAO 2 D83C@=K5 A:>1:8: 

 

public class TwoDArray3 { 

    public static void main(String[] args) { 

        double[][] arrayTwoD = { 

                {0, 1, 2, 3}, 

                {4, 5, 6, 7}, 

                {8, 9, 10, 11}, 

                {12, 13, 14, 15} 

        }; 

        for (double[] arrayOneD : arrayTwoD) { 

            for (double element : arrayOneD) { 

                System.out.print(element + " "); 

            } 

            System.out.println(); 

        } 

    } 

} 

�484K4 1 

%>740BL <0AA82 B8?0 String @07<5@>< 3E6 8 @0A?5G0B0BL. 

�0?8A0BL 2 =53> 7=0G5=8O: 

01 02 03 04 05 01 



b1 b2 b3 b4 b5 b6 

A1 A2 A3 A4 A5 A1 

 

�484K4 2 

%>740BL 42C<5@=K9 <0AA82 B8?0 char @07<5@>< 4x2. 

� 70?8A0BL BC40 7=0G5=8O A ?><>ILN 1;>:0 4;O 8=8F80;870F88. 

$0A?5G0B0BL 7=0G5=8O. 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 6. В6B8 @4EE<6B6. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @01>B0BL A <0AA820<8 2 Java. 

 

2 "9BD9F<K9E><= @4F9D<4? 

 0AA82 2 Java (Java Array) 4 MB> AB@C:BC@0 40==KE, :>B>@0O E@0=8B =01>@ 
?@>=C<5@>20==KE 7=0G5=89 >4=>3> B8?0 (M;5<5=BK <0AA820). 

 

�>?CAB8<, C =0A 5ABL :;0AA 87 45AOB8 CG5=8:>2 8 =0< =C6=> A>E@0=8BL 8E 
>F5=:8. �;O MB>3> <>6=> A>740BL 45AOBL ?5@5<5==KE: 

 

int mark1 = 4; 

int mark2 = 3; 

int mark3 = 5; 

int mark4 = 3; 

int mark5 = 2; 

int mark6 = 4; 

int mark7 = 4; 

int mark8 = 3; 

int mark9 = 4; 

int mark10 = 2; 

� 5A;8 2 =0H5< :;0AA5 1C45B =5 45AOB>: CG5=8:>2, 0 2 45AOBL @07 1>;LH5, =5 
702>48BL 65 =0< 100 ?5@5<5==KE! !0 2K@CG:C ?@8E>4OB <0AA82K. 

�0: A>740BL >4=><5@=K9 <0AA82 

� Java <0AA82 >1JO2;O5BAO A ?><>ILN :204@0B=KE A:>1>: 8 A?5F80;L=>3> 
A;>20 new. 

 

&0:>9 2>B A8=B0:A8A ?@8HP; 87 O7K:0 C: 

 



B8?_<0AA820 =0720=85_?5@5<5==>9[] = new B8?_<0AA820[@07<5@_<0AA820]; 

!> 2 Java ?@54?>GB8B5;L=55 45;0BL B0:: 

 

B8?_<0AA820[] =0720=85_?5@5<5==>9 = new B8?_<0AA820[@07<5@_<0AA820]; 

&8? <0AA820 <>65B 1KBL ;N1K< (int, Integer, String, Date, byte, char, Long 8 
B0: 40;55). 

 

�=8F80;870F8O <0AA820 ?> C<>;G0=8N 

"1JO28< <0AA82 B8?0 int 87 10 M;5<5=B>2: 

 

int[] marks = new int[10]; 

#@8 ?>4>1=>9 8=8F80;870F88 2A5 M;5<5=BK <0AA820 1C4CB 8<5BL 7=0G5=85 
?> C<>;G0=8N. �;O int MB> 0; 4;O float 8 double 4 0.0; 4;O char 4 \0; 4;O 
boolean 4 false, 0 4;O String 8 ;N1>3> 4@C3>3> :;0AA0 MB> null. 

 

� Java @07<5@ <0AA820 (4;8=0, ?@>BO6P==>ABL) >?@545;O5BAO ?@8 >1JO2;5=88, 
0 87<5=8BL 53> <>6=> B>;L:> ?5@5A>7402 <0AA82. 

�484K4 1 

#>8A: <0:A8<0;L=>3> 8 <8=8<0;L=>3> 7=0G5=8O 2 :064>9 AB@>:5 <0AA820. 

%>740BL 42C<5@=K9 <0AA82 5E8 B8?0 int 8 8=8F80;878@>20BL 53> A ?><>ILN 
1;>:0 4;O 8=8F80;870F88. 

!09B8 <0:A8<0;L=>5 8 <8=8<0;L=>5 7=0G5=85 2 :064>9 "AB@>:5" 8 70?8A0BL 
MB8 7=0G5=8O 2 42CE<5@=K9 <0AA82 5E2. 

$0A?5G0B0BL <0AA82, A>45@60I89 <0:A8<0;L=>5 8 <8=8<0;L=>5 7=0G5=85. 

�484K4 2 

�8@;O=40 71 

�<55BAO 38@;O=40, A>AB>OI0O 87 32 ;0<?>G5:. �0640O ;0<?>G:0 8<55B 420 
A>AB>O=8O - 2:;NG5=0 8;8 2K:;NG5=0. � =0G0;5 @01>BK ?@>3@0<<K 
A;CG09=K< >1@07>< 70409B5 :0:85 ;0<?>G:8 1C4CB 2:;NG5=K. !0?8H8B5 
A;54CNI85 <5B>4K: 

 



<5B>4 blink, :>B>@K9 1C45B <830BL ;0<?>G:0<8 38@;O=4K >48= @07 (>?5@0F8O 
~); 

<5B>4 run, :>B>@K9 1C45B 70?CA:0BL 38@;O=4C 2 @568< 153CI59 AB@>:8 
(>?5@0F8O << 8;8 >>); 

<5B>4 isFirstLampOn, :>B>@K9 1C45B 2KOA=OBL 2:;NG5=0 ;8 ;0<?>G:0 2 
?5@2>9 ?>78F88 (=0;>65=85 <0A:8 A ?><>ILN &); 

<5B>4, :>B>@K9 1C45B @0A?5G0BK20BL B5:CI55 A>AB>O=85 38@;O=4K. �;O 
?>;CG5=8O 42>8G=>3> D>@<0B0 G8A;0 8A?>;L7C9B5 <5B>4 
Integer.toBinaryString(a). 

�A?>;L7C9B5 ?>18B>2K5 >?5@0F88. 

 

�484K4 3 

�8@;O=40 72 

�<55BAO 38@;O=40, A>AB>OI0O 87 32 ;0<?>G5:. �0640O ;0<?>G:0 8<55B 420 
A>AB>O=8O - 2:;NG5=0 8;8 2K:;NG5=0. � =0G0;5 @01>BK ?@>3@0<<K 
A;CG09=K< >1@07>< 70409B5 :0:85 ;0<?>G:8 1C4CB 2:;NG5=K. �A?>;L7CO 
<0AA82K. �;O @50;870F88 153CI59 AB@>:8 8A?>;L7C9B5 <5B>4 
System.arraycopy(...). 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 7. �5D45BF>4 EFDB>: CB<E>, ED46A9A<9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @01>B0BL A> AB@>:0<8. 

 

2 "9BD9F<K9E><= @4F9D<4? 

>548=5=85 AB@>: 

�;O A>548=5=8O AB@>: <>6=> 8A?>;L7>20BL >?5@0F8N A;>65=8O ("+"): 

String str1 = "Java"; 

String str2 = "Hello"; 

String str3 = str1 + " " + str2; 

          

System.out.println(str3); // Hello Java 

#@8 MB>< 5A;8 2 >?5@0F88 A;>65=8O AB@>: 8A?>;L7C5BAO =5AB@>:>2K9 >1J5:B, 
=0?@8<5@, G8A;>, B> MB>B >1J5:B ?@5>1@07C5BAO : AB@>:5: 

String str3 = "�>4 " + 2015; 

(0:B8G5A:8 65 ?@8 A;>65=88 AB@>: A =5AB@>:>2K<8 >1J5:B0<8 1C45B 
2K7K20BLAO <5B>4 valueOf() :;0AA0 String. �0==K9 <5B>4 8<55B <=>65AB2> 
?5@53@C7>: 8 ?@5>1@07C5B ?@0:B8G5A:8 2A5 B8?K 40==KE : AB@>:5. �;O 
?@5>1@07>20=8O >1J5:B>2 @07;8G=KE :;0AA>2 <5B>4 valueOf 2K7K205B <5B>4 
toString() MB8E :;0AA>2. 

 

�@C3>9 A?>A>1 >1J548=5=8O AB@>: ?@54AB02;O5B <5B>4 concat(): 

String str1 = "Java"; 

String str2 = "Hello"; 

str2 = str2.concat(str1); // HelloJava 

 5B>4 concat() ?@8=8<05B AB@>:C, A :>B>@>9 =04> >1J548=8BL 2K7K20NICN 
AB@>:C, 8 2>72@0I05B A>548=5==CN AB@>:C. 

 

�I5 >48= <5B>4 >1J548=5=8O - <5B>4 join() ?>72>;O5B >1J548=8BL AB@>:8 A 
CG5B>< @0745;8B5;O. !0?@8<5@, 2KH5 425 AB@>:8 A;820;8AL 2 >4=> A;>2> 



"HelloJava", => 2 8450;5 <K 1K E>B5;8, GB>1K 425 ?>4AB@>:8 1K;8 @0745;5=K 
?@>15;><. � 4;O MB>3> 8A?>;L7C5< <5B>4 join(): 

String str1 = "Java"; 

String str2 = "Hello"; 

String str3 = String.join(" ", str2, str1); // Hello Java 

 5B>4 join O2;O5BAO AB0B8G5A:8<. #5@2K< ?0@0<5B@>< 845B @0745;8B5;L, 
:>B>@K< 1C4CB @0745;OBLAO ?>4AB@>:8 2 >1I59 AB@>:5, 0 2A5 ?>A;54CNI85 
?0@0<5B@K ?5@540NB G5@57 70?OBCN ?@>872>;L=K9 =01>@ >1J548=O5<KE 
?>4AB@>: - 2 40==>< A;CG05 425 AB@>:8, E>BO 8E <>65B 1KBL 8 1>;LH5 

 

�72;5G5=85 A8<2>;>2 8 ?>4AB@>: 

�;O 872;5G5=8O A8<2>;>2 ?> 8=45:AC 2 :;0AA5 String >?@545;5= <5B>4 char 
charAt(int index). "= ?@8=8<05B 8=45:A, ?> :>B>@><C =04> ?>;CG8BL 
A8<2>;>2, 8 2>72@0I05B 872;5G5==K9 A8<2>;: 

String str = "Java"; 

char c = str.charAt(2); 

System.out.println(c); // v 

�0: 8 2 <0AA820E 8=45:A0F8O =0G8=05BAO A =C;O. 

 

�A;8 =04> 872;5GL A@07C 3@C??C A8<2>;>2 8;8 ?>4AB@>:C, B> <>6=> 
8A?>;L7>20BL <5B>4 getChars(int srcBegin, int srcEnd, char[] dst, int dstBegin). 
"= ?@8=8<05B A;54CNI85 ?0@0<5B@K: 

 

srcBegin: 8=45:A 2 AB@>:5, A :>B>@>3> =0G8=05BAO 872;5G5=85 A8<2>;>2 

 

srcEnd: 8=45:A 2 AB@>:5, 4> :>B>@>3> 845B 872;5G5=85 A8<2>;>2 

 

dst: <0AA82 A8<2>;>2, 2 :>B>@K9 1C4CB 872;5:0BLAO A8<2>;K 

 

dstBegin: 8=45:A 2 <0AA825 dst, A :>B>@>3> =04> 4>102;OBL 872;5G5==K5 87 
AB@>:8 A8<2>;K 



String str = "Hello world!"; 

int start = 6; 

int end = 11; 

char[] dst=new char[end - start]; 

str.getChars(start, end, dst, 0); 

System.out.println(dst); // world 

%@02=5=85 AB@>: 

�;O A@02=5=8O AB@>: 8A?>;L7CNBAO <5B>4K equals() (A CG5B>< @538AB@0) 8 
equalsIgnoreCase() (157 CG5B0 @538AB@0). "10 <5B>40 2 :0G5AB25 ?0@0<5B@0 
?@8=8<0NB AB@>:C, A :>B>@>9 =04> A@02=8BL: 

String str1 = "Hello"; 

String str2 = "hello"; 

          

System.out.println(str1.equals(str2)); // false 

System.out.println(str1.equalsIgnoreCase(str2)); // true 

� >B;8G85 >B A@02=5=8O G8A;>2KE 8 4@C38E 40==KE ?@8<8B82=KE B8?>2 4;O 
AB@>: =5 ?@8<5=O5BAO 7=0: @025=AB20 ==. �<5AB> =53> =04> 8A?>;L7>20BL 
<5B>4 equals(). 

 

�I5 >48= A?5F80;L=K9 <5B>4 regionMatches() A@02=8205B >B45;L=K5 
?>4AB@>:8 2 @0<:0E 42CE AB@>:. "= 8<55B A;54CNI85 D>@<K: 

 

boolean regionMatches(int toffset, String other, int oofset, int len) 

boolean regionMatches(boolean ignoreCase, int toffset, String other, int oofset, int 

len) 

 5B>4 ?@8=8<05B A;54CNI85 ?0@0<5B@K: 

 

ignoreCase: =04> ;8 83=>@8@>20BL @538AB@ A8<2>;>2 ?@8 A@02=5=88. �A;8 
7=0G5=85 true, @538AB@ 83=>@8@C5BAO 

 



toffset: =0G0;L=K9 8=45:A 2 2K7K20NI59 AB@>:5, A :>B>@>3> =0G=5BAO 
A@02=5=85 

 

other: AB@>:0, A :>B>@>9 A@02=8205BAO 2K7K20NI0O 

 

oofset: =0G0;L=K9 8=45:A 2 A@02=8205<>9 AB@>:5, A :>B>@>3> =0G=5BAO 
A@02=5=85 

 

len: :>;8G5AB2> A@02=8205<KE A8<2>;>2 2 >158E AB@>:0E 

 

�A?>;L7C5< <5B>4: 

String str1 = "Hello world"; 

String str2 = "I work"; 

boolean result = str1.regionMatches(6, str2, 2, 3); 

System.out.println(result); // true 

� 40==>< A;CG05 <5B>4 A@02=8205B 3 A8<2>;0 A 6-3> 8=45:A0 ?5@2>9 AB@>:8 
("wor") 8 3 A8<2>;0 A> 2-3> 8=45:A0 2B>@>9 AB@>:8 ("wor"). &0: :0: MB8 
?>4AB@>:8 >48=0:>2K, B> 2>72@0I05BAO true. 

 

� 5I5 >4=0 ?0@0 <5B>4>2 int compareTo(String str) 8 int 
compareToIgnoreCase(String str) B0:65 ?>72>;ONB A@02=8BL 425 AB@>:8, => ?@8 
MB>< >=8 B0:65 ?>72>;ONB C7=0BL 1>;LH5 ;8 >4=0 AB@>:0, G5< 4@C30O 8;8 =5B. 
�A;8 2>72@0I05<>5 7=0G5=85 1>;LH5 0, B> ?5@20O AB@>:0 1>;LH5 2B>@>9, 5A;8 
<5=LH5 =C;O, B>, =0>1>@>B, 2B>@0O 1>;LH5 ?5@2>9. �A;8 AB@>:8 @02=K, B> 
2>72@0I05BAO 0. 

 

�;O >?@545;5=8O 1>;LH5 8;8 <5=LH5 >4=0 AB@>:0, G5< 4@C30O, 8A?>;L7C5BAO 
;5:A8:>3@0D8G5A:89 ?>@O4>:. &> 5ABL, =0?@8<5@, AB@>:0 "A" <5=LH5, G5< 
AB@>:0 "B", B0: :0: A8<2>; 'A' 2 0;D028B5 AB>8B ?5@54 A8<2>;>< 'B'. �A;8 
?5@2K5 A8<2>;K AB@>: @02=K, B> 2 @0AG5B 15@CBAO A;54CNI85 A8<2>;K. 
!0?@8<5@: 

String str1 = "hello"; 

String str2 = "world"; 



String str3 = "hell"; 

          

System.out.println(str1.compareTo(str2)); // -15 - str1 <5=LH5 G5< strt2 

System.out.println(str1.compareTo(str3)); // 1 - str1 1>;LH5 G5< str3 

#>8A: 2 AB@>:5 

 5B>4 indexOf() =0E>48B 8=45:A ?5@2>3> 2E>645=8O ?>4AB@>:8 2 AB@>:C, 0 
<5B>4 lastIndexOf() - 8=45:A ?>A;54=53> 2E>645=8O. �A;8 ?>4AB@>:0 =5 1C45B 
=0945=0, B> >10 <5B>40 2>72@0I0NB -1: 

String str = "Hello world"; 

int index1 = str.indexOf('l'); // 2 

int index2 = str.indexOf("wo"); //6 

int index3 = str.lastIndexOf('l'); //9 

 5B>4 startsWith() ?>72>;ONB >?@545;8BL =0G8=05BAO ;8 AB@>:0 A 
>?@545;5==>9 ?>4AB@>:8, 0 <5B>4 endsWith() ?>72>;O5B >?@545;8BL 
70:0=G8205BAO AB@>:0 =0 >?@545;5==CN ?>4AB@>:C: 

String str = "myfile.exe"; 

boolean start = str.startsWith("my"); //true 

boolean end = str.endsWith("exe"); //true 

�0<5=0 2 AB@>:5 

 5B>4 replace() ?>72>;O5B 70<5=8BL 2 AB@>:5 >4=C ?>A;54>20B5;L=>ABL 
A8<2>;>2 =0 4@C3CN: 

String str = "Hello world"; 

String replStr1 = str.replace('l', 'd'); // Heddo wordd 

String replStr2 = str.replace("Hello", "Bye"); // Bye world 

"1@57:0 AB@>:8 

 5B>4 trim() ?>72>;O5B C40;8BL =0G0;L=K5 8 :>=5G=K5 ?@>15;K: 

String str = "  hello world  "; 

str = str.trim(); // hello world  

 5B>4 substring() 2>72@0I05B ?>4AB@>:C, =0G8=0O A >?@545;5==>3> 8=45:A0 4> 
:>=F0 8;8 4> >?@545;5==>3> 8=45:A0: 



String str = "Hello world"; 

String substr1 = str.substring(6); // world 

String substr2 = str.substring(3,5); //lo 

�7<5=5=85 @538AB@0 

 5B>4 toLowerCase() ?5@52>48B 2A5 A8<2>;K AB@>:8 2 =86=89 @538AB@, 0 
<5B>4 toUpperCase() - 2 25@E=89: 

String str = "Hello World";  

System.out.println(str.toLowerCase()); // hello world 

System.out.println(str.toUpperCase()); // HELLO WORLD 

Split 

 5B>4 split() ?>72>;O5B @0718BL AB@>:C =0 ?>4AB@>:8 ?> >?@545;5==><C 
@0745;8B5;N. $0745;8B5;L - :0:>9-=81C4L A8<2>; 8;8 =01>@ A8<2>;>2 
?5@5405BAO 2 :0G5AB25 ?0@0<5B@0 2 <5B>4. !0?@8<5@, @07>1L5< B5:AB =0 
>B45;L=K5 A;>20: 

 

String text = "FIFA will never regret it"; 

String[] words = text.split(" "); 

for(String word : words){ 

    System.out.println(word); 

} 

 

�484K4 1 

' 3CA59 8 :@>;8:>2 2<5AB5 2n ;0?. %:>;L:> <>65B 1KBL 3CA59 8 :@>;8:>2? 

import java.util.Scanner; 

  

public class Main { 

  

    public static void main(String[] args) { 

      Scanner in = new Scanner(System.in); 

      int n = in.nextInt(); 



      int g,k; 

   System.out.println("�A53> ;0?: " +  2*n); 

g =(2*n % 4) / 2; 

k = (2*n-2*g) / 4; 

do{ 

   System.out.println(g + " 3CA59 8  "+ k+ ":@>;8:>2"); 

  g+=2; 

  k--; 

        } while (k >= 0); 

    } 

} 

�484K4 2 

#>8A: =08<5=LH53> 8 =081>;LH53> G8A;0 87 3 G8A5; 2 <0AA825. 

import java.util.Scanner; 

 

class Main { 

    public static void main(String[] args) { 

        // declare and create array object 

        // declare smallest and largest int variables  

        int[] numbers; 

        numbers = new int[3]; 

 

        // create Scanner object 

        Scanner input = new Scanner(System.in); 

 

        // prompt user  

        System.out.print("�2548B5 3 G8A;0: \n"); 

        // use for loop to obtain user input 

        for (int counter = 0; counter < numbers.length; counter++) { 



            numbers[counter] = input.nextInt(); 

        } // end obtaining input 

 

        //Use in built Math.min and Math.max to get smallest and largest numbers 

        System.out.printf("%s: %d%n", "!08<5=LH55 G8A;> ", 

Math.min(numbers[0], Math.min(numbers[1], numbers[2]))); 

        System.out.printf("%s: %d%n", "!081>;LH55 G8A;> ", 

Math.max(numbers[0], Math.max(numbers[1], numbers[2]))); 

    } 

} 

 

�484K4 3 

!0?8H8B5 ?@>3@0<<C =0 Java, :>B>@0O G8B05B F5;>5 G8A;> 8 ?@>25@O5B, 
O2;O5BAO ;8 >=> >B@8F0B5;L=K<, =C;52K< 8;8 ?>;>68B5;L=K<. 

import java.util.Scanner; 

public class Main { 

 public static void main(String[] args) 

    { 

        Scanner in = new Scanner(System.in); 

        System.out.print("�2548B5 G8A;>: "); 

        int n = in.nextInt(); 

        if (n > 0) 

        { 

            System.out.println("+8A;> ?>;>68B5;L=>5"); 

        } 

        else if (n < 0) 

        { 

            System.out.println("+8A;> >B@8F0B5;L=>5"); 

        } 

        else 



        { 

            System.out.println("+8A;> =C;52>5"); 

        } 

    } 

} 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 8. �5D45BF>4 E<@6B?B6. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO <0=8?C;8@>20BL A8<2>;0<8 2 AB@>:5. 

 

2 "9BD9F<K9E><= @4F9D<4? 

String �;0AA 8<55B @O4 <5B>4>2 4;O ?@>25@:8 A>45@68<>3> AB@>:, ?>8A:0 
A8<2>;>2 8;8 ?>4AB@>: 2=CB@8 AB@>:8, 87<5=5=8O @538AB@0 8 4@C38E 7040G. 

 

#>;CG5=85 A8<2>;>2 8 ?>4AB@>: ?> 8=45:AC 

�K <>65B5 ?>;CG8BL A8<2>; A >?@545;5==K< 8=45:A>< 2=CB@8 AB@>:8, 
2K7202 charAt() <5B>4 4>ABC?0. �=45:A ?5@2>3> A8<2>;0 @025= 0, 0 8=45:A 
?>A;54=53> A8<2>;0 @025= length()-1. !0?@8<5@, A;54CNI89 :>4 2>72@0I05B 
A8<2>; A 8=45:A>< 9 2 AB@>:5: 

 

String anotherPalindrome = "!8030@0. ", A=>20 @52!";  

char aChar = anotherPalindrome.charAt(9); 

�=45:AK =0G8=0NBAO A 0, ?>MB><C A8<2>;>< A 8=45:A>< 9 O2;O5BAO "O". 

�A;8 2K E>B8B5 ?>;CG8BL 87 AB@>:8 1>;55 >4=>3> ?>A;54>20B5;L=>3> A8<2>;0, 
2K <>65B5 8A?>;L7>20BL substring <5B>4. substring  5B>4 8<55B 425 25@A88, 
:0: ?>:070=> 2 A;54CNI59 B01;8F5: 

substring�9FB8O 6 String >?4EE9 

�9FB8 �C<E4A<9 

String substring(int beginIndex, 

int endIndex) 

�>72@0I05B =>2CN AB@>:C, :>B>@0O O2;O5BAO 
?>4AB@>:>9 MB>9 AB@>:8. #>4AB@>:0 
=0G8=05BAO A C:070==>3> beginIndex 8 
?@>4>;605BAO 4> A8<2>;0 A 
8=45:A>< endIndex - 1. 

String substring(int beginIndex) 
�>72@0I05B =>2CN AB@>:C, :>B>@0O O2;O5BAO 
?>4AB@>:>9 MB>9 AB@>:8. �@3C<5=B integer 

C:07K205B 8=45:A ?5@2>3> A8<2>;0. �45AL 



2>72@0I05<0O ?>4AB@>:0 ?@>4>;605BAO 4> 
:>=F0 8AE>4=>9 AB@>:8. 

�B<E> E<@6B?B6 < CB8EFDB> 6 EFDB>9 

�>B =5A:>;L:> 4@C38E String <5B>4>2 ?>8A:0 A8<2>;>2 8;8 ?>4AB@>: 2=CB@8 
AB@>:8. String �;0AA ?@54>AB02;O5B <5B>4K 4>ABC?0, :>B>@K5 2>72@0I0NB 
?>78F8N 2 AB@>:5 >?@545;5==>3> A8<2>;0 8;8 ?>4AB@>:8: indexOf() 8 
lastIndexOf(). indexOf() 5B>4K 2K?>;=ONB ?>8A: 2 ?@O<>< =0?@02;5=88 >B 
=0G0;0 AB@>:8, 0 lastIndexOf() <5B>4K - 2 >1@0B=>< =0?@02;5=88 >B :>=F0 
AB@>:8. �A;8 A8<2>; 8;8 ?>4AB@>:0 =5 =0945=K, indexOf() 8 lastIndexOf() 
25@=8B5 7=0G5=85 -1. 

 

String�;0AA B0:65 ?@54>AB02;O5B <5B>4 ?>8A:0, contains :>B>@K9 2>72@0I05B 
true, 5A;8 AB@>:0 A>45@68B >?@545;5==CN ?>A;54>20B5;L=>ABL A8<2>;>2. 
�A?>;L7C9B5 MB>B <5B>4, :>340 20< =C6=> B>;L:> 7=0BL, GB> AB@>:0 A>45@68B 
?>A;54>20B5;L=>ABL A8<2>;>2, => B>G=>5 <5AB>?>;>65=85 =5 206=>. 

�4@9A4 E<@6B?B6 < CB8EFDB> 6 EFDB>9 

String�;0AA 8<55B >G5=L <0;> <5B>4>2 4;O 2AB02:8 A8<2>;>2 8;8 ?>4AB@>: 2 
AB@>:C. � >1I5<, >=8 =5 =C6=K: 2K <>65B5 A>740BL =>2CN AB@>:C ?CB5< 
:>=:0B5=0F88 AB@>:8, 2K 4>;6=K C40;8BL 87 AB@>:8 A ?>4AB@>:>9, :>B>@CN 
2K E>B8B5 2AB028BL. 

�484K4 1 

%>740BL ?@>3@0<<C 4;O ?>;CG5=8O :>;-20 C=8:0;L=KE A8<2>;>2. 

public class Main { 

    public static void main(String []args){ 

        String line = "aaabccdddc"; 

        System.out.println( line.chars().distinct().count() ); 

    } 

} 

�484K4 2 

#5@525AB8 AB@>:C 2 25@E=89 @538AB@. 

public class Main { 

    public static void main(String[] args) { 



        String line = ">@30=870F8O >1J548=P==KE =0F89"; 

        char[] chars = line.toCharArray(); 

        for (int i = 0; i < chars.length; i++) { 

            if (i == 0 || chars[i - 1] == ' ') { 

                chars[i] = Character.toUpperCase(chars[i]); 

            } 

        } 

        System.out.println(new String(chars)); 

    } 

} 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 9. В>?RK9A<9 >?4EE4 6 GK95AO= CDB9>F. 

 

1 &9?P ;4ASF<S 

$07>1@0BLAO 2 CAB@>9AB25 :;0AA>2 87 :>B>@KE A>740NB >1J5:BK. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�;0AA 2 Java - MB> H01;>= 4;O A>740=8O >1J5:B0, 0 >1J5:B - MB> M:75<?;O@ 
:;0AA0. �;0AA >?@545;O5B AB@C:BC@C 8 ?>2545=85, :>B>@K5 1C4CB A>2<5AB=> 
8A?>;L7>20BLAO =01>@>< >1J5:B>2. �;0AA A>45@68B ?5@5<5==K5 8 <5B>4K, 
:>B>@K5 =07K20NBAO M;5<5=B0<8 :;0AA0, G;5=0<8 :;0AA0. "= A>AB02;O5B 
>A=>2C 8=:0?AC;OF88 2 Java. �064K9 >1J5:B 40==>3> :;0AA0 A>45@68B 
AB@C:BC@C 8 ?>2545=85, :>B>@K5 >?@545;5=K :;0AA><. �=>340 >1J5:BK 
=07K20NB M:75<?;O@0<8 :;0AA0. 

 

 5B>4K 8A?>;L7CNBAO 4;O >?8A0=8O B>3>, GB> >1J5:B :;0AA0 C<55B 45;0BL 8;8 
GB> <>6=> A =8< A45;0BL. #5@5<5==K5 - 4;O >?8A0=8O A2>9AB2 8;8 
E0@0:B5@8AB8: >1J5:B0. 

�0: A>740BL :;0AA 2 Java 

$0AA<>B@8< :0: A>740BL :;0AA 2 O7K:5 Java. '?@>I5==0O >1I0O D>@<0 
>?@545;5=8O :;0AA0: 

 

class �<O�;0AA0{ 

 

       B8? ?5@5<5==0O-:75<?;O@01; 

       B8? ?5@5<5==0O-:75<?;O@02; 

         // ... 

       B8? ?5@5<5==0O-:75<?;O@0N; 

 

      B8? 8<O 5B>40 1 ( A?8A>: ?0@0<5B@>2) { 

         // B5;> <5B>40 

       } 



       B8? 8<O 5B>402 (A?8A>: ?0@0<5B@>2) { 

         // B5;> <5B>40 

        } 

       & 

      B8? 8<O 5B>40N (A?8A>:  ?0@0<5B@>2 ) { 

        // B5;> <5B>40 

       } 

} 

#>A;5 :;NG52>3> A;>20 class ?8H5BAO 8<O :;0AA0. � B5;5 :;0AA0 >1JO2;ONBAO 
?5@5<5==K5 8 <5B>4K :;0AA0. �E <>65B 1KBL A:>;L:> C3>4=>. 

 

"?8H5< :;0AA 4;O >1J5:B0 Box (:>@>1:0). ' :>@>1:8 5ABL B@8 3;02=K5 
E0@0:B5@8AB8:8: H8@8=0, 2KA>B0 8 3;C18=0, >?8A0==K5 A ?><>ILN 
?5@5<5==KE: 

 

public class Box { 

    double width; 

    double height; 

    double depth; 

} 

�484K4 1 

"45640 

%>740BL ?5@5G8A;5=85, A>45@60I55 @07<5@K >4564K (XXS, XS, S, M, L). 
#5@5G8A;5=85 A>45@68B <5B>4 getDescription, 2>72@0I0NI89 AB@>:C 
"�7@>A;K9 @07<5@". #5@5>?@545;8BL <5B>4 getDescription - 4;O :>=AB0=BK 
XXS <5B>4 4>;65= 2>72@0I0BL AB@>:C 5�5BA:89 @07<5@6.  &0:65 
?5@5G8A;5=85 4>;6=> A>45@60BL G8A;>2>5 7=0G5=85 euroSize(32, 34, 36, 38, 
40), A>>B25BAB2CNI55 :064><C @07<5@C. %>740BL :>=AB@C:B>@, ?@8=8<0NI89 
=0 2E>4 euroSize. 

%>740BL 8=B5@D59AK " C6A:0O "45640" A <5B>4>< ">45BL C6G8=C" 8 
"�5=A:0O "45640" A <5B>4>< ">45BL�5=I8=C".  



%>740BL 01AB@0:B=K9 :;0AA "45640, A>45@60I89 ?5@5<5==K5 - @07<5@ 
>4564K, AB>8<>ABL, F25B. 

%>740BL :;0AAK =0A;54=8:8 "4564K - (CB1>;:0 (@50;87C5B 8=B5@D59AK 
" C6A:0O "45640" 8 "�5=A:0O "45640"), �@N:8 (@50;87C5B 8=B5@D59AK 
" C6A:0O "45640" 8 "�5=A:0O "45640"), .1:0 (@50;87C5B 8=B5@D59AK 
"�5=A:0O "45640"), �0;ABC: (@50;87C5B 8=B5@D59AK " C6A:0O "45640").    

%>740BL <0AA82, A>45@60I89 2A5 B8?K >4564K. %>740BL :;0AA �B5;L5, 
A>45@60I89 <5B>4K >45BL�5=I8=C, >45BL C6G8=C, =0 2E>4 :>B>@KE 1C45B 
?>ABC?0BL <0AA82, A>45@60I89 2A5 B8?K >4564K.  5B>4 >45BL�5=I8=C 
2K2>48B =0 :>=A>;L 2AN 8=D>@<0F8N > 65=A:>9 >45645. &> 65 A0<>5 4;O 
<5B>40 >45BL C6G8=C. 

 

�484K4 2 

�=B5@D59A Printable 

"?@545;8BL 8=B5@D59A Printable, A>45@60I89 <5B>4 void print(). 

"?@545;8BL :;0AA Book, @50;87CNI89 8=B5@D59A Printable. 

"?@545;8BL :;0AA Magazine, @50;87CNI89 8=B5@D59A Printable. 

%>740BL <0AA82 B8?0 Printable, :>B>@K9 1C45B A>45@60BL :=838 8 6C@=0;K. 

� F8:;5 ?@>9B8 ?> <0AA82C 8 2K720BL <5B>4 print() 4;O :064>3> >1J5:B0.  

%>740BL AB0B8G5A:89 <5B>4 printMagazines(Printable[] printable) 2 :;0AA5 
Magazine, :>B>@K9 2K2>48B =0 :>=A>;L =0720=8O B>;L:> 6C@=0;>2.  

%>740BL AB0B8G5A:89 <5B>4 printBooks(Printable[] printable) 2 :;0AA5 Book, 
:>B>@K9 2K2>48B =0 :>=A>;L =0720=8O B>;L:> :=83. �A?>;L7C5< >?5@0B>@ 
instanceof. 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 10.  4;D45BF>4 CD<?B:9A<S 6 EBBF69FEF6<< E 
CD<AJ<C4@< B5N9>FAB-BD<9AF<DB64AAB7B CDB7D4@@<DB64A<S CB 

<A8<6<8G4?PAO@ ;484A<S@ (A4K4?PAO= QF4C). 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@01>B:8 ?@8;>65=89 2 A>>B25BAB288 A ?@8=F8?0<8 ""#. 

 

2 "9BD9F<K9E><= @4F9D<4? 

"1J5:B=>->@85=B8@>20==>5 ?@>3@0<<8@>20=85 (""#) - <5B>48:0 
?@>3@0<<8@>20=8O, 2 :>B>@>9 >A=>2=K<8 :>=F5?F8O<8 O2;ONBAO ?>=OB8O 
>1J5:B>2 8 :;0AA>2. #@5645 G5< =0G0BL ?8A0BL 8=AB@C:F88 4;O @5H5=8O 
7040G8, 2 7040G5 2K45;ONBAO >1J5:BK 8 >?8AK20NBAO A ?><>ILN :;0AA>2. � 
:;0AA5 ?@>?8AK205BAO ?>2545=85 >1J5:B>2 A ?><>ILN <5B>4>2 8 
E0@0:B5@8AB8:8 8;8 A2>9AB20 >1J5:B0 A ?><>ILN ?5@5<5==KE :;0AA0. "4=>9 
87 :;NG52KE >A>15==>AB59 O7K:0 Java O2;O5BAO ""#. 

�K45;ONB B@8 ?@8=F8?0 ""#: 

 

 �=:0?AC;OF8O 4 MB> A2>9AB2> A8AB5<K, ?>72>;ONI55 >1J548=8BL 
40==K5 8 <5B>4K 2 :;0AA5, 8 A:@KBL 45B0;8 @50;870F88 >B 
?>;L7>20B5;O. 

 !0A;54>20=85 4 MB> A2>9AB2> A8AB5<K, ?>72>;ONI55 >?8A0BL =>2K9 
:;0AA =0 >A=>25 C65 ACI5AB2CNI53> A G0AB8G=> 8;8 ?>;=>ABLN 
708<AB2CNI59AO DC=:F8>=0;L=>ABLN. � Java :;0AA, >B :>B>@>3> 
?@>872>48BAO =0A;54>20=85, =07K205BAO 107>2K<, @>48B5;LA:8< 8;8 
AC?5@:;0AA><. !>2K9 :;0AA 4 ?>B><:><, =0A;54=8:>< 8;8 
?@>872>4=K< :;0AA><. 

 #>;8<>@D87< 4 1C:20;L=> >7=0G05B <=>3> D>@<. -B> A2>9AB2> 
A8AB5<K 8A?>;L7>20BL >1J5:BK A >48=0:>2K< 8=B5@D59A>< 157 
8=D>@<0F88 > B8?5 8 2=CB@5==59 AB@C:BC@5 >1J5:B0. 5"48= 8=B5@D59A, 
<=>65AB2> <5B>4>26. $50;870F88 ?>;8<>@D87<0 2 O7K:5 Java - MB> 
?5@53@C7:0 8 ?5@5>?@545;5=85 <5B>4>2, 8=B5@D59AK. 

�K45;ONB 5I5 >48= G5B25@BK9 ?@8=F8?: 

 

 �1AB@0:F8O 40==KE 4 MB> A?>A>1 2K45;8BL =01>@ 7=0G8<KE 
E0@0:B5@8AB8: >1J5:B0, 8A:;NG0O 87 @0AA<>B@5=8O =5 7=0G8<K5. 
%>>B25BAB25==>, 01AB@0:F8O 4 MB> =01>@ 2A5E B0:8E E0@0:B5@8AB8:. 



�484K4 1 

�;0AA Phone. 

%>7409B5 :;0AA Phone, :>B>@K9 A>45@68B ?5@5<5==K5 number, model 8 
weight. 

%>7409B5 B@8 M:75<?;O@0 MB>3> :;0AA0.  

�K2548B5 =0 :>=A>;L 7=0G5=8O 8E ?5@5<5==KE.  

�>1028BL 2 :;0AA Phone <5B>4K: receiveCall, 8<55B >48= ?0@0<5B@ 3 8<O 
72>=OI53>. �K2>48B =0 :>=A>;L A>>1I5=85 5�2>=8B {name}6.  5B>4 
getNumber 3 2>72@0I05B =><5@ B5;5D>=0. �K720BL MB8 <5B>4K 4;O :064>3> 87 
>1J5:B>2. 

�>1028BL :>=AB@C:B>@ 2 :;0AA Phone, :>B>@K9 ?@8=8<05B =0 2E>4 B@8 
?0@0<5B@0 4;O 8=8F80;870F88 ?5@5<5==KE :;0AA0 - number, model 8 weight.  

�>1028BL :>=AB@C:B>@, :>B>@K9 ?@8=8<05B =0 2E>4 420 ?0@0<5B@0 4;O 
8=8F80;870F88 ?5@5<5==KE :;0AA0 - number, model.  

�>1028BL :>=AB@C:B>@ 157 ?0@0<5B@>2. 

�K720BL 87 :>=AB@C:B>@0 A B@5<O ?0@0<5B@0<8 :>=AB@C:B>@ A 42C<O.  

�>102LB5 ?5@53@C65==K9 <5B>4 receiveCall, :>B>@K9 ?@8=8<05B 420 
?0@0<5B@0 - 8<O 72>=OI53> 8 =><5@ B5;5D>=0 72>=OI53>. �K720BL MB>B <5B>4. 

%>740BL <5B>4 sendMessage A 0@3C<5=B0<8 ?5@5<5==>9 4;8=K. �0==K9 <5B>4 
?@8=8<05B =0 2E>4 =><5@0 B5;5D>=>2, :>B>@K< 1C45B >B?@02;5=> A>>1I5=85. 
 5B>4 2K2>48B =0 :>=A>;L =><5@0 MB8E B5;5D>=>2. 

�7<5=8BL :;0AA Phone 2 A>>B25BAB288 A :>=F5?F859 JavaBean. 

 

�484K4 2 

�;0AA Person 

%>740BL :;0AA Person, :>B>@K9 A>45@68B:  

?5@5<5==K5 fullName, age; 

<5B>4K move() 8 talk(), 2 :>B>@KE ?@>AB> 2K25AB8 =0 :>=A>;L A>>1I5=85 -
"&0:>9-B>  Person 3>2>@8B".  

�>102LB5 420 :>=AB@C:B>@0  - Person() 8 Person(fullName, age). 

%>7409B5 420 >1J5:B0 MB>3> :;0AA0. "48= >1J5:B 8=8F80;878@C5BAO 
:>=AB@C:B>@>< Person(), 4@C3>9 - Person(fullName, age). 



�K7>28B5 <5B>4K move() 8 talk(). 

 

�484K4 3 

�;0AA  0B@8F0 

%>740BL :;0AA " 0B@8F0". �;0AA 4>;65= 8<5BL A;54CNI85 ?5@5<5==K5: 

 

42C<5@=K9 <0AA82 25I5AB25==KE G8A5;; 

:>;8G5AB2> AB@>: 8 AB>;1F>2 2 <0B@8F5. 

�;0AA 4>;65= 8<5BL A;54CNI85 <5B>4K: 

 

A;>65=85 A 4@C3>9 <0B@8F59; 

C<=>65=85 =0 G8A;>; 

2K2>4 =0 ?5G0BL;  

C<=>65=85 <0B@8F. 

 

�484K4 3 

+8B0B5;8 181;8>B5:8 

"?@545;8BL :;0AA Reader, E@0=OI89 B0:CN 8=D>@<0F8N > ?>;L7>20B5;5 
181;8>B5:8: 

 

(�", 

=><5@ G8B0B5;LA:>3> 18;5B0, 

D0:C;LB5B, 

40B0 @>645=8O, 

B5;5D>=. 

 5B>4K takeBook(), returnBook(). 

$07@01>B0BL ?@>3@0<<C, 2 :>B>@>9 A>7405BAO <0AA82 >1J5:B>2 40==>3> :;0AA0. 

#5@53@C78BL <5B>4K takeBook(), returnBook(): 



- takeBook, :>B>@K9 1C45B ?@8=8<0BL :>;8G5AB2> 27OBKE :=83. �K2>48B =0 
:>=A>;L A>>1I5=85 "#5B@>2 �. �. 27O; 3 :=838". 

- takeBook, :>B>@K9 1C45B ?@8=8<0BL ?5@5<5==>5 :>;8G5AB2> =0720=89 :=83. 
�K2>48B =0 :>=A>;L A>>1I5=85 "#5B@>2 �. �. 27O; :=838: #@8:;NG5=8O, 
%;>20@L, -=F8:;>?548O". 

- takeBook, :>B>@K9 1C45B ?@8=8<0BL ?5@5<5==>5 :>;8G5AB2> >1J5:B>2 
:;0AA0 Book (A>740BL =>2K9 :;0AA, A>45@60I89 8<O 8 02B>@0 :=838). 
�K2>48B =0 :>=A>;L A>>1I5=85 "#5B@>2 �. �. 27O; :=838: #@8:;NG5=8O, 
%;>20@L, -=F8:;>?548O". 

 �=0;>38G=K< >1@07>< ?5@53@C78BL <5B>4 returnBook(). �K2>48B =0 :>=A>;L 
A>>1I5=85 "#5B@>2 �. �. 25@=C; :=838: #@8:;NG5=8O, %;>20@L, 
-=F8:;>?548O". �;8  "#5B@>2 �. �. 25@=C; 3 :=838". 

 

�484K4 4 

�82>B=K5 

%>740BL :;0AA Animal 8 @0AH8@ONI85 53> 01AB@0:B=K5 :;0AAK Dog, Cat, Bear. 

�;0AA Animal A>45@68B ?5@5<5==CN name 8 01AB@0:B=K5 <5B>4K makeNoise, 
eat, getDescription.  5B>4 makeNoise, =0?@8<5@, <>65B 2K2>48BL =0 :>=A>;L 
72C:8 682>B=KE.  5B>4  eat 2K2>48B =0 :>=A>;L A?8A>: B>3>, G5< ?8B05BAO 
40==>5 682>B=>5.  5B>4 getDescription 2>72@0I05B >?8A0=85 682>B=>3>. 

Dog, Cat, Bear ?5@5>?@545;ONB <5B>4K makeNoise, eat, getDescription. 

%>7409B5 :;0AA �5B5@8=0@, 2 :>B>@>< >?@545;8B5 <5B>4 void 
treatAnimal(Animal animal). #CABL MB>B <5B>4 @0A?5G0BK205B name 8 >?8A0=85 
?@8H54H53> =0 ?@85< 682>B=>3>. 

� <5B>45 main A>7409B5 <0AA82 B8?0 Animal, 2 :>B>@K9 70?8H8B5 682>B=KE 
2A5E 8<5NI8EAO C 20A B8?>2. � F8:;5 >B?@02;O9B5 8E =0 ?@85< : 25B5@8=0@C. 
� >B45;L=>< F8:;5 2K7>28B5 <5B>4K  makeNoise, eat 4;O :064>3> 682>B=>3>. 

 

�484K4 5 

(83C@K 

%>7409B5 AC?5@ :;0AA Shape 8 53> =0A;54=8:>2 Circle, Rectangle. 

�;0AA Shape A>45@68B 01AB@0:B=K9 <5B>4 draw() 8 ?5@5<5==CN E@0=OICN 
F25B. 

�;0AAK Circle, Rectangle A>45@60B :>>@48=0BK B>G5:. 



%>740BL <0AA82 A>45@60I89 MB8 D83C@K. 

� F8:;5 =0@8A>20BL 8E (2K720BL <5B>4 draw). 

 

�484K4 6 

�=B5@=5B <03078=, G0ABL 1 

%>740BL :;0AA &>20@, 8<5NI89 ?5@5<5==K5 8<O, F5=0, @59B8=3.  

%>740BL :;0AA �0B53>@8O, 8<5NI89 ?5@5<5==K5 8<O 8 <0AA82 B>20@>2. 
%>740BL =5A:>;L:> >1J5:B>2 :;0AA0 �0B53>@8O.  

%>740BL :;0AA Basket, A>45@60I89 <0AA82 :C?;5==KE B>20@>2.  

%>740BL :;0AA User, A>45@60I89 ;>38=, ?0@>;L 8 >1J5:B :;0AA0 Basket. 
%>740BL =5A:>;L:> >1J5:B>2 :;0AA0 User. 

�K25AB8 =0 :>=A>;L :0B0;>3 ?@>4C:B>2. 

�K25AB8 =0 :>=A>;L ?>:C?:8 ?>A5B8B5;59 <03078=0. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 11. �5D45BF>4 CBFB>B6 6 GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL ?@>3@0<<K A 8A?>;L7>20=85< ?>B>:>2 2K?>;=5=8O. 

 

2 "9BD9F<K9E><= @4F9D<4? 

� 1>;LH8=AB2C A>2@5<5==KE @0A?@545;5==KE ?@8;>65=89 (Rich Client) 8 

251-?@8;>65=89 (Thin Client) 2K42830NBAO B@51>20=8O >4=>2@5<5==>9 

?>445@6:8 <=>38E ?>;L7>20B5;59, :064><C 87 :>B>@KE 2K45;O5BAO 

>B45;L=K9 ?>B>:, 0 B0:65 @0745;5=8O 8 ?0@0;;5;L=>9 >1@01>B:8 

8=D>@<0F8>==KE @5AC@A>2. 

�BFB>< 4 A@54AB2>, :>B>@>5 ?><>305B >@30=87>20BL >4=>2@5<5==>5 

2K?>;=5=85 =5A:>;L:8E 7040G, :064>9 2 =57028A8<>< ?>B>:5. #>B>:8 

?@54AB02;ONB A>1>9 M:75<?;O@K :;0AA>2, :064K9 87 :>B>@KE 70?CA:05BAO 8 

DC=:F8>=8@C5B A0<>AB>OB5;L=>, 02B>=><=> (8;8 >B=>A8B5;L=> 02B>=><=>) >B 

3;02=>3> ?>B>:0 2K?>;=5=8O ?@>3@0<<K. %CI5AB2C5B 420 A?>A>10 A>740=8O 8 

70?CA:0 ?>B>:0: =0 >A=>25 @0AH8@5=8O :;0AA0 Thread 8;8 @50;870F88 

8=B5@D59A0 Runnable: 

 

package by.bsu.threads; 

public class TalkThread extends Thread { 

     @Override 

      public void run() { 

for (int i = 0; i < 10; i++) { 

System.out.println("Talking"); 

try { 



Thread.sleep(7); // >AB0=>2:0 =0 7 <8;;8A5:C=4 

} catch (InterruptedException e) { 

System.err.print(e); 

} 

       } 

    } 

} 

#@8 @50;870F88 8=B5@D59A0 Runnable =5>1E>48<> >?@545;8BL 53> 
548=AB25==K9 01AB@0:B=K9 <5B>4 run(). !0?@8<5@: 

package by.bsu.threads; 

public class WalkRunnable implements Runnable { 

@Override 

public void run() { 

for (int i = 0; i < 10; i++) { 

System.out.println("Walking"); 

try { 

                 Thread.sleep(7); 

} catch (InterruptedException e) { 

                                    System.err.println(e); 

} 

  } 

    } 

 

} 

package by.bsu.threads; 

public class WalkTalk { 

public static void main(String[ ] args) { 

// =>2K5 >1J5:BK ?>B>:>2 

TalkThread talk = new TalkThread(); 



Thread walk = new Thread(new WalkRunnable()); 

// 70?CA: ?>B>:>2 

talk.start(); 

walk.start(); 

// WalkRunnable w = new WalkRunnable(); // ?@>AB> >1J5:B, =5 ?>B>: 

// w.run(); 8;8 talk.run(); // 2K?>;=8BAO <5B>4, => ?>B>: =5 70?CAB8BAO! 

     } 

      } 

 

�0?CA: 42CE ?>B>:>2 4;O >1J5:B>2 :;0AA>2 TalkThread =5?>A@54AB25==> 8 

WalkRunnable G5@57 8=8F80;870F8N M:75<?;O@0 Thread ?@82>48B : 2K2>4C 

AB@>:: Talking Walking. #>@O4>: 2K2>40, :0: ?@028;>, @07;8G5= ?@8 

=5A:>;L:8E 70?CA:0E ?@8;>65=8O. �=B5@D59A Runnable =5 8<55B <5B>40 

start(), 0 B>;L:> 548=AB25==K9 <5B>4 run(). #>MB><C 4;O 70?CA:0 B0:>3> 

?>B>:0, :0: WalkRunnable A;54C5B A>740BL M:75<?;O@ :;0AA0 Thread A 

?5@540G59 M:75<?;O@0 WalkRunnable 53> :>=AB@C:B>@C. "4=0:> ?@8 ?@O<>< 

2K7>25 <5B>40 run() ?>B>: =5 70?CAB8BAO, 2K?>;=8BAO B>;L:> B5;> A0<>3> 

<5B>40. 

�<;A9AAO= J<>? CBFB>4 

#@8 2K?>;=5=88 ?@>3@0<<K >1J5:B :;0AA0 Thread <>65B 1KBL 2 >4=>< 87 

G5BK@5E >A=>2=KE A>AB>O=89: «=>2K9», «@01>B>A?>A>1=K9», 

«=5@01>B>A?>A>1=K9» 8 «?0AA82=K9». #@8 A>740=88 ?>B>:0 >= ?>;CG05B 

A>AB>O=85 «=>2K9» (NEW) 8 =5 2K?>;=O5BAO. �;O ?5@52>40 ?>B>:0 87 

A>AB>O=8O «=>2K9» 2 A>AB>O=85 «@01>B>A?>A>1=K9» (RUNNABLE) A;54C5B 

2K?>;=8BL <5B>4 start(), :>B>@K9 2K7K205B <5B>4 run() 4 >A=>2=>9 <5B>4 

?>B>:0. 

#>B>: <>65B =0E>48BLAO 2 >4=>< 87 A>AB>O=89, A>>B25BAB2CNI8E M;5<5=B0< 

AB0B8G5A:8 2;>65==>3> ?5@5G8A;5=8O Thread.State: 



NEW 4 ?>B>: A>740=, => 5I5 =5 70?CI5=; 

RUNNABLE 4 ?>B>: 2K?>;=O5BAO; 

BLOCKED 4 ?>B>: 1;>:8@>20=; 

WAITING 4 ?>B>: 645B >:>=G0=8O @01>BK 4@C3>3> ?>B>:0; 

TIMED_WAITING 4 ?>B>: =5:>B>@>5 2@5<O 645B >:>=G0=8O 4@C3>3> 

?>B>:0; 

TERMINATED 4 ?>B>: 7025@H5=. 

#>;CG8BL B5:CI55 7=0G5=85 A>AB>O=8O ?>B>:0 <>6=> 2K7>2>< <5B>40 

getState(). #>B>: ?5@5E>48B 2 A>AB>O=85 «=5@01>B>A?>A>1=K9» 2 @568<5 

>6840=8O (WAITING) 2K7>2>< <5B>4>2 join(), wait(), suspend() (deprecated-

<5B>4) 8;8 <5B>4>2 22>40/2K2>40, :>B>@K5 ?@54?>;030NB 7045@6:C. �;O 

7045@6:8 ?>B>:0 =0 =5:>B>@>5 2@5<O (2 <8;;8A5:C=40E) <>6=> ?5@525AB8 53> 

2 @568< >6840=8O ?> 2@5<5=8 TIMED_WAITING) A ?><>ILN <5B>4>2 

yield(),sleep(longmillis), join(long timeout) 8 wait(long timeout), ?@8 

2K?>;=5=88 :>B>@KE <>65B 35=5@8@>20BLAO ?@5@K20=85 InterruptedException. 

�5@=CBL ?>B>:C @01>B>A?>A>1=>ABL ?>A;5 2K7>20 <5B>40 suspend() <>6=> 

<5B>4>< resume() (deprecated<5B>4), 0 ?>A;5 2K7>20 <5B>40 wait() 4 

<5B>40<8 notify()8;8 notifyAll(). #>B>: ?5@5E>48B 2 «?0AA82=>5» A>AB>O=85 

(TERMINATED), 5A;8 2K720=K <5B>4K interrupt(), stop() (deprecated-<5B>4) 

8;8 <5B>4 run() 7025@H8; 2K?>;=5=85, 8 70?CAB8BL 53> ?>2B>@=> C65 

=52>7<>6=>. #>A;5 MB>3>, GB>1K 70?CAB8BL ?>B>:, =5>1E>48<> A>740BL =>2K9 

>1J5:B ?>B>:0. 

 5B>4 interrupt() CA?5H=> 7025@H05B ?>B>:, 5A;8 >= =0E>48BAO 2 A>AB>O=88 

«@01>B>A?>A>1=K9». �A;8 65 ?>B>: =5@01>B>A?>A>15=, =0?@8<5@, =0E>48BAO 

2 A>AB>O=88 

TIMED_WAITING, B> <5B>4 8=8F88@C5B 8A:;NG5=85 



InterruptedException. +B>1K MB> =5 ?@>8AE>48;>, A;54C5B ?@5420@8B5;L=> 

2K720BL <5B>4 isInterrupted(), :>B>@K9 ?@>25@8B 2>7<>6=>ABL 7025@H5=8O 

@01>BK ?>B>:0. #@8 @07@01>B:5 =5 A;54C5B 8A?>;L7>20BL <5B>4K 

?@8=C48B5;L=>9 >AB0=>2:8 ?>B>:0, B0: :0: 2>7<>6=K ?@>1;5<K A 70:@KB85< 

@5AC@A>2 8 4@C38<8 2=5H=8<8 >1J5:B0<8.  5B>4K suspend(), resume() 8stop() 

O2;ONBAO deprecated-<5B>40<8 8 70?@5I5=K : 8A?>;L7>20=8N, B0: :0: >=8 =5 

O2;ONBAO 2 ?>;=>9 <5@5 «?>B>:>157>?0A=K<8». 

�484A<S 8?S E4@BEFBSF9?PAB7B D9L9A<S. 

$07@01>B0BL <=>3>?>B>G=>5 ?@8;>65=85. �A?>;L7>20BL 2>7<>6=>AB8, 

?@54>AB02;O5<K5 ?0:5B>< java.util.concurrent. !5 8A?>;L7>20BL A;>2> 

synchronized. �A5 ACI=>AB8, 65;0NI85 ?>;CG8BL 4>ABC? : @5AC@AC, 4>;6=K 

1KBL ?>B>:0<8. �A?>;L7>20BL 2>7<>6=>AB8 ""#. !5 8A?>;L7>20BL 

3@0D8G5A:89 8=B5@D59A. #@8;>65=85 4>;6=> 1KBL :>=A>;L=K<. 

1 #>@B. �>@01;8 70E>4OB 2 ?>@B 4;O @073@C7:8/703@C7:8 :>=B59=5@>2. +8A;> 

:>=B59=5@>2, =0E>4OI8EAO 2 B5:CI89 <><5=B 2 ?>@BC 8 =0 :>@01;5, 4>;6=> 

1KBL =5>B@8F0B5;L=K< 8 ?@52KH0NI8< 7040==CN 3@C7>?>4J5<=>ABL AC4=0 8 

2<5AB8<>ABL ?>@B0. � ?>@BC @01>B05B =5A:>;L:> ?@8G0;>2. ' >4=>3> ?@8G0;0 

<>65B AB>OBL >48= :>@01;L. �>@01;L <>65B 703@C60BLAO C ?@8G0;0, 

@073@C60BLAO 8;8 2K?>;=OBL >10 459AB28O. 

2  0;5=L:0O 181;8>B5:0. �>ABC?=K 4;O GB5=8O =5A:>;L:> :=83. "48=0:>2KE 

:=83 2 181;8>B5:5 =5B. !5:>B>@K5 2K40NBAO =0 @C:8, =5:>B>@K5 B>;L:> 2 

G8B0;L=K9 70;. +8B0B5;L <>65B 1@0BL =0 @C:8 8 2 G8B0;L=K9 70; =5A:>;L:> 

:=83. 



3 �2B>AB>O=:0. �>ABC?=> =5A:>;L:> <0H8=><5AB. !0 >4=>< <5AB5 <>65B 

=0E>48BLAO B>;L:> >48= 02B><>18;L. �A;8 2A5 <5AB0 70=OBK, B> 02B><>18;L 

=5AB0=5B 640BL 1>;LH5 >?@545;5==>3> 2@5<5=8 8 C545B =0 4@C3C AB>O=:C. 

4 CallCenter. � >@30=870F88 @01>B05B =5A:>;L:> >?5@0B>@>2. "?5@0B>@ <>65B 

>1A;C6820BL B>;L:> >4=>3> :;85=B0, >AB0;L=K5 4>;6=K 640BL A2>59 >G5@548. 

�;85=B <>65B ?>;>68BL B@C1:C 8 ?5@572>=8BL 5I5 @07 G5@57 =5:>B>@>5 

2@5<O. 

5 �2B>1CA=K5 >AB0=>2:8. !0 <0@H@CB5 =5A:>;L:> >AB0=>2>:. !0 >4=>9 

>AB0=>2:5 <>65B >AB0=02;820BLAO =5A:>;L:> 02B>1CA>2 >4=>2@5<5==>, => =5 

1>;55 7040==>3> G8A;0. 

6 %2>1>4=0O :0AA0. � @5AB>@0=5 1KAB@>3> >1A;C6820=8O 5ABL =5A:>;L:> :0AA. 

#>A5B8B5;8 AB>OB 2 >G5@548 2 :>=:@5B=CN :0AAC, => <>3CB ?5@59B8 2 4@C3CN 

>G5@54L ?@8 C<5=LH5=88 8;8 8AG57=>25=88 B0< >G5@548. 

7 &>==5;L. � 3>@0E ACI5AB2C5B 420 65;57=>4>@>6=KE B>==5;O, ?> :>B>@K< 

?>5740 <>3CB 42830BLAO 2 >1>8E =0?@02;5=8OE. #> >1>8< :>=F0< B>==5;O 

A>1@0;>AL <=>3> ?>574>2. "15A?5G8BL 157>?0A=>5 ?@>E>645=85 B>==5;59 2 

>1>8E =0?@02;5=8OE. #>574 <>6=> ?5@5=0?@028BL 87 >4=>3> B>==5;O 2 4@C3>9 

?@8 ?@52KH5=88 7040==>3> 2@5<5=8 >6840=8O =0 ?@>574. 

8 �0=:. �<55BAO 10=: A :0AA8@0<8, :;85=B0<8 8 8E AG5B0<8. �;85=B <>65B 

A=8<0BL/?>?>;=OBL/?5@52>48BL/>?;0G820BL/>1<5=820BL 45=56=K5 A@54AB20. 

�0AA8@ ?>A;54>20B5;L=> >1A;C68205B :;85=B>2. #>B>:-=01;N40B5;L A;548B, 

GB>1K 2 :0AA0E 2A5340 1K;8 =0;8G=K5, ?@8 A:>?;5=88 45=53 1>;55 

>?@545;5==>9 AC<<K, G0ABL 8E ?5@52>48BAO 2 E@0=8;8I5, ?@8 8AB>I5=88 



70?0A>2 =0;8G=KE ?@>8AE>48B ?>?>;=5=85 87 E@0=8;8I0. 

9 �C:F8>=. !0 B>@38 2KAB02;O5BAO =5A:>;L:> ;>B>2. 'G0AB=8:8 0C:F8>=0 

45;0NB 70O2:8. �0O2:C <>6=> :>@@5:B8@>20BL 2 AB>@>=C C25;8G5=8O 

=5A:>;L:> 

@07 70 B>@38 >4=>3> ;>B0. �C:F8>= >?@545;O5B ?>1548B5;O 8 ?5@5E>48B : 

A;54CNI5<C ;>BC. 'G0AB=8:, =5 70?;0B82H89 70 ;>B 2 7040==K9 ?@><56CB>: 

2@5<5=8, >BAB@0=O5BAO =0 =5A:>;L:> ;>B>2 >B B>@3>2. 

10 �8@60. !0 B>@30E 1@>:5@K ?@54;030NB 0:F88 =5A:>;L:8E D8@<. !0 18@65 

A>25@H0NBAO 459AB28O ?> :C?;5-?@>4065 0:F89. � 7028A8<>AB8 >B 

:>;8G5AB20 

?@>40==KE-:C?;5==KE 0:F89 8E F5=0 87<5=O5BAO. �@>:5@K ?@54;030NB : 

?@>4065 =5:>B>@CN G0ABL 0:F89. "B 0:B82=>AB8 8 @>AB0-?045=8O :>B8@>2>: 

0:F89 87<5=O5BAO 8=45:A 18@68. �8@60 <>65B ?@8>AB0=>28BL B>@38?@8 

@57:>< ?045=88 8=45:A0. 

11 �M@>?>@B. #>A04:0/2KA04:0 ?0AA068@>2 <>65B >ACI5AB2;OBLAO G5@57 

:>=5G=>5 G8A;> B5@<8=0;>2 8 =075<=K< A?>A>1>< G5@57 :>=5G=>5 G8A;> 

B@0?>2. %0<>;5BK 1K20NB @07=>9 2<5AB8<>AB8 8 40;L=>AB8 ?>;5B0. 

"@30=87>20BL DC=:F8>=8@>20=85 0M@>?>@B0, 5A;8 ?C=:B>2 =07=0G5=8O 436, 8 

7>= 40;L=>AB8 233. 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 12. �5D45BF>4 H4=?B6 6 GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL ?@>3@0<<K A 8A?>;L7>20=85< >1@01>B:8 D09;>2. 

 

2 "9BD9F<K9E><= @4F9D<4? 

� Java <K <>65< @01>B0BL A D09;0<8 A ?><>ILN :;0AA0 File. -B>B :;0AA File 

=0E>48BAO 2=CB@8 ?0:5B0 java.io . �;0AA File <>6=> 8A?>;L7>20BL, A>7402 

>1J5:B :;0AA0 8 70B5< C:0702 8<O D09;0. 

�4K9@ FD95G9FES B5D45BF>4 H4=?B6? 

"1@01>B:0 D09;>2 O2;O5BAO =5>BJ5<;5<>9 G0ABLN ;N1>3> O7K:0 

?@>3@0<<8@>20=8O, ?>A:>;L:C >1@01>B:0 D09;>2 ?>72>;O5B =0< A>E@0=OBL 

2KE>4=K5 40==K5 ;N1>9 :>=:@5B=>9 ?@>3@0<<K 2 D09;5 8 2K?>;=OBL A =8< 

>?@545;5==K5 >?5@0F88. 

#@>ABK<8 A;>20<8, >1@01>B:0 D09;>2 >7=0G05B GB5=85 8 70?8AL 40==KE 2 

D09;. 

// Importing File Class 

import java.io.File; 

  

class GFG { 

    public static void main(String[] args) 

    { 

  

        // File name specified 

        File obj = new File("myfile.txt"); 



          System.out.println("File Created!"); 

    } 

} 

� Java :>=F5?F8O Stream 8A?>;L7C5BAO 4;O 2K?>;=5=8O >?5@0F89 22>40-

2K2>40 =04 D09;><. �B0:, A=0G0;0 40209B5 ?>7=0:><8<AO A :>=F5?F859, 

8725AB=>9 2 Java :0: Stream. 

 

 

 

 

 

�9FB8O H4=?B6B7B >?4EE4 Java 

� A;54CNI59 B01;8F5 ?@54AB02;5=K =5A:>;L:> <5B>4>2 D09;>2>3> :;0AA0: 

�@S @9FB84 �C<E4A<9 
ВB;6D4M49@O= 

F<C 

CanRead() 
#@>25@O5B, 4>ABC?5= ;8 D09; 4;O 

GB5=8O 8;8 =5B. 
�>38G5A:>5 
7=0G5=85 

CanWrite() 
#@>25@O5B, 4>ABC?5= ;8 D09; 4;O 

70?8A8 8;8 =5B. 
�>38G5A:>5 
7=0G5=85 

createNewFile() -B> A>7405B ?CAB>9 D09;. �>38G5A:>5 
7=0G5=85 

G84?<FP() -B> ?@82>48B : C40;5=8N D09;0. �>38G5A:>5 
7=0G5=85 



�@S @9FB84 �C<E4A<9 
ВB;6D4M49@O= 

F<C 

EGM9EF6G9F() #@>25@O5B, ACI5AB2C5B D09; 8;8 
=5B. 

�>38G5A:>5 
7=0G5=85 

8?<A4() �>72@0I05B @07<5@ D09;0 2 
109B0E. �;8==K9 

getName() �>72@0I05B 8<O D09;0. %B@>:0 

EC<EB>() �>72@0I05B <0AA82 D09;>2 2 
:0B0;>35. %B@>:0[] 

mkdir() %>7405B =>2K9 :0B0;>3. �>38G5A:>5 
7=0G5=85 

getAbsolutePath() 
�>72@0I05B 01A>;NB=K9 ?CBL : 

D09;C. %B@>:0 

 

 

$4=?B6O9 BC9D4J<< A4 Java 

!865 ?@82545=K =5A:>;L:> >?5@0F89, :>B>@K5 <>6=> 2K?>;=8BL A D09;>< 

=0 Java : 

 %>7409B5 D09; 

 +B5=85 87 D09;0 

 �0?8AL 2 D09; 

 '40;8BL D09; 

&5?5@L 40209B5 ?>4@>1=> 87CG8< :064CN 87 2KH5?5@5G8A;5==KE >?5@0F89. 

1. !B;84=F9 H4=? 



�;O B>3>, GB>1K A>740BL D09; =0 Java, 2K <>65B5 8A?>;L7>20BL <5B>4 

createNewFile(). 

�A;8 D09; CA?5H=> A>740=, >= 25@=5B ;>38G5A:>5 7=0G5=85 true 8 false, 5A;8 

D09; C65 ACI5AB2C5B. 

!865 ?@82545=0 45<>=AB@0F8O B>3>, :0: A>740BL D09; =0 Java : 

 

// Import the File class 

import java.io.File; 

  

// Import the IOException class to handle errors 

import java.io.IOException; 

  

public class GFG { 

    public static void main(String[] args) 

    { 

  

        try { 

            File Obj = new File("myfile.txt"); 

            if (Obj.createNewFile()) { 

                System.out.println("File created: " 

                                   + Obj.getName()); 

            } 

            else { 



                System.out.println("File already exists."); 

            } 

        } 

        catch (IOException e) { 

            System.out.println("An error has occurred."); 

            e.printStackTrace(); 

        } 

    } 

}  



2. 'F9A<9 <; H4=?4 

  K 1C45< 8A?>;L7>20BL :;0AA Scanner 4;O GB5=8O A>45@68<>3> 87 D09;0. 

!865 ?@82545=0 45<>=AB@0F8O B>3>, :0: G8B0BL A>45@68<>5 87 D09;0 2 Java : 

// Import the File class 

import java.io.File; 

// Import this class for handling errors 

import java.io.FileNotFoundException;  

// Import the Scanner class to read content from text files 

import java.util.Scanner;  

public class GFG { 

    public static void main(String[] args) 

    { 

        try { 

            File Obj = new File("myfile.txt"); 

            Scanner Reader = new Scanner(Obj); 

            while (Reader.hasNextLine()) { 

                String data = Reader.nextLine(); 

                System.out.println(data); 

            } 

            Reader.close(); 

        } 

        catch (FileNotFoundException e) { 

            System.out.println("An error has occurred."); 



            e.printStackTrace(); 

        } 

    } 

} 

 

3. �4C<EP 6 H4=? 

 K 8A?>;L7C5< :;0AA FileWriter 2<5AB5 A 53> <5B>4>< write() 4;O 

70?8A8 =5:>B>@>3> B5:AB0 2 D09;. !865 ?@82545=0 45<>=AB@0F8O B>3>, :0: 

70?8A0BL B5:AB 2 D09; =0 Java 

// Import the FileWriter class 

import java.io.FileWriter;  

  

// Import the IOException class for handling errors 

import java.io.IOException;  

  

public class GFG { 

    public static void main(String[] args) 

    { 

        try { 

            FileWriter Writer 

                = new FileWriter("myfile.txt"); 

            Writer.write( 

                "Files in Java are seriously good!!"); 



            Writer.close(); 

            System.out.println("Successfully written."); 

        } 

        catch (IOException e) { 

            System.out.println("An error has occurred."); 

            e.printStackTrace(); 

        } 

    } 

} 

 

4. #84?9A<9 H4=?4 

�;O C40;5=8O D09;0 <K 8A?>;L7C5< <5B>4 delete(). !865 ?@82545=0 

45<>=AB@0F8O B>3>, :0: C40;8BL D09; =0 Java : 

 

// Import the File class 

import java.io.File;  

  

public class GFG { 

    public static void main(String[] args) 

    { 

        File Obj = new File("myfile.txt"); 

        if (Obj.delete()) { 

            System.out.println("The deleted file is : " 



                               + Obj.getName()); 

        } 

        else { 

            System.out.println( 

                "Failed in deleting the file."); 

        } 

    } 

} 

 

�484K< 8?S E4@BEFBSF9?PAB7B D9L9A<S 

1. !0?8A0BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0 8 2K2>48B 53> =0 M:@0=. 

2. $50;87>20BL ?@>3@0<<C, :>B>@0O AG8BK205B G8A;0 87 B5:AB>2>3> 

D09;0, AC<<8@C5B 8E 8 2K2>48B @57C;LB0B =0 M:@0=. 

3. %>740BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0, C40;O5B 87 =53> 2A5 A8<2>;K ?C=:BC0F88 8 A>E@0=O5B @57C;LB0B 2 

=>2K9 D09;. 

4. $07@01>B0BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 =5A:>;L:8E 

B5:AB>2KE D09;>2, >1J548=O5B 8E 2 >48= D09; 8 A>E@0=O5B @57C;LB0B. 

5. !0?8A0BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0, 70<5=O5B 2 =5< 2A5 2E>645=8O >4=>3> A;>20 =0 4@C3>5 8 A>E@0=O5B 

@57C;LB0B. 

6. $50;87>20BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0, >?@545;O5B :>;8G5AB2> AB@>: 8 A;>2 2 D09;5 8 2K2>48B @57C;LB0B =0 

M:@0=. 



7. %>740BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0 8 A>@B8@C5B AB@>:8 2 0;D028B=>< ?>@O4:5, A>E@0=OO @57C;LB0B. 

8. $07@01>B0BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 =5A:>;L:8E 

B5:AB>2KE D09;>2, >1J548=O5B 8E 2 >48= D09; 8 A>@B8@C5B AB@>:8 ?> 4;8=5, 

A>E@0=OO @57C;LB0B. 

9. !0?8A0BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0, >?@545;O5B G0AB>BC 2AB@5G05<>AB8 :064>3> A;>20 8 2K2>48B =0 M:@0= 

A0<K5 G0AB> 2AB@5G0NI85AO A;>20. 

10. $50;87>20BL ?@>3@0<<C, :>B>@0O AG8BK205B A>45@68<>5 B5:AB>2>3> 

D09;0, >?@545;O5B :>;8G5AB2> C=8:0;L=KE A;>2 8 2K2>48B @57C;LB0B =0 

M:@0=. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 13. ДBD45BF>4 CD<?B:9A<S E GK9FB@ B5D45BF>< 
H4=?B6 < CBFB>B6. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL ?@>3@0<<K A 8A?>;L7>20=85< ?>B>:>2. 

 

2 "9BD9F<K9E><= @4F9D<4? 

#>B>:8 =0 Java 

 � Java ?>A;54>20B5;L=>ABL 40==KE 8725AB=0 :0: ?>B>:. 

 -B0 :>=F5?F8O 8A?>;L7C5BAO 4;O 2K?>;=5=8O >?5@0F89 22>40-2K2>40 
=04 D09;><. 

 %CI5AB2C5B 420 B8?0 ?>B>:>2 : 

1. ВIB8AB= CBFB>: 

�;0AA Java InputStream O2;O5BAO AC?5@:;0AA>< 2A5E 2E>4=KE 
?>B>:>2. �E>4=>9 ?>B>: 8A?>;L7C5BAO 4;O GB5=8O 40==KE A <=>3>G8A;5==KE 
CAB@>9AB2 22>40, B0:8E :0: :;0280BC@0, A5BL 8 B.4. InputStream - MB> 
01AB@0:B=K9 :;0AA, 8 87-70 MB>3> >= 15A?>;575= A0< ?> A515. "4=0:> 53> 
?>4:;0AAK 8A?>;L7CNBAO 4;O GB5=8O 40==KE. 

%CI5AB2C5B =5A:>;L:> ?>4:;0AA>2 :;0AA0 InputStream, : :>B>@K< >B=>AOBAO 
A;54CNI85: 

1. AudioInputStream 

2. ByteArrayInputStream 

3. FileInputStream 

4. FilterInputStream 

5. StringBufferInputStream 

6. ObjectInputStream 

!B;84A<9 6IB8AB7B CBFB>4 

// Creating an InputStream 

InputStream obj = new FileInputStream(); 

�45AL ?>B>: 22>40 A>7405BAO A ?><>ILN FileInputStream. 



�9FB8O InputStream 

S 

No. �9FB8 �C<E4A<9 

1 G8B0BL() %G8BK205B >48= 109B 40==KE 87 2E>4=>3> 
?>B>:0. 

2 
GB5=85 (<0AA82 
109B[])() 

%G8BK205B 109B 87 ?>B>:0 8 A>E@0=O5B MB>B 109B 
2 C:070==>< <0AA825. 

3 >B<5B8BL() "= >B<5G05B ?>78F8N 2> 2E>4=>< ?>B>:5 4> B5E 
?>@, ?>:0 40==K5 =5 1C4CB ?@>G8B0=K. 

4 4>ABC?=> () �>72@0I05B :>;8G5AB2> 109B>2, 4>ABC?=KE 2> 
2E>4=>< ?>B>:5. 

5 
(C=:F8O 
markSupported() 

#@>25@O5BAO, ?>445@6820NBAO ;8 2 ?>B>:5 
<5B>4K mark() 8 reset(). 

6 A1@>A () �>72@0I05B M;5<5=B C?@02;5=8O 2 B>G:C, 345 
1K;0 CAB0=>2;5=0 <5B:0 2=CB@8 ?>B>:0. 

7 ?@>?CA:05B () #@>?CA:05B 8 C40;O5B >?@545;5==>5 :>;8G5AB2> 
109B>2 87 2E>4=>3> ?>B>:0. 

8 70:@KBL() �0:@K205B 2E>4=>9 ?>B>:. 

 

2. ВOIB8AB= CBFB>: 

�KE>4=>9 ?>B>: 8A?>;L7C5BAO 4;O 70?8A8 40==KE =0 <=>3>G8A;5==K5 
CAB@>9AB20 2K2>40, B0:85 :0: <>=8B>@, D09; 8 B.4. OutputStream - MB> 
01AB@0:B=K9 AC?5@:;0AA, ?@54AB02;ONI89 2KE>4=>9 ?>B>:. OutputStream - 

MB> 01AB@0:B=K9 :;0AA, 8 87-70 MB>3> >= 15A?>;575= A0< ?> A515. "4=0:> 53> 
?>4:;0AAK 8A?>;L7CNBAO 4;O 70?8A8 40==KE. 



%CI5AB2C5B =5A:>;L:> ?>4:;0AA>2 :;0AA0 OutputStream, :>B>@K5 
70:;NG0NBAO 2 A;54CNI5<: 

1. ByteArrayOutputStream 

2. FileOutputStream 

3. StringBufferOutputStream 

4. ObjectOutputStream 

5. #>B>: 2K2>40 40==KE 

6. PrintStream 

!B;84A<9 CBFB>4 6O6B84 

// Creating an OutputStream 

OutputStream obj = new FileOutputStream(); 

�45AL 2KE>4=>9 ?>B>: A>7405BAO A ?><>ILN FileOutputStream. 

�9FB8O OutputStream 

S. 

�9F. �9FB8 �C<E4A<9 

1. write() �0?8AK205B C:070==K9 109B 2 2KE>4=>9 ?>B>:. 

2. 
70?8AL (<0AA82 
109B[]) 

�0?8AK205B 109BK, =0E>4OI85AO 2=CB@8 
>?@545;5==>3> <0AA820, 2 2KE>4=>9 ?>B>:. 

3. 70:@KBL() �0:@K205B 2KE>4=>9 ?>B>:. 

4. flush() 

#@8=C48B5;L=> 70?8AK205B 2A5 40==K5, 
?@8ACBAB2CNI85 2 2KE>4=>< ?>B>:5, 2 ?C=:B 
=07=0G5=8O. 

 

В ;46<E<@BEF< BF F<C4 84AAOI EGM9EF6G9F 864 F<C4 CBFB>B6 : 

1. �BFB> 54=FB6: 

-B>B ?>B>: 8A?>;L7C5BAO 4;O GB5=8O 8;8 70?8A8 109B>2KE 40==KE. #>B>: 
109B>2 A=>20 ?>4@0745;O5BAO =0 420 B8?0, :>B>@K5 O2;ONBAO A;54CNI8<8: 



 �BFB> 66B84 54=FB6: 8A?>;L7C5BAO 4;O GB5=8O 109B>2KE 40==KE A 
@07=KE CAB@>9AB2. 

 �BFB> 6O6B84 54=FB6: 8A?>;L7C5BAO 4;O 70?8A8 109B>2KE 40==KE =0 
@07;8G=K5 CAB@>9AB20. 

2. �BFB> E<@6B?B6: 

-B>B ?>B>: 8A?>;L7C5BAO 4;O GB5=8O 8;8 70?8A8 A8<2>;L=KE 
40==KE. %8<2>;L=K9 ?>B>: A=>20 ?>4@0745;O5BAO =0 2 B8?0, :>B>@K5 
A;54CNI85: 

 �BFB> 66B84 E<@6B?B6: 8A?>;L7C5BAO 4;O GB5=8O A8<2>;L=KE 40==KE 
A @07=KE CAB@>9AB2. 

 �BFB> 6O6B84 E<@6B?B6: 8A?>;L7C5BAO 4;O 70?8A8 A8<2>;L=KE 
40==KE =0 @07;8G=K5 CAB@>9AB20. 

#>A:>;L:C 2K 7=05B5, GB> B0:>5 stream, 40209B5 CA>25@H5=AB2C5< >1@01>B:C 
D09;>2 =0 Java, C3;C182 ?>=8<0=85 @07;8G=KE <5B>4>2, ?>;57=KE 4;O 
2K?>;=5=8O >?5@0F89 A D09;0<8, B0:8E :0: A>740=85, GB5=85 8 70?8AL 
D09;>2. 

�A8<6<8G4?PAO9 ;484A<S 

1) К?4EE FileCopy 

�9D9C<E4FP >?4EE FileCopy: 

package io; 

 

import java.io.FileInputStream; 

import java.io.FileOutputStream; 

import java.io.IOException; 

 

public class FileCopy { 

    public static void main(String[] args) throws IOException { 

        FileInputStream fileIn = null; 

        FileOutputStream fileOut = null; 

 

        try { 



            fileIn = new FileInputStream("src\\io\\file.txt"); 

            fileOut = new FileOutputStream("src\\io\\copied_file.txt"); 

 

            int a; 

            while ((a = fileIn.read()) != -1) { 

                fileOut.write(a); 

            } 

        } finally { 

            if (fileIn != null) { 

                fileIn.close(); 

            } 

            if (fileOut != null) { 

                fileOut.close(); 

            } 

        } 

    } 

} 

1. �>1028BL 1;>: try-with-resources. 

2. �>1028BL catch 1;>: 4;O >1@01>B:8 IOException. 

2) К?4EE FileInputOutputStreamDemo 

�9D9C<E4FP >?4EE FileInputOutputStreamDemo: 

package io; 

 

import java.io.FileInputStream; 

import java.io.FileOutputStream; 

import java.io.InputStream; 

import java.io.OutputStream; 

import java.io.IOException; 

 



public class FileInputOutputStreamDemo { 

    public static void main(String[] args) { 

        try { 

            char[] symbols = {'a', 'b', 'c'}; 

            OutputStream output = new FileOutputStream("a.txt"); 

            for (int i = 0; i < symbols.length; i++) { 

                // �0?8AL :064>3> A8<2>;0 2 B5:AB>2K9 D09; 

                output.write(symbols[i]); 

            } 

            output.close(); 

 

            InputStream input = new FileInputStream("a.txt"); 

            int size = input.available(); 

 

            for (int i = 0; i < size; i++) { 

                // +B5=85 B5:AB>2>3> D09;0 ?>A8<2>;L=> 

                System.out.print((char) input.read() + " "); 

            } 

            input.close(); 

        } catch (IOException e) { 

            System.out.print("Exception"); 

        } 

    } 

} 

1. �>1028BL 1;>: try-with-resources.  

2. �0<5=8B5 for (int i = 0; i < c.length; i++)=0 1;>: for-each. 

3. #CABL file.txt 70?8AK205BAO 2 :0B0;>3 src/io. 

3) КBC<DB64A<9 H4=?4 6 8DG7B= H4=? 



1. !0?8A0BL :;0AA, :>B>@K9 :>?8@C5B A>45@68<>5 87 >4=>3> D09;0 2 
4@C3>9. 

2. �A?>;L7C5< 

:;0AAK BufferedReader, FileReader, BufferedWriter, FileWriter. 

4) !C<EB> >4F4?B74 

1. !0?8A0BL <5B>4 :>B>@K9 F8:;8G5A:8 ?@>A<0B@8205B A>45@68<>5 
7040==>3> :0B0;>30 8 2K2>48B =0 ?5G0BL 8=D>@<0F8N > 2A5E D09;0E 8 
:0B0;>30E, =0E>4OI8EAO 2 =5< 8 2 53> ?>4:0B0;>30E. 

2. �A?>;L7C5< @5:C@A8N. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 14. �ECB?P;B64A<9 >B??9>J<= 6 GK95AB@ 
CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL ?@>3@0<<K A 8A?>;L7>20=85< :>;;5:F89. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�>;;5:F88 8;8 :>=B59=5@K 4 MB> :;0AAK ?>72>;ONI85 E@0=8BL 8 

?@>872>48BL >?5@0F88 =04 <=>65AB2>< >1J5:B>2. �>;;5:F88 8A?>;L7CNBAO 

4;O A>E@0=5=8O, ?>;CG5=8O, <0=8?C;8@>20=8O 40==K<8 8 >15A?5G820NB 

03@530F8N >4=8E >1J5:B>2 4@C38<8. 

#@8 ?@>3@0<<8@>20=88 =0 Java >?5@0F89 =04 3@C??>9 >4=>B8?=KE >1J5:B>2 

206=> 2K18@0BL =081>;55 MDD5:B82=CN AB@C:BC@C 40==KE (:;0AA) 4;O 

E@0=5=8O MB8E >1J5:B>2. � O7K:5 java >?@545;5=K A?5F80;L=K5 :;0AAK 4;O 

E@0=5=8O >4=>B8?=KE >1J5:B>2, :>B>@K5 

=07K20NBAO :>;;5:F8O<8, >?@545;ONI8<8 B0:85 AB@C:BC@K :0: A?8A>:, 

<=>65AB2>,>G5@54L. 

�K1>@ >?@545;5==>3> :;0AA0 4;O @01>BK A :>;;5:F8O<8 >?@545;O5B =01>@ 

<5B>4>2, :>B>@K5 1C4CB 4>ABC?=K 4;O >1J5:B0 MB>3> :;0AA0. !0?@8<5@, 5A;8 

8A?>;L7C5BAO A?8A>: (:>B>@K9 >?@545;O5B 8=B5@D59A List), B> ACI5AB2C5B 

2K1>@ 4;O 53> @50;870F88: ArrayList,LinkedList,Vector,Stack. �>=:@5B=K9 

2K1>@ @50;870F88 A?8A:0 A:07K205BAO =0 MDD5:B82=>AB8 <0=8?C;OF89 A 

>1J5:B0<8 A?8A:0. &0:, ArrayList E@0=8B M;5<5=BK 2 2845 <0AA820, 0 7=0G8B, 

4>ABC? 8 70<5=0 1C45B 2K?>;=OBLAO >B=>A8B5;L=> 1KAB@>. � B> 65 2@5<O 

LinkedList E@0=8B M;5<5=BK 2 2845 A2O7=>3> A?8A:0, GB> 2;5G5B 70 A>1>9 

>B=>A8B5;L=> <54;5==K9 ?>8A: M;5<5=B>2 8 1KAB@CN >?5@0F8N 

4>102;5=8O/C40;5=8O.  

 $0AA<>B@8< ?@8<5@ 



'?@02;5=85 A?8A:>< ABC45=B>2 2 C=825@A8B5B5, 2:;NG0O 4>102;5=85 =>2KE 

ABC45=B>2, C40;5=85 AB0@KE, ?>8A: :>=:@5B=>3> ABC45=B0 ?> 845=B8D8:0B>@C 

8 2K2>4 A?8A:0 ABC45=B>2 >?@545;5==>3> :C@A0 

import java.util.ArrayList; 

import java.util.List; 

 

class Student { 

    private int id; 

    private String name; 

    private int course; 

 

    public Student(int id, String name, int course) { 

        this.id = id; 

        this.name = name; 

        this.course = course; 

    } 

 

    // 35BB5@K 8 A5BB5@K 

    public int getId() { 

        return id; 

    } 

 

    public String getName() { 

        return name; 

    } 

 

    public int getCourse() { 

        return course; 

    } 

} 



 

class University { 

    private List<Student> students; 

 

    public University() { 

        students = new ArrayList<>(); 

    } 

 

    public void addStudent(Student student) { 

        students.add(student); 

    } 

 

    public void removeStudent(int id) { 

        students.removeIf(s -> s.getId() == id); 

    } 

 

    public Student findStudentById(int id) { 

        for (Student student : students) { 

            if (student.getId() == id) { 

                return student; 

            } 

        } 

        return null; 

    } 

 

    public List<Student> getStudentsByCourse(int course) { 

        List<Student> studentsByCourse = new ArrayList<>(); 

        for (Student student : students) { 

            if (student.getCourse() == course) { 

                studentsByCourse.add(student); 



            } 

        } 

        return studentsByCourse; 

    } 

} 

 

public class Main { 

    public static void main(String[] args) { 

        University university = new University(); 

 

        // �>102;5=85 =>2>3> ABC45=B0 

        university.addStudent(new Student(1, "�20=>2", 3)); 

        university.addStudent(new Student(2, "#5B@>2", 2)); 

        university.addStudent(new Student(3, "%84>@>2", 1)); 

 

        // '40;5=85 ABC45=B0 

        university.removeStudent(2); 

 

        // #>8A: ABC45=B0 ?> 845=B8D8:0B>@C 

        System.out.println(university.findStudentById(1).getName()); 

 

        // �K2>4 A?8A:0 ABC45=B>2 >?@545;5==>3> :C@A0 

        List<Student> studentsByCourse = university.getStudentsByCourse(3); 

        for (Student student : studentsByCourse) { 

            System.out.println(student.getName()); 

        } 

    } 

} 

 

 



 

 

 

�A8<6<8G4?PAO9 ;484A<S 

1) � :@C3C AB>OB N G5;>25:, ?@>=C<5@>20==KE >B 1 4> N. #@8 2545=88 AG5B0 
?> :@C3C 2KG5@:8205BAO :064K9 2B>@>9 G5;>25:, ?>:0 =5 >AB0=5BAO >48=. 
%>AB028BL 425 ?@>3@0<<K, <>45;8@CNI85 ?@>F5AA. "4=0 87 ?@>3@0<< 
4>;6=0 8A?>;L7>20BL :;0AA ArrayList, 0 2B>@0O3 LinkedList. �0:0O 87 42CE 
?@>3@0<< @01>B05B 1KAB@55? #>G5<C? 

2)�040= A?8A>: F5;KE G8A5; 8 G8A;> X. !5 8A?>;L7CO 2A?><>30B5;L=KE 
>1J5:B>2 8 =5 87<5=OO @07<5@0 A?8A:0, ?5@5AB028BL M;5<5=BK A?8A:0 B0:, 
GB>1K A=0G0;0 H;8 G8A;0, =5 ?@52>AE>4OI85 X, 0 70B5< G8A;0, 1>;LH5 X. 

3) !0?8A0BL ?@>3@0<<C, >ACI5AB2;ONICN A60B85 0=3;89A:>3> B5:AB0. 
#>AB@>8BL 4;O :064>3> A;>20 2 B5:AB5 >?B8<0;L=K9 ?@5D8:A=K9 :>4 ?> 
0;3>@8B<C )0DD<5=0. �A?>;L7>20BL :;0AA PriorityQueue. 

4) $50;87>20BL :;0AA Graph, ?@54AB02;ONI89 A>1>9 =5>@85=B8@>20==K9 
3@0D. � :>=AB@C:B>@5 :;0AA0 ?5@5405BAO :>;8G5AB2> 25@H8= 2 3@0D5.  5B>4K 
4>;6=K ?>445@6820BL 1KAB@>5 4>102;5=85 8 C40;5=85 @515@. 

5) !0 1075 :>;;5:F89 @50;87>20BL AB@C:BC@C E@0=5=8O G8A5; A ?>445@6:>9 
A;54CNI8E >?5@0F89: 
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2>7@0AB0=8N. �0B5< >1J548=8BL A?8A:8 C1 8 %2 2 >48= C?>@O4>G5==K9 
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?@81;865==>5 G8A;> R <5B>4>< =08<5=LH8E :204@0B>2. 

29) %>740BL AB5: 87 =><5@>2 70?8A8. "@30=87>20BL ?@O<>9 4>ABC? : 
M;5<5=B0< 70?8A8. 

30) �040BL 420 AB5:0, ?><5=OBL 8=D>@<0F8N <5AB0<8. 

 КBAFDB?PAO9 6BCDBEO 

1)+B> B0:>5 :>;;5:F88? #5@5G8A;8B5 B8?K :>;;5:F88. 

2)+5< >B;8G05BAO ArrayList >B LinkedList? #@82548B5 4>AB>8=AB20 8 
=54>AB0B:8 :064>9 87 

=8E. 

3) �0: CAB@>5=0 HashMap? 

4) $>;L equals 8 hashCode? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 15.  94?<;4J<S C4D4@9FD<;B64AAB7B <AF9DH9=E4 
6 GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL ?@>3@0<<K A 8A?>;L7>20=85< ?0@0<5B@87>20==>3> 
8=B5@D59A0 . 

 

2 "9BD9F<K9E><= @4F9D<4? 

 

#0@0<5B@87>20==K5 B8?K ?>72>;ONB >1JO2;OBL :;0AAK, 8=B5@D59AK 8 

<5B>4K, 345 B8? 40==KE, :>B>@K<8 >=8 >?5@8@CNB, C:070= 2 2845 ?0@0<5B@0. 

�A?>;L7CO 465=5@8:8, <>6=> A>740BL 548=AB25==K9 :;0AA, =0?@8<5@, 

:>B>@K9 1C45B 02B><0B8G5A:8 @01>B0BL A @07=K<8 B8?0<8 40==KE. 

�;0AAK, 8=B5@D59AK 8;8 <5B>4K, 8<5NI85 45;> A ?0@0<5B@87>20==K<8 

B8?0<8, =07K20NBAO ?0@0<5B@87>20==K<8 8;8 >1>1I5=8O<8, 

?0@0<5B@87>20==K<8 (>1>1I5==K<8) :;0AA0<8 8;8 ?0@0<5B@87>20==K<8 

(>1>1IP==K<8) <5B>40<8. 

� <5B>40E ?0@0<5B@87>20==>3> :;0AA0 <>6=> 8A?>;L7>20BL ?0@0<5B@ B8?0, 0 

A;54>20B5;L=>, >=8 AB0=>2OBAO ?0@0<5B@87>20==K<8 >B=>A8B5;L=> ?0@0<5B@0 

B8?0. !> <>6=> >1JO28BL ?0@0<5B@87>20==K9 <5B>4, 2 :>B>@>< 

=5?>A@54AB25==> 8A?>;L7C5BAO >48= 8;8 =5A:>;L:> ?0@0<5B@>2 B8?0. �>;55 

B>3>, <>6=> >1JO28BL ?0@0<5B@87>20==K9 <5B>4, 2E>4OI89 2 =5 

?0@0<5B@87>20==K9 :;0AA. !0?@8<5@: 

public class GenMethodDemo { 

    /** 

     * /2;O5BAO ;8 >1J5:B x M;5<5=B>< <0AA820 array 

     * 

     * @param x 



     * @param array 

     * @param <T> 

     * @param <V> 

     * @return 

     */ 

    public static <T, V> boolean isIn(T x, V[] array) { 

        for (V element : array) { 

            if (x.equals(element)) { 

                return true; 

            } 

        } 

        return false; 

    } 

 

    public static void main(String[] args) { 

        Integer[] intArray = {1, 2, 3, 4, 5}; 

 

        if (isIn(2, intArray)) { 

            System.out.println("2 2E>48B 2 <0AA82 intArray"); 

        } 

 

        if (!isIn(7, intArray)) { 

            System.out.println("7 =5 2E>48B 2 intArray"); 



        } 

        System.out.println(); 

 

        String[] strArray = {"one", "two", "three", "four", "five"}; 

 

        if (isIn("two", strArray)) { 

            System.out.println("two 2E>48B 2 <0AA82 strArray"); 

        } 

 

        if (!isIn("seven", strArray)) { 

            System.out.println("seven =5 2E>48B 2 <0AA82 strArray"); 

        } 

    } 

} 

 

�>=AB@C:B>@K B0:65 <>3CB 1KBL >1>1I5==K<8, 4065 5A;8 8E :;0AAK 

B0:>2K<8 =5 O2;ONBAO. !0?@8<5@: 

public class GenConstructor { 

    private double value; 

 

    public <T extends Number> GenConstructor(T arg) { 

        value = arg.doubleValue(); 

    } 



 

    public void showValue() { 

        System.out.println("value: " + value); 

    } 

} 

 

public class GenConstructorDemo { 

    public static void main(String[] args) { 

        GenConstructor genConstructor1 = new GenConstructor(100); 

        GenConstructor genConstructor2 = new GenConstructor(123.5F); 

 

        genConstructor1.showValue(); 

        genConstructor2.showValue(); 

    } 

} 

 

 �484K< 

1) %>740BL ?0@0<5B@87>20==K9 8=B5@D59A 4;O @01>BK A> A?8A:>< 8 
@50;87>20BL 53>. 

2) %>740=85 A>@B8@>2:8 A 8A?>;L7>20=85< ?0@0<5B@87>20==>3> 
8=B5@D59A0. 

3) %>740=85 >1>1I5==>3> AB5:0 A 8A?>;L7>20=85< ?0@0<5B@87>20==>3> 
8=B5@D59A0. 

4) %>740=85 >1>1I5==>3> A?8A:0 A 8A?>;L7>20=85< ?0@0<5B@87>20==>3> 
8=B5@D59A0. 

5) >BA>@B8@>20BL A?8A>: >1J5:B>2 ?> >?@545;5==><C ?>;N. 
6) A>740BL :;0AA-:>=B59=5@, :>B>@K9 1C45B E@0=8BL M;5<5=BK 
>?@545;5==>3> B8?0 40==KE 8 ?@54>AB02;OBL 2>7<>6=>ABL 2K?>;=5=8O 



>?5@0F89 =04 MB8<8 M;5<5=B0<8. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 16. !B;84A<9 HBD@. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO A>74020BL D>@<K. 

 

2 "9BD9F<K9E><= @4F9D<4? 

(>@<K O2;ONBAO 206=K< M;5<5=B>< 2708<>459AB28O ?>;L7>20B5;59 A 
?@8;>65=8O<8, >A>15==> 251-?@8;>65=8O<8. � Java ACI5AB2CNB @07;8G=K5 
A?>A>1K A>740=8O D>@<, 2:;NG0O 8A?>;L7>20=85 Swing, JavaFX 8;8 HTML. 

 

1)Swing: Swing - MB> =01>@ 181;8>B5:, :>B>@K5 ?>72>;ONB A>74020BL 
3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O (GUI) 2 Java. �;O A>740=8O D>@<K A 
?><>ILN Swing, 2K <>65B5 8A?>;L7>20BL :;0AAK, B0:85 :0: JFrame, JPanel, 

JTextField, JButton 8 4@C385. !865 ?@82545= ?@8<5@ A>740=8O ?@>AB>9 D>@<K 
A ?><>ILN Swing: 

import javax.swing.*; 

 

public class MyForm extends JFrame { 

   public MyForm() { 

      // !0AB@>9:0 >:=0 

      setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

      setSize(300, 200); 

       

      // %>740=85 ?0=5;8 

      JPanel panel = new JPanel(); 

       

      // %>740=85 :><?>=5=B>2 D>@<K 

      JLabel label = new JLabel("�2548B5 20H5 8<O:"); 

      JTextField textField = new JTextField(20); 

      JButton button = new JButton(""B?@028BL"); 



       

      // �>102;5=85 :><?>=5=B>2 =0 ?0=5;L 

      panel.add(label); 

      panel.add(textField); 

      panel.add(button); 

       

      // �>102;5=85 ?0=5;8 =0 >:=> 

      add(panel); 

   } 

    

   public static void main(String[] args) { 

      // %>740=85 8 >B>1@065=85 D>@<K 

      SwingUtilities.invokeLater(() -> { 

         MyForm form = new MyForm(); 

         form.setVisible(true); 

      }); 

   } 

}  



2) JavaFX: JavaFX ?@54AB02;O5B A>1>9 ?;0BD>@<C 4;O A>740=8O 1>30BKE 
:;85=BA:8E ?@8;>65=89. �;O A>740=8O D>@<K A ?><>ILN JavaFX, 2K <>65B5 
8A?>;L7>20BL :;0AAK, B0:85 :0: Stage, Scene, TextField, Button 8 4@C385. !865 
?@82545= ?@8<5@ A>740=8O ?@>AB>9 D>@<K A ?><>ILN JavaFX: 

import javafx.application.Application; 

import javafx.scene.Scene; 

import javafx.scene.control.Button; 

import javafx.scene.control.Label; 

import javafx.scene.control.TextField; 

import javafx.scene.layout.VBox; 

import javafx.stage.Stage; 

 

public class MyForm extends Application { 

   public static void main(String[] args) { 

      launch(args); 

   } 

    

   @Override 

   public void start(Stage primaryStage) { 

      // !0AB@>9:0 >:=0 

      primaryStage.setTitle(" >O D>@<0"); 

       

      // %>740=85 :><?>=5=B>2 D>@<K 

      Label label = new Label("�2548B5 20H5 8<O:"); 

      TextField textField = new TextField(); 

      Button button = new Button(""B?@028BL"); 

       

      // %>740=85 :>=B59=5@0 

      VBox vbox = new VBox(10); 



      vbox.getChildren().addAll(label, textField, button); 

       

      // %>740=85 AF5=K 

      Scene scene = new Scene(vbox, 300, 200); 

       

      // !07=0G5=85 AF5=K =0 >:=> 8 >B>1@065=85 >:=0 

      primaryStage.setScene(scene); 

      primaryStage.show(); 

   } 

} 

 

3) HTML: HTML O2;O5BAO O7K:>< @07<5B:8, 8A?>;L7C5<K< 4;O A>740=8O 
251-AB@0=8F. �;O A>740=8O D>@<K A ?><>ILN HTML, 2K <>65B5 
8A?>;L7>20BL B538, B0:85 :0: form, input, label, button, 8 4@C385. !865 
?@82545= ?@8<5@ A>740=8O ?@>AB>9 D>@<K A 8A?>;L7>20=85< HTML: 

 

<!DOCTYPE html> 

<html> 

<head> 

   <title> >O D>@<0</title> 

</head> 

<body> 

   <form> 

      <label for="name">�2548B5 20H5 8<O:</label> 

      <input type="text" id="name" name="name"> 

      <button type="submit">"B?@028BL</button> 

   </form> 

</body> 

</html> 



 

�484K< 8?S E4@BEFBSF9?PAB7B D9L9A<S 

1. %>7409B5 ?@>3@0<<C, :>B>@0O 70?@0H8205B C ?>;L7>20B5;O 53> 8<O, 2>7@0AB 
8 04@5A, 0 70B5< 2K2>48B MBC 8=D>@<0F8N 2 >:=5 D>@<K Java. 

 

2. %>7409B5 ?@>3@0<<C, :>B>@0O ?>72>;O5B ?>;L7>20B5;N 22>48BL G8A;0 2 420 
B5:AB>2KE ?>;O, 0 70B5< =0E>48B 8 2K2>48B @57C;LB0B 8E AC<<K 8 
?@>872545=8O 2 >:=5 D>@<K Java. 

 

3. %>7409B5 ?@>3@0<<C, :>B>@0O ?>72>;O5B ?>;L7>20B5;N 2K1@0BL 87 42CE 
20@80=B>2 (=0?@8<5@, "40" 8;8 "=5B") A ?><>ILN :=>?>: =0 D>@<5 Java. 
#>A;5 2K1>@0, ?@>3@0<<0 4>;6=0 2K2>48BL A>>1I5=85 > 2K1>@5 
?>;L7>20B5;O. 

 

4. %>7409B5 ?@>3@0<<C, :>B>@0O ?>72>;O5B ?>;L7>20B5;N 22>48BL B5:AB 2 
B5:AB>2>5 ?>;5, 0 70B5< A>E@0=O5B MB>B B5:AB 2 D09; =0 :><?LNB5@5 
?>;L7>20B5;O. 

 

5. %>7409B5 ?@>3@0<<C, :>B>@0O ?@54;0305B ?>;L7>20B5;N 2K1@0BL 87 
=5A:>;L:8E 20@80=B>2 (=0?@8<5@, ">48=", "420" 8;8 "B@8") A ?><>ILN 
2K?040NI53> A?8A:0 =0 D>@<5 Java. #>A;5 2K1>@0, ?@>3@0<<0 4>;6=0 
2K2>48BL A>>1I5=85 > 2K1>@5 ?>;L7>20B5;O. 

 

6. %>7409B5 ?@>3@0<<C, :>B>@0O ?>72>;O5B ?>;L7>20B5;N 2K1@0BL 87 A?8A:0 
?@54;>65==KE 20@80=B>2 A ?><>ILN @048>:=>?>: =0 D>@<5 Java. #>A;5 
2K1>@0, ?@>3@0<<0 4>;6=0 2K2>48BL A>>1I5=85 > 2K1>@5 ?>;L7>20B5;O. 

 

7. %>7409B5 ?@>3@0<<C, :>B>@0O ?@54;0305B ?>;L7>20B5;N 225AB8 A2>N 
>F5=:C >B 1 4> 10 2 B5:AB>2>5 ?>;5 =0 D>@<5 Java. #>A;5 22>40, ?@>3@0<<0 
4>;6=0 2K2>48BL A>>1I5=85, A>>B25BAB2CNI55 >F5=:5 ?>;L7>20B5;O 
(=0?@8<5@, ">B;8G=>", "E>@>H>" 8;8 "?;>E>"). 

 

8. %>7409B5 ?@>3@0<<C, :>B>@0O ?@54;0305B ?>;L7>20B5;N 225AB8 A2>5 8<O 8 
>B<5B:C (A, B, C, D 8;8 F) 2 B5:AB>2K5 ?>;O =0 D>@<5 Java. #>A;5 22>40, 



?@>3@0<<0 4>;6=0 2K2>48BL A>>1I5=85, A>>B25BAB2CNI55 >B<5B:5 
?>;L7>20B5;O (=0?@8<5@, ">B;8G=>", "E>@>H>" 8;8 "?;>E>"). 

 

9. %>7409B5 ?@>3@0<<C, :>B>@0O ?>72>;O5B ?>;L7>20B5;N 2K1@0BL 87 
?@54;>65==KE 20@80=B>2 (=0?@8<5@, ">48=", "420" 8;8 "B@8") A ?><>ILN 
D;06:>2 =0 D>@<5 Java. #>A;5 2K1>@0, ?@>3@0<<0 4>;6=0 2K2>48BL 
A>>1I5=85 > 2K1>@5 ?>;L7>20B5;O. 

 

10. %>7409B5 ?@>3@0<<C, :>B>@0O ?@54;0305B ?>;L7>20B5;N 225AB8 A2>N 40BC 
@>645=8O (45=L, <5AOF 8 3>4) 2 B5:AB>2K5 ?>;O =0 D>@<5 Java. #>A;5 22>40, 
?@>3@0<<0 4>;6=0 2K2>48BL A>>1I5=85 > 2>7@0AB5 ?>;L7>20B5;O 2 3>40E. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 17. ДB546?9A<9 >ABCB>, @9FB>, F9>EFB6OI CB?9=. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO 4>102;OBL :=>?:8, <5B:8 8 B5:AB>2K5 ?>;O. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�;O 4>102;5=8O :=>?>:, <5B>: 8 B5:AB>2KE ?>;59 2 3@0D8G5A:89 8=B5@D59A 
?>;L7>20B5;O 8A?>;L7CNBAO @07;8G=K5 B5E=>;>388 8 A@54AB20 
?@>3@0<<8@>20=8O. � 40==>< B5>@5B8G5A:>< <0B5@80;5 <K @0AA<>B@8< 
>A=>2=K5 :>=F5?F88 8 ?>4E>4K : 4>102;5=8N M;5<5=B>2 8=B5@D59A0 2 
=5:>B>@KE ?>?C;O@=KE ?;0BD>@<0E, B0:8E :0: 251-?@8;>65=8O 8 <>18;L=K5 
?@8;>65=8O. 

 

1. HTML < CSS 8?S 695-CD<?B:9A<=: 

   - �;O A>740=8O :=>?:8 2 HTML 8A?>;L7C5BAO M;5<5=B <button>, =0?@8<5@: 
<button>!060BL</button>. 

   -  5B:8 2 HTML <>3CB 1KBL 4>102;5=K A ?><>ILN M;5<5=B0 <label> 8 
0B@81CB0 "for", =0?@8<5@: <label for="name">�<O</label>. 

   - &5:AB>2>5 ?>;5 2 HTML <>65B 1KBL A>740=> A 8A?>;L7>20=85< M;5<5=B0 
<input> A 0B@81CB>< "type" @02=K< "text", =0?@8<5@: <input type="text" 
id="name" name="name"> 

 

2. Android 8?S @B5<?PAOI CD<?B:9A<=: 

   - � Android Studio :=>?:0 <>65B 1KBL A>740=0 A ?><>ILN M;5<5=B0 Button 2 
@07<5B:5 XML, =0?@8<5@: <Button android:id="@+id/button" 
android:text="!060BL" /> 

   -  5B:0 <>65B 1KBL 4>102;5=0 A ?><>ILN M;5<5=B0 TextView, =0?@8<5@: 
<TextView android:id="@+id/label" android:text="�<O" /> 

   - &5:AB>2>5 ?>;5 <>65B 1KBL A>740=> A 8A?>;L7>20=85< M;5<5=B0 EditText, 
=0?@8<5@: <EditText android:id="@+id/textField" android:inputType="text" /> 

 

3. iOS 8?S @B5<?PAOI CD<?B:9A<=: 



   - � Xcode :=>?:0 <>65B 1KBL A>740=0 A ?><>ILN M;5<5=B0 UIButton 2 
Interface Builder 8;8 ?@>3@0<<=> A 8A?>;L7>20=85< :>40 =0 Objective-C 8;8 
Swift. 

   -  5B:0 <>65B 1KBL 4>102;5=0 A ?><>ILN M;5<5=B0 UILabel 2 Interface 
Builder 8;8 ?@>3@0<<=>. 

   - &5:AB>2>5 ?>;5 2 iOS <>65B 1KBL A>740=> A 8A?>;L7>20=85< M;5<5=B0 
UITextField 2 Interface Builder 8;8 ?@>3@0<<=>. �@><5 B>3>, 4;O :064>9 87 
MB8E ?;0BD>@< ACI5AB2CNB @07;8G=K5 181;8>B5:8 8 D@59<2>@:8, :>B>@K5 
?@54>AB02;ONB 1>;55 381:85 8 @0AH8@5==K5 2>7<>6=>AB8 4;O A>740=8O 
8=B5@D59A>2. �06=> B0:65 CG8BK20BL >3@0=8G5=8O 8 @5:><5=40F88 ?> 
48709=C, :>B>@K5 <>3CB 1KBL >?@545;5=K 4;O :>=:@5B=>9 ?;0BD>@<K 8;8 
F5;52>9 0C48B>@88 ?@8;>65=8O. 

 � Java ACI5AB2C5B =5A:>;L:> A?>A>1>2 4>102;5=8O :=>?>:, <5B>: 8 
B5:AB>2KE ?>;59 2 3@0D8G5A:>< 8=B5@D59A5 ?>;L7>20B5;O. %0<K<8 
?>?C;O@=K<8 A?>A>10<8 O2;ONBAO 8A?>;L7>20=85 :;0AA>2 JButton, JLabel 8 
JTextField 87 181;8>B5:8 javax.swing.  

1)�>102;5=85 :=>?:8: �;0AA JButton ?@54>AB02;O5B 2>7<>6=>ABL A>740=8O 
:=>?:8. #@8<5@: 

 

import javax.swing.JButton; 

import javax.swing.JFrame; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("#@8<5@ :=>?:8"); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JButton button = new JButton("!06<8 <5=O"); 

        frame.getContentPane().add(button); 

 

        frame.pack(); 

        frame.setVisible(true); 

    } 



} 

 

� 40==>< ?@8<5@5 <K A>7405< >:=> ?@8;>65=8O JFrame, 4>102;O5< =0 =53> 
:=>?:C JButton A =04?8ALN "!06<8 <5=O" 8 >B>1@0605< >:=>. 

 

2) �>102;5=85 <5B:8: �;0AA JLabel ?>72>;O5B A>74020BL <5B:8.  5B:8 
8A?>;L7CNBAO 4;O >B>1@065=8O B5:AB0 8;8 87>1@065=8O =0 D>@<5. #@8<5@: 

 

import javax.swing.JFrame; 

import javax.swing.JLabel; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("#@8<5@ <5B:8"); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JLabel label = new JLabel("#@825B, <8@!"); 

        frame.getContentPane().add(label); 

 

        frame.pack(); 

        frame.setVisible(true); 

    } 

} 

 

� 40==>< ?@8<5@5 <K A>7405< >:=> ?@8;>65=8O JFrame 8 4>102;O5< =0 =53> 
<5B:C JLabel A B5:AB>< "#@825B, <8@!". 

 

3) �>102;5=85 B5:AB>2>3> ?>;O: �;0AA JTextField 8A?>;L7C5BAO 4;O A>740=8O 
B5:AB>2KE ?>;59, 2 :>B>@K5 ?>;L7>20B5;L <>65B 22>48BL B5:AB. #@8<5@: 

 



import javax.swing.JFrame; 

import javax.swing.JTextField; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("#@8<5@ B5:AB>2>3> ?>;O"); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JTextField textField = new JTextField(20); 

        frame.getContentPane().add(textField); 

 

        frame.pack(); 

        frame.setVisible(true); 

    } 

} 

 

� 40==>< ?@8<5@5 <K A>7405< >:=> ?@8;>65=8O JFrame 8 4>102;O5< =0 =53> 
B5:AB>2>5 ?>;5 JTextField A H8@8=>9 20 A8<2>;>2. 

 

�484K< 8?S E4@BEFBSF9?PAB7B D9L9A<S 

 

1. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN Java Swing, 
:>B>@K9 A>45@68B :=>?:C "!06<8 <5=O". 

 

2. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN JavaFX, 
:>B>@K9 A>45@68B <5B:C A B5:AB>< "#@825B, <8@!". 

 

3. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN Swing, :>B>@K9 
A>45@68B B5:AB>2>5 ?>;5 8 :=>?:C ""B?@028BL". #> =060B8N =0 :=>?:C 
?@>3@0<<0 4>;6=0 2K2>48BL 2 :>=A>;L A>45@68<>5 B5:AB>2>3> ?>;O. 



 

4. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN JavaFX, 
:>B>@K9 A>45@68B B5:AB>2>5 ?>;5 8 :=>?:C "#>AG8B0BL". #> =060B8N =0 
:=>?:C ?@>3@0<<0 4>;6=0 A:;04K20BL G8A;0, 22545==K5 2 B5:AB>2>< ?>;5, 8 
2K2>48BL @57C;LB0B =0 M:@0=. 

 

5. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN Swing, :>B>@K9 
A>45@68B <5B:C "�K15@8B5 O7K:" 8 2K?040NI89 A?8A>: A 20@80=B0<8 
2K1>@0 O7K:0. #> 2K1>@C >?@545;5==>3> O7K:0 ?@>3@0<<0 4>;6=0 2K2>48BL 
"#@825B, <8@!" =0 A>>B25BAB2CNI5< O7K:5. 

 

6. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN JavaFX, 
:>B>@K9 A>45@68B B5:AB>2>5 ?>;5 8 425 :=>?:8 "�25@E" 8 "�=87". #> 
=060B8N =0 :=>?:8 ?@>3@0<<0 4>;6=0 C25;8G820BL 8;8 C<5=LH0BL 7=0G5=85, 
22545==>5 2 B5:AB>2>< ?>;5, =0 1. 

 

7. %>7409B5 3@0D8G5A:89 8=B5@D59A ?>;L7>20B5;O A ?><>ILN Swing, :>B>@K9 
A>45@68B <5B:C, B5:AB>2>5 ?>;5 8 :=>?:C "%>E@0=8BL". #@8 =060B88 =0 
:=>?:C ?@>3@0<<0 4>;6=0 A>E@0=OBL A>45@68<>5 B5:AB>2>3> ?>;O 2 D09;. 
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1 &9?P ;4ASF<S 

!0CG8BLAO A>74020BL 8=B5@D59A D>@<K 8 @07<5I5=8O :><?>=5=B>2. 

 

2 "9BD9F<K9E><= @4F9D<4? 

�=B5@D59A D>@<K 2 ?@>3@0<<8@>20=88 =0 Java ?@54AB02;O5B A>1>9 A?>A>1 
2708<>459AB28O ?>;L7>20B5;O A ?@>3@0<<>9. "= 2:;NG05B 2 A51O @07<5I5=85 
:><?>=5=B>2, B0:8E :0: :=>?:8, B5:AB>2K5 ?>;O, <5B:8 8 4@C385 M;5<5=BK, 0 
B0:65 >?@545;5=85 8E ?>2545=8O 8 2=5H=53> 2840. $07<5I5=85 :><?>=5=B>2 
2 Java <>65B ?@>8AE>48BL A 8A?>;L7>20=85< @07;8G=KE A?>A>1>2: 

1. �8A?5BG5@ @07<5I5=8O BorderLayout: "= @07<5I05B :><?>=5=BK =0 
?0=5;8 2 ?OB8 >1;0ABOE: NORTH, SOUTH, EAST, WEST 8 CENTER. -B>B 
48A?5BG5@ >1KG=> 8A?>;L7C5BAO, :>340 =C6=> @07<5AB8BL :><?>=5=BK ?> 
2A5<C M:@0=C, =0?@8<5@, 4;O A>740=8O ?@8;>65=8O A 3;02=K< >:=><. 

2. �8A?5BG5@ @07<5I5=8O FlowLayout: "= @0A?>;0305B :><?>=5=BK >48= 70 
4@C38< 2 @O4C 8;8 AB>;1F5 2 7028A8<>AB8 >B >@85=B0F88 :><?>=5=B0. -B>B 
48A?5BG5@ >1KG=> 8A?>;L7C5BAO, :>340 =C6=> @07<5AB8BL :><?>=5=BK 
?>A;54>20B5;L=> 8 2 >4=>< @O4C. 

3. �8A?5BG5@ @07<5I5=8O GridLayout: "= @07<5I05B :><?>=5=BK 2 2845 
A5B:8 A> AB@>:0<8 8 AB>;1F0<8. �0640O OG59:0 A5B:8 A>45@68B >48= 
:><?>=5=B. -B>B 48A?5BG5@ G0AB> 8A?>;L7C5BAO, :>340 =C6=> @07<5AB8BL 
:><?>=5=BK 2 2845 B01;8FK. 

4. �8A?5BG5@ @07<5I5=8O GridBagLayout: "= ?>72>;O5B 4>AB8GL 1>;55 
381:>3> 8 A;>6=>3> @07<5I5=8O :><?>=5=B>2. "= 8A?>;L7C5B A5B:C A 
OG59:0<8, => ?>72>;O5B 704020BL @07;8G=K5 ?0@0<5B@K 4;O :064>9 OG59:8, 
B0:85 :0: H8@8=0, 2KA>B0, @0ABO65=85 8 2K@02=820=85. -B>B 48A?5BG5@ 
>1KG=> 8A?>;L7C5BAO, :>340 =C6=> A>740BL A;>6=K9 8 381:89 8=B5@D59A. 

�=B5@D59A D>@<K 8 @07<5I5=85 :><?>=5=B>2 2 Java @53C;8@CNB 287C0;L=>5 
?@54AB02;5=85 ?>;L7>20B5;LA:>3> 8=B5@D59A0 ?@8;>65=8O. �;O A>740=8O 
D>@< 8 @01>B5 A :><?>=5=B0<8 2 Java >1KG=> 8A?>;L7C5BAO D@59<2>@: Swing 
8;8 JavaFX. "A=>2=K5 :><?>=5=BK ?>;L7>20B5;LA:>3> 8=B5@D59A0 Java 
2:;NG0NB 2 A51O:  

1)JFrame: �;02=>5 >:=> ?@8;>65=8O, =0 :>B>@>< @07<5I0NBAO 2A5 
>AB0;L=K5 :><?>=5=BK. #@8<5@ 8A?>;L7>20=8O JFrame: 



 

import javax.swing.JFrame; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("My App"); 

        frame.setSize(400, 300); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

        frame.setVisible(true); 

    } 

} 

 

 

2) JPanel: �>=B59=5@, :>B>@K9 <>65B A>45@60BL 4@C385 :><?>=5=BK. +0AB> 
8A?>;L7C5BAO 4;O @0745;5=8O D>@<K =0 >B45;L=K5 A5:F88. #@8<5@ 
8A?>;L7>20=8O JPanel: 

 

import javax.swing.JFrame; 

import javax.swing.JPanel; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("My App"); 

        frame.setSize(400, 300); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JPanel panel = new JPanel(); 

        frame.add(panel); 

 



        frame.setVisible(true); 

    } 

} 

 

3) JButton: �=>?:0, A ?><>ILN :>B>@>9 ?>;L7>20B5;L <>65B 
2708<>459AB2>20BL A ?@8;>65=85<. #@8<5@ 8A?>;L7>20=8O JButton: 

 

import javax.swing.JButton; 

import javax.swing.JFrame; 

import javax.swing.JPanel; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("My App"); 

        frame.setSize(400, 300); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JPanel panel = new JPanel(); 

        frame.add(panel); 

 

        JButton button = new JButton("Click me"); 

        panel.add(button); 

 

        frame.setVisible(true); 

    } 

} 

 

4) JLabel: &5:AB>20O <5B:0, 8A?>;L7C5<0O 4;O >B>1@065=8O AB0B8G5A:>3> 
B5:AB0. #@8<5@ 8A?>;L7>20=8O JLabel: 



 

import javax.swing.JFrame; 

import javax.swing.JLabel; 

import javax.swing.JPanel; 

 

public class Main { 

    public static void main(String[] args) { 

        JFrame frame = new JFrame("My App"); 

        frame.setSize(400, 300); 

        frame.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE); 

 

        JPanel panel = new JPanel(); 

        frame.add(panel); 

 

        JLabel label = new JLabel("Hello, World!"); 

        panel.add(label); 

 

        frame.setVisible(true); 

    } 

} 
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#@8 2K1>@5 >?@545;5==>3> M;5<5=B0 87 A?8A:0 8 =060B88 =0 :=>?:C 
"�K1@0BL", B5:AB 2K1@0==>3> M;5<5=B0 4>;65= >B>1@060BLAO 2 <5B:5. 

 

4. %>7409B5 D>@<C A B5:AB>2K<8 ?>;O<8 4;O 22>40 8<5=8, D0<8;88 8 04@5A0. 
#@8 =060B88 =0 :=>?:C "%>E@0=8BL" ?@>3@0<<0 4>;6=0 A>E@0=OBL 22545==K5 
40==K5 2 D09; 8;8 107C 40==KE. 

 

5. %>7409B5 D>@<C A ?>;5< 4;O 22>40 G8A;0, :=>?:0<8 "+" 8 "-", <5B:>9 8 
?>;5< 4;O @57C;LB0B>2. #@8 =060B88 =0 :=>?:C "+" 8;8 "-" ?@>3@0<<0 
4>;6=0 C25;8G820BL 8;8 C<5=LH0BL G8A;> =0 1 8 >B>1@060BL 53> 2 <5B:5. 

 

6. %>7409B5 D>@<C A @048>:=>?:0<8 4;O 2K1>@0 ?>;0 (<C6A:>9/65=A:89), 
B5:AB>2K< ?>;5< 4;O 22>40 8<5=8 8 :=>?:>9 ""B?@028BL". #@8 =060B88 =0 
:=>?:C ""B?@028BL" ?@>3@0<<0 4>;6=0 A>E@0=OBL 2K1@0==K9 ?>; 8 
22545==>5 8<O 2 D09; 8;8 107C 40==KE. 

 

7. %>7409B5 D>@<C A B5:AB>2K< ?>;5< 4;O 22>40 URL-04@5A0, :=>?:>9 
""B:@KBL" 8 ?0=5;LN 4;O >B>1@065=8O 251-AB@0=8FK. #@8 =060B88 =0 
:=>?:C ""B:@KBL" ?@>3@0<<0 4>;6=0 703@C60BL 22545==K9 URL-04@5A 8 
>B>1@060BL A>45@68<>5 251-AB@0=8FK =0 ?0=5;8. 
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GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL :>4 >1@01>B:8 A>1KB89. 

 

2 "9BD9F<K9E><= @4F9D<4? 

 

%>1KB85 <>6=> >?@545;8BL :0: 87<5=5=85 A>AB>O=8O >1J5:B0 8;8 ?>2545=8O 
?CB5< 2K?>;=5=8O 459AB289. �59AB28O<8 <>3CB 1KBL =060B85 :=>?:8, 
?5@5<5I5=85 :C@A>@0, =060B85 :;028H8 A ?><>ILN :;0280BC@K 8;8 
?@>:@CB:0 AB@0=8FK 8 B.4. #0:5B java.awt.event <>65B 8A?>;L7>20BLAO 4;O 
?@54>AB02;5=8O @07;8G=KE :;0AA>2 A>1KB89. 

 

К?4EE<H<>4J<S EB5OF<= 

 %>1KB8O ?5@54=53> ?;0=0 
 (>=>2K5 A>1KB8O 

 

1. !B5OF<S C9D98A97B C?4A4 

%>1KB8O ?5@54=53> ?;0=0 - MB> A>1KB8O, 4;O 35=5@0F88 :>B>@KE B@51C5BAO 
2708<>459AB285 A ?>;L7>20B5;5<, B.5. %>1KB8O ?5@54=53> ?;0=0 35=5@8@CNBAO 
2 @57C;LB0B5 2708<>459AB28O ?>;L7>20B5;O A :><?>=5=B0<8 3@0D8G5A:>3> 
?>;L7>20B5;LA:>3> 8=B5@D59A0 (GUI). �708<>459AB28O - MB> =5 GB> 8=>5, :0: 
=060B85 =0 :=>?:C, ?@>:@CG820=85 ?>;>AK ?@>:@CB:8, =02545=85 :C@A>@0 8 
B.4. 

2. $BAB6O9 EB5OF<S 

%>1KB8O, 4;O 35=5@0F88 :>B>@KE =5 B@51C5BAO 2708<>459AB28O 
?>;L7>20B5;59, =07K20NBAO D>=>2K<8 A>1KB8O<8. #@8<5@0<8 B0:8E A>1KB89 
O2;ONBAO A1>8 / ?@5@K20=8O >?5@0F8>==>9 A8AB5<K, 7025@H5=85 >?5@0F88 8 
B.4. "1@01>B:0 A>1KB89 -MB> <5E0=87< 4;O C?@02;5=8O A>1KB8O<8 8 ?@8=OB8O 
@5H5=8O > B><, GB> 4>;6=> ?@>87>9B8 ?>A;5 B>3>, :0: A>1KB85 ?@>87>945B. 
�;O >1@01>B:8 A>1KB89 Java A;54C5B <>45;8 45;538@>20=8O A>1KB89. 

�B89?P 89?97<DB64A<S EB5OF<= 

' =55 5ABL 8AE>4=8:8 8 ?@>A;CH820B5;8. 



 �AB>G=8:: %>1KB8O 35=5@8@CNBAO 87 8AE>4=>3> :>40. �;O 35=5@0F88 
A>1KB89 ACI5AB2CNB @07;8G=K5 8AB>G=8:8, B0:85 :0: :=>?:8, D;06:8, 
A?8A>:, ?C=:B <5=N, 2K1>@, ?>;>A0 ?@>:@CB:8, B5:AB>2K5 :><?>=5=BK, 
>:=0 8 B.4. 

 #@>A;CH820B5;8: #@>A;CH820B5;8 8A?>;L7CNBAO 4;O >1@01>B:8 
A>1KB89, A35=5@8@>20==KE 87 8AE>4=>3> :>40. �064K9 87 MB8E 
?@>A;CH820B5;59 ?@54AB02;O5B 8=B5@D59AK, :>B>@K5 >B25G0NB 70 
>1@01>B:C A>1KB89. 
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К?4EE EB5OF<= 

�AF9DH9=E 
CDBE?GL<64F9?S �C<E4A<9 

ActionEvent ActionListener 

%>1KB85, C:07K20NI55, GB> 
?@>87>H;> >?@545;5==>5 
:><?>=5=B>< 459AB285, B0:>5 
:0: =060B85 :=>?:8 8;8 2K1>@ 
M;5<5=B0 87 A?8A:0 M;5<5=B>2 
<5=N. 

AdjustmentEvent AdjustmentListener 

%>1KB85 =0AB@>9:8 

35=5@8@C5BAO =0AB@08205<K< 

>1J5:B><, B0:8< :0: ?>;>A0 
?@>:@CB:8. 

ComponentEvent ComponentListener 

%>1KB85, C:07K20NI55, GB> 
:><?>=5=B ?5@5<5AB8;AO, 
87<5=8;AO @07<5@ 8;8 

87<5=8;0AL 53> 2848<>ABL. 

ContainerEvent ContainerListener 

�>340 :><?>=5=B 4>102;O5BAO 
2 :>=B59=5@ (8;8) C40;O5BAO 87 
=53>, MB> A>1KB85 
35=5@8@C5BAO >1J5:B>< 



К?4EE EB5OF<= 

�AF9DH9=E 
CDBE?GL<64F9?S �C<E4A<9 

:>=B59=5@0. 

FocusEvent FocusListener 

-B> A>1KB8O, A2O70==K5 A 
D>:CA8@>2:>9, :>B>@K5 
2:;NG0NB focus, focusin, 

focusout 8 blur. 

ItemEvent ItemListener 
%>1KB85, C:07K20NI55, 1K; 
;8 2K1@0= M;5<5=B 8;8 =5B. 

KeyEvent KeyListener 

%>1KB85, 2>7=8:0NI55 87-70 
?>A;54>20B5;L=>AB8 =060B89 

:;028H =0 :;0280BC@5. 

MouseEvent 
MouseListener 8 

MouseMotionListener 

%>1KB8O, :>B>@K5 ?@>8AE>4OB 
87-70 2708<>459AB28O 
?>;L7>20B5;O A <KHLN 

(C:07K20NI8< CAB@>9AB2><). 

MouseWheelEvent MouseWheelListener 

%>1KB85, C:07K20NI55, GB> 
:>;5A8:> <KH8 1K;> 
?>25@=CB> 2 :><?>=5=B5. 

TextEvent TextListener 
%>1KB85, 2>7=8:0NI55 ?@8 

87<5=5=88 B5:AB0 >1J5:B0. 

WindowEvent WindowListener 

%>1KB85, :>B>@>5 C:07K205B, 
87<5=8;> ;8 >:=> A2>9 AB0BCA 
8;8 =5B. 

 



 4;?<KAO9 <AF9DH9=EO EBEFBSF <; D4;AOI @9FB8B6, >BFBDO9 G>4;4AO 
A<:9. 

�AF9DH9=E CDBE?GL<64F9?S �9FB8O 

ActionListener  actionPerformed() 

AdjustmentListener  adjustmentValueChanged() 

ComponentListener 

 componentResized() 

 componentShown() 

 componentMoved() 

 componentHidden() 

ContainerListener  componentAdded() 

 componentRemoved() 

FocusListener  focusGained() 

 focusLost() 

ItemListener  itemStateChanged() 

KeyListener 
 keyTyped() 

 !060B0O :;028H0() 
 keyReleased() 

MouseListener 

 mousePressed() 

 mouseClicked() 

 mouseEntered() 

 mouseExited() 

 mouseReleased() 

MouseMotionListener  mouseMoved() 

 mouseDragged() 

MouseWheelListener  mouseWheelMoved() 



�AF9DH9=E CDBE?GL<64F9?S �9FB8O 

TextListener  TextChanged() 

WindowListener 

 windowActivated() 

 windowDeactivated() 

 "B:@KB> >:=> () 
 windowClosed() 

 windowClosing() 

 windowIconified() 

 windowDeiconified() 

 

�DBJ9EE B5D45BF>< EB5OF<= 

 �;O 35=5@0F88 A>1KB8O B@51C5BAO 2708<>459AB285 ?>;L7>20B5;O A 
:><?>=5=B><. 

 "1J5:B A>>B25BAB2CNI53> :;0AA0 A>1KB89 A>7405BAO 02B><0B8G5A:8 
?>A;5 35=5@0F88 A>1KB8O 8 A>45@68B 2AN 8=D>@<0F8N >1 8AB>G=8:5 
A>1KB8O. 

 �=>2L A>740==K9 >1J5:B ?5@5405BAO <5B>40< 70@538AB@8@>20==>3> 
?@>A;CH820B5;O. 

  5B>4 2K?>;=O5BAO 8 2>72@0I05B @57C;LB0B. 
 

�B8IB8O > >B8<DB64A<R 

&@8 ?>4E>40 : 2K?>;=5=8N >1@01>B:8 A>1KB89 70:;NG0NBAO 2 @07<5I5=88 
:>40 >1@01>B:8 A>1KB89 2 >4=>< 87 C:070==KE =865 <5AB. 

 

 �=CB@8 :;0AA0 

 �@C3>9 :;0AA 

 �=>=8<=K9 :;0AA 

�5D45BF>4 EB5OF<= 6AGFD< >?4EE4 

// Java program to demonstrate the 

// event handling within the class 

 



import java.awt.*; 

import java.awt.event.*; 

 

class GFGTop extends Frame implements ActionListener { 

 

 TextField textField; 

 

 GFGTop() 

 { 

  // Component Creation 

  textField = new TextField(); 

 

  // setBounds method is used to provide  

  // position and size of the component 

  textField.setBounds(60, 50, 180, 25); 

  Button button = new Button("click Here"); 

  button.setBounds(100, 120, 80, 30); 

 

  // Registering component with listener 

  // this refers to current instance 

  button.addActionListener(this); 

 

  // add Components 



  add(textField); 

  add(button); 

 

  // set visibility 

  setVisible(true); 

 } 

 

 // implementing method of actionListener 

 public void actionPerformed(ActionEvent e) 

 { 

  // Setting text to field 

  textField.setText("GFG!"); 

 } 

 

 public static void main(String[] args) 

 { 

 new GFGTop();  

 } 

} 

 

ВO6B8 

 



 

#>A;5 I5;G:0 7=0G5=85 B5:AB>2>3> ?>;O CAB0=02;8205BAO @02=K< GFG! 
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// Java program to demonstrate the 

// event handling by the other class 

 

import java.awt.*; 

import java.awt.event.*; 

 

class GFG1 extends Frame { 

 

 TextField textField; 

 

 GFG2() 

 { 

  // Component Creation 

  textField = new TextField(); 

  

  // setBounds method is used to provide 



  // position and size of component 

  textField.setBounds(60, 50, 180, 25); 

  Button button = new Button("click Here"); 

  button.setBounds(100, 120, 80, 30); 

  

  Other other = new Other(this); 

  

  // Registering component with listener 

  // Passing other class as reference 

  button.addActionListener(other); 

  

  // add Components 

  add(textField); 

  add(button); 

  

  // set visibility 

  setVisible(true); 

 } 

 

 public static void main(String[] args) 

 { 

 new GFG2(); 

 } 

} 

 

/// import necessary packages 

import java.awt.event.*; 

 



// implements the listener interface 

class Other implements ActionListener { 

 

 GFG2 gfgObj; 

 

 Other(GFG1 gfgObj) {  

 this.gfgObj = gfgObj;  

 } 

 

 public void actionPerformed(ActionEvent e) 

 { 

  // setting text from different class 

  gfgObj.textField.setText("Using Different Classes"); 

 } 

} 

 

ВO6B8 

 



 

               "1@01>B:0 A>1KB89 87 4@C3>3> :;0AA0 

 

 

�5D45BF>4 EB5OF<= 4ABA<@AO@ >?4EEB@ 

 

// Java program to demonstrate the 

// event handling by the anonymous class 

 

import java.awt.*; 

import java.awt.event.*; 

 

class GFG3 extends Frame { 

 

                    TextField textField; 

 

                    GFG3() 

                    { 



                              // Component Creation 

                             textField = new TextField(); 

  

                             // setBounds method is used to provide 

                            // position and size of component 

                          textField.setBounds(60, 50, 180, 25); 

                          Button button = new Button("click Here"); 

                          button.setBounds(100, 120, 80, 30); 

  

                          // Registering component with listener anonymously 

                          button.addActionListener(new ActionListener() { 

                                public void actionPerformed(ActionEvent e) 

                               { 

                                      // Setting text to field 

                                     textField.setText("Anonymous"); 

                                } 

                          }); 

  

                          // add Components 

                         add(textField); 

                         add(button); 

  

                         //make size viewable 

                        setSize(300,300); 

                        // set visibility 

                        setVisible(true); 

                 } 

 

                 public static void main(String[] args) 



                 { 

                       new GFG3(); 

                  } 

} 

 

ВO6B8 

 

 

 "1@01>B:0 0=>=8<=> 

 

�484K< 8?S E4@BEFBSF9?PAB7B D9L9A<S  

1. %>740=85 0;3>@8B<0 A>@B8@>2:8 <0AA820 F5;KE G8A5;. 

2. $07@01>B:0 :>40 4;O ?>8A:0 =081>;LH53> >1I53> 45;8B5;O 42CE G8A5;. 

3. !0?8A0=85 ?@>3@0<<K 4;O ?@>25@:8 O2;O5BAO ;8 G8A;> ?@>ABK<. 

4. $07@01>B:0 :>40 4;O ?>8A:0 2A5E ?@>ABKE G8A5; 2 7040==>< 480?07>=5. 

5. %>740=85 0;3>@8B<0 4;O 2KG8A;5=8O D0:B>@80;0 G8A;0. 

6. !0?8A0=85 ?@>3@0<<K 4;O ?@>25@:8 O2;O5BAO ;8 AB@>:0 ?0;8=4@><><. 

7. $07@01>B:0 :>40 4;O ?>8A:0 2A5E ?>4AB@>: 2 AB@>:5, C4>2;5B2>@ONI8E 
>?@545;5==><C CA;>28N. 

 

 

 

�D4>F<K9E>4S D45BF4 № 20.  4;D45BF>4 GK95AB7B CDB9>F4 6 Android 
Studio (A4K4?PAO= QF4C). 



 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL CG51=K9 ?@>5:B. 
 

2 "9BD9F<K9E><= @4F9D<4? 

 

�>7L<5< : ?@8<5@C :0;L:C;OB>@ 8 @0AA<>B@8< ?>H03>2CN 8=AB@C:F8N   
 

1)!B;84A<9 CDB9>F4: 
#5@2>5, GB> =C6=> A45;0BL - MB> A>740BL 2 Android Studio =>2K9 
?@>5:B: Start a new Android Studio project <?< File - New - New Project: 
 

 
 

�;O MB>3> @C:>2>4AB20 <K 2K1@0;8 2 ?0=5;8 «Add an Activity to Mobile» 
>?F8N «EmptyActivity», 4;O «MainActivity» <K >AB028;8 8<O ?> C<>;G0=8N 3 
«Activity». !0 MB>< MB0?5 AB@C:BC@0 4>;6=0 2K3;O45BL, :0: ?>:070=> =0 
@8AC=:5 =865. ' 20A 5ABL MainActivity 2=CB@8 ?0:5B0 ?@>5:B0 8 
D09; activity_main.xml 2 ?0?:5 layout: 
 



 
 

2)В>?RK9A<9 CD<6S;>< 84AAOI 6 CDB9>F9  
#5@54 B5<, :0: A>740BL ?@8;>65=85 4;O �=4@>84 A =C;O, =C6=> COA=8BL, GB> 
8A?>;L7>20=85 ?@82O7:8 40==KE ?><>305B =0?@O<CN >1@0I0BLAO : 28465B0< 
(Buttons, EditText < TextView), 0 =5 =0E>48BL 8E A ?><>ILN 
<5B>4>2 findViewById(). +B>1K 2:;NG8BL ?@82O7:C 40==KE, 4>1028BL 
A;54CNICN AB@>:C :>40 2 D09; build.gradle. 
 

JAVA 

 

 
 

3) 4;D45BF>4 @4>9F4 >4?P>G?SFBD4 

�;O 2:;NG5=8O ?@82O7:8 40==KE 2 D09;5 activity_main.xml B@51C5BAO 5I5 
>4=> 87<5=5=85. "15@=8B5 A35=5@8@>20==K9 :>@=52>9 B53 (RelativeLayout) 
2 layout, B0:8< >1@07>< A45;02 53> =>2K< :>@=52K< B53><. 
 

XML 



 
 

"97 layout - MB> ?@54C?@56405B A8AB5<C ?>AB@>5=8O ?@8;>65=8O, GB> MB>B 
D09; <0:5B0 1C45B 8A?>;L7>20BL ?@82O7:C 40==KE. �0B5< A8AB5<0 

35=5@8@C5B 4;O MB>3> D09;0 <0:5B0 :;0AA Binding. #>A:>;L:C 

F5;52>9 XML-H4=? =07K205BAO activity_main.xml, A8AB5<0 ?>AB@>5=8O 

?@8;>65=8O A>740AB :;0AA ActivityMainBinding, :>B>@K9 <>6=> 

8A?>;L7>20BL 2 ?@8;>65=88, :0: 8 ;N1>9 4@C3>9 :;0AA Java. �<O :;0AA0 

A>AB02;O5BAO 87 8<5=8 D09;0 <0:5B0, 2 :>B>@>< :064>5 A;>2> G5@57 

?>4G5@:820=85 1C45B =0G8=0BLAO A 703;02=>9 1C:2K, 0 A0<8 ?>4G5@:820=8O 

C18@0NBAO, 8 : 8<5=8 4>102;O5BAO A;>2> «Binding». 

&5?5@L ?5@5948B5 : D09;C MainActivity.java. %>7409B5 70:@KBK9 

M:75<?;O@ ActivityMainBinding 2=CB@8 20H53> :;0AA0, 0 2 

<5B>45 onCreate() C40;8B5 AB@>:C setContentView () 8 2<5AB> =55 

4>102LB5 DataBindingUtil.setContentView(), :0: ?>:070=> =865. 

JAVA 

 

4)�5M<9 CD<AJ<CO EB;84A<S 6<8:9FB6 @4>9F4 

� ?@8;>65=88 :0;L:C;OB>@0 5ABL G5BK@5 >A=>2=KE M;5<5=B0: 

RelativeLayout - >?@545;O5B, :0: 4@C385 M;5<5=BK 1C4CB C:;04K20BLAO 
8;8 >B>1@060BLAO =0 M:@0=5. RelativeLayout 8A?>;L7C5BAO 4;O 
?>78F8>=8@>20=8O 4>G5@=8E M;5<5=B>2 ?> >B=>H5=8N 4@C3 : 4@C3C 8;8 
: A0<8< A515.  

https://developer.android.com/reference/android/widget/RelativeLayout.html


TextView - M;5<5=B 8A?>;L7C5BAO 4;O >B>1@065=8O B5:AB0. #>;L7>20B5;8 
=5 4>;6=K 2708<>459AB2>20BL A MB8< M;5<5=B><. % 
?><>ILN  TextView >B>1@0605BAO @57C;LB0B 2KG8A;5=89. 

EditText - ?>E>6 =0 M;5<5=B TextView, A B>9 ;8HL @07=8F59, GB> 
?>;L7>20B5;8 <>3CB 2708<>459AB2>20BL A =8< 8 @540:B8@>20BL B5:AB. !> 
?>A:>;L:C :0;L:C;OB>@ 4>?CA:05B B>;L:> D8:A8@>20==K9 =01>@ 
22>48<KE 40==KE, <K CAB0=02;8205< 4;O =53> AB0BCA «A5 
D54а>F<DG5@ы=». �>340 ?>;L7>20B5;L =068<05B =0 F8D@K, <K 2K2>48< 
8E 2 EditText. 

Button - @5038@C5B =0 :;8:8 ?>;L7>20B5;O. #@8 A>740=88 ?@>AB>3> 
?@8;>65=8O 4;O �=4@>84 <K 8A?>;L7C5< :=>?:8 4;O F8D@ 8 >?5@0B>@>2 
459AB289 2 :0;L:C;OB>@5. 

5)!B;84A<9 @4>9F4 >4?P>G?SFBD4 

 

 
�>4 <0:5B0 :0;L:C;OB>@0 >1J5<=K9. -B> A2O70=> A B5<, GB> <K 4>;6=K O2=> 
>?@545;OBL 8 BI0B5;L=> ?>78F8>=8@>20BL :064CN 87 :=>?>: 8=B5@D59A0.  
!865 ?@54AB02;5= D@03<5=B A>:@0I5==>9 25@A88 D09;0 

https://developer.android.com/reference/android/widget/TextView.html
https://developer.android.com/reference/android/widget/EditText.html
https://developer.android.com/reference/android/widget/Button.html


<0:5B0 activity_main: 

 

 



 

 



 
 

6)ВAGFD9AA<9 >B@CBA9AFO >4?P>G?SFBD4 

#5@54 B5<, :0: A>740BL ?@8;>65=85 =0 B5;5D>= Android, >B<5B8<, 
GB> valueOne 8 valueTwo A>45@60B F8D@K, :>B>@K5 1C4CB 8A?>;L7>20BLAO. 
"15 ?5@5<5==K5 8<5NB B8? double, ?>MB><C <>3CB A>45@60BL G8A;0 A 
45AOB8G=K<8 7=0:0<8 8 157 =8E.  K CAB0=02;8205< 
4;O valueOne A?5F80;L=>5 7=0G5=85 NaN (A5 ч<E?B) - ?>4@>1=55 MB> 1C45B 
?>OA=5=> =865. 

 
 

-B>B ?@>AB>9 :0;L:C;OB>@ A<>65B 2K?>;=OBL B>;L:> >?5@0F88 A;>65=8O, 
2KG8B0=8O, C<=>65=8O 8 45;5=8O. #>MB><C <K >?@545;O5< G5BK@5 
AB0B8G5A:8E A8<2>;0 4;O ?@54AB02;5=8O MB8E >?5@0F89 8 
?5@5<5==CN CURRENT_ACTION, A>45@60ICN A;54CNICN >?5@0F8N, 
:>B>@CN <K =0<5@5205<AO 2K?>;=8BL. 

 
 

 �0B5< <K 8A?>;L7C5< :;0AA DecimalFormat 4;O D>@<0B8@>20=8O @57C;LB0B0. 
�>=AB@C:B>@ 45AOB8G=>3> D>@<0B0 ?>72>;O5B >B>1@060BL 4> 45AOB8 7=0:>2 
?>A;5 70?OB>9. 

 
 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 21. �B8<H<>4J<S GK95AB7B CDB9>F4 6 Android 
Studio. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO <>48D8F8@>20BL CG51=K9 ?@>5:B. 
 

2 "9BD9F<K9E><= @4F9D<4?  
 

7)�5D45BF>4 A4:4F<= A4 J<HDO 

 

� =0H5< A>740205<>< ?@>AB>< ?@8;>65=88 4;O АA8DB<8 2AO:89 @07, :>340 
?>;L7>20B5;L =068<05B =0 F8D@C 8;8 B>G:C, =0< =C6=> 4>1028BL MBC F8D@C 
2 editText. #@8<5@ :>40 =865 8;;NAB@8@C5B, :0: MB> 45;05BAO 4;O F8D@K =>;L 
(0). 

 
 

8)�5D45BF>4 >?<>B6 CB >ABC>4@ BC9D4FBDB6  
 

 

 

 



"1@01>B:0 =060B8O :=>?>: >?5@0B>@>2 (45=EFв<=) 2K?>;=O5BAO ?>-
4@C3><C. %=0G0;0 =C6=> 2K?>;=8BL 2A5 >6840NI85 2 >G5@548 
2KG8A;5=8O. #>MB><C <K >?@545;O5< <5B>4 computeCalculation. 

� computeCalculation, 5A;8 valueOne O2;O5BAO 4>?CAB8<K< G8A;><, <K 
AG8BK205< valueTwo 87 editText 8 2K?>;=O5< B5:CI85 >?5@0F88 2 
>G5@548. �A;8 65 valueOne O2;O5BAO NaN, 4;O valueOne ?@8A208205BAO 
F8D@0 2 editText. 

JAVA 

 
 

#@>4>;605< A>74020BL :>?8N ?@8;>65=8O =0 �=4@>84. �;O :064>3> 
>?5@0B>@0 <K A=0G0;0 2K7K205< computeCalculation(), 0 70B5< CAB0=02;8205< 
4;O 2K1@0==>3> >?5@0B>@0 CURRENT_ACTION. �;O >?5@0B>@0 @02=> (=) <K 
2K7K205< computeCalculation(), 0 70B5< >G8I05< A>45@68<>5 valueOne 8 
CURRENT_ACTION. 
 

JAVA 

 



 

 
 

9)�B8<H<>4J<S >4?P>G?SFBD4  

� Android Studio 4;O <>48D8:0F88 :0;L:C;OB>@0 <>6=> 8A?>;L7>20BL 
@07;8G=K5 :><0=4K 8 DC=:F88. !0?@8<5@, <>6=> 87<5=8BL 48709= 
:0;L:C;OB>@0, 4>1028BL =>2K5 DC=:F88 8;8 C;CGH8BL ACI5AB2CNI85. �>B 
=5A:>;L:> ?@8<5@>2 :><0=4: 

1.findViewById(R.id.buttonId): -B0 :><0=40 8A?>;L7C5BAO 4;O ?>;CG5=8O 
AAK;:8 =0 :=>?:C 8;8 4@C3>9 28465B, 8A?>;L7CO 845=B8D8:0B>@ M;5<5=B0 2 
D09;5 <0:5B0. !0?@8<5@, 5A;8 C 20A 5ABL :=>?:0 A 845=B8D8:0B>@>< "button", 
B> 2K <>65B5 ?>;CG8BL AAK;:C =0 MBC :=>?:C A ?><>ILN A;54CNI59 
:><0=4K: 

 



2. setOnClickListener(): -B0 :><0=40 8A?>;L7C5BAO 4;O =07=0G5=8O 
>1@01>BG8:0 =060B8O =0 :=>?:C. �K <>65B5 >?@545;8BL, GB> 1C45B 
?@>8AE>48BL ?@8 =060B88 =0 :=>?:C, 8A?>;L7CO 0=>=8<=K9 :;0AA 
OnClickLisener. !0?@8<5@, 2K <>65B5 4>1028BL A;54CNI89 :>4, GB>1K 
2K?>;=8BL 459AB285 ?@8 =060B88 =0 :=>?:C: 

 

3. setText(): -B0 :><0=40 8A?>;L7C5BAO 4;O CAB0=>2:8 B5:AB0 2 B5:AB>2>5 ?>;5 
8;8 4@C3>9 28465B, :>B>@K9 <>65B >B>1@060BL B5:AB. !0?@8<5@, 5A;8 C 20A 
5ABL B5:AB>2>5 ?>;5 A 845=B8D8:0B>@>< "textView", 2K <>65B5 CAB0=>28BL 
7=0G5=85 B5:AB0 A ?><>ILN A;54CNI59 :><0=4K: 

 

�D<@9D @B8<H<>4J<< >4?P>G?SFBD4 6 Android Studio: 

�>?CAB8<, C 20A 5ABL :0;L:C;OB>@ A :=>?:0<8, B5:AB>2K< ?>;5<, 
>B>1@060NI8< 22545==K5 G8A;0 8 >B>1@060NI8< @57C;LB0B 2KG8A;5=89. 
�K <>65B5 4>1028BL DC=:F8>=0;L=>ABL : :=>?:5, GB>1K >=0 2K?>;=O;0 
>?@545;5==>5 2KG8A;5=85 ?@8 =060B88. 

1)"?@545;8B5 :=>?:C 2 D09;5 <0:5B0 XML, =0?@8<5@: 

 

2) � 20H59 0:B82=>AB8, =0948B5 AAK;:C =0 :=>?:C 8 =07=0GLB5 >1@01>BG8: 
=060B8O: 



 

&0:8< >1@07><, ?@8 =060B88 =0 :=>?:C "+", 7=0G5=8O G8A5; 87 B5:AB>2KE 
?>;59 1C4CB A;>65=K, 8 @57C;LB0B 1C45B >B>1@065= 2 B5:AB>2>< ?>;5 
"textViewResult". 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D4>F<K9E>4S D45BF4 № 22.  4;D45BF>4 @9AR 6 GK95AB@ CDB9>F9. 

 

1 &9?P ;4ASF<S 

!0CG8BLAO @07@010BK20BL <5=N 2 CG51=>< ?@>5:B5. 
 

2 "9BD9F<K9E><= @4F9D<4?  
 5=N 4;O :0;L:C;OB>@0 @07@010BK205BAO 2 Android Studio A 8A?>;L7>20=85< 
XML-D09;>2 8 Java-:>40. �>B >A=>2=K5 H038 4;O A>740=8O <5=N: 

1)%>7409B5 =>2K9 XML-D09; 2 ?0?:5 @5AC@A>2 20H53> ?@>5:B0. !0?@8<5@, 
=07>28B5 53> "menu_calculator.xml". 

2)�=CB@8 XML-D09;0 >?@545;8B5 M;5<5=BK <5=N, 8A?>;L7CO B538 ,  8 B.4. 
!0?@8<5@, A>7409B5 M;5<5=BK <5=N ""G8AB8BL" 8 "�KE>4": 

 

3) � 20H59 0:B82=>AB8, 345 @0A?>;>65= :0;L:C;OB>@, A>7409B5 <5B>4, 
:>B>@K9 1C45B >1@010BK20BL 2K1>@ M;5<5=B0 <5=N. �>102LB5 MB>B <5B>4 2 
A>>B25BAB2CNI89 Java-:>4 4;O 20H59 0:B82=>AB8: 



 

4) #5@5>?@545;8B5 <5B>4 onCreateOptionsMenu() 2 0:B82=>AB8, GB>1K A>740BL 
<5=N =0 >A=>25 XML-D09;0: 

 

&5?5@L, ?@8 70?CA:5 20H53> ?@8;>65=8O, 225@EC M:@0=0 ?>O28BAO <5=N A 
M;5<5=B0<8 ""G8AB8BL" 8 "�KE>4". #@8 2K1>@5 M;5<5=B0 1C45B 2K7K20BLAO 
A>>B25BAB2CNI89 <5B>4 onOptionsItemSelected(). 

#@8 MB>< @07@01>B:0 <5=N 2 :0;L:C;OB>@5 2 Android Studio <>65B 1KBL 
2K?>;=5=0 A;54CNI8< >1@07><: 

1)%>7409B5 =>2K9 ?@>5:B 2 Android Studio A =0720=85< "CalculatorApp". 

2)� D09;5 activity_main.xml 4>102LB5 A;54CNI89 :>4 4;O @07<5B:8 
:0;L:C;OB>@0: 



 

 

3) � D09;5 MainActivity.java 4>102LB5 A;54CNI89 :>4 4;O >1@01>B:8 =060B8O 
:=>?>: 8 4;O A>740=8O <5=N: 



 



 

4) � ?0?:5 res A>7409B5 ?0?:C menu 8 2=CB@8 =55 D09; calculator_menu.xml A> 
A;54CNI8< A>45@68<K<: 

 

� @57C;LB0B5 2K ?>;CG8B5 :0;L:C;OB>@ A 42C<O :=>?:0<8 4;O 22>40 G8A5; 8 A 
42C<O ?C=:B0<8 <5=N: "Reset" 8 "Exit". 

  



�8B5@0BC@0, 8=B5@=5B- 8740=8O 

#8@A:0O, �. �. $07@01>B:0 <>18;L=KE ?@8;>65=89 2 A@545 Android Studio : CG51=>5 

?>A>185 / �. �. #8@A:0O ; .6=K9 D545@0;L=K9 C=825@A8B5B. - $>AB>2-=0-�>=C ; &030=@>3 : 

�740B5;LAB2> .6=>3> D545@0;L=>3> C=825@A8B5B0, 2019. - 123 A. - ISBN 978-5-9275-3346-

6. - &5:AB : M;5:B@>==K9. - URL: https://znanium.com/catalog/product/1894469 (40B0 

>1@0I5=8O: 20.06.2023). 3 $568< 4>ABC?0: ?> ?>4?8A:5. 

 


